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EXPLANATION OF THIS BOOK

THIS IS A TWO-PART BOOK

PART I
MULTIPLE CHOICE QUESTIONS THAT
COME EXACTLY FROM ALGEBRA BY
HEART

PART II
MULTIPLE CHOICE QUESTIONS THAT
COME EXACTLY FROM
SUPPLEMENTARY MATERIALS FOR
ALGEBRA BY HEART (THIS BOOK
CONTAINS WORKED HOMEWORK
ASSIGNED IN ALGEBRA BY HEART)
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TRUTH GEM
WHAT A TEST TESTS

(Deut. 8:2) And you shall remember that the Lord your God led
you all the way these forty years in the wilderness, to humble you and
test you to know what was in your heart, whether you would keep His
commandments or not.

Many people consider a test to be a soul searching experience. Your
soul is your mind, will, and emotions. Many consider a test as a brain dump
to reveal what was in your brain at the time. To a certain extent a test does
test what is in the brain. But what a test really reveals for those with eyes to
see is that a test reveals what is in the heart.

Do you have a heart on fire to study wisely? A test will reveal that.
Do you have a heart on fire to be so established in what was in the will of
God to be learned and was taught clearly that you know it nonnervously
instinctively? A test will reveal that.

Do you have a heart that for all your life you have never been faithful
enough to study regularly, wisely only spurts right before a test? A test will
reveal that type of heart too.

In the book Truth Gems for Teacher and Student you are told many
wise ways to study what is in the will of God for you to learn. There are
many formal and informal tests of your heart to see if you do the wisdom in
that book. Some hide behind beliefs that they learn differently when in truth
they continue to not-learn (treat as one word) in the same old way.

Philip Derber has mentioned that you have to keep retaking the tests
of life until you pass them. Until there is a change of heart you can only _
expect the same results as long as you live. For things to get better you need
to change your heart for the good.

God is in the heart changing, forgiveness business. You can change
in an instant by His power. (Psalm 51:10) Create in me a clean heart, O
God, and renew a steadfast spirit within me.




WHY PENCIL AND BIG PRINT?

To “make it plain” (Hab 2:2). It is my desire to make the
things taught to be easily mentally digestible. There are some
wonderful meals fixed with love for me by my wife that are so
blessed and digestible that I joke that the stomach can be by-passed
and the food just be put into me intravenously! This book is
intended to be like that for the mind...immediately absorbed by the
mind.

This all began when I was teaching a class with computer
generated notes. I then switched to pencil and big print. The
response was unanimous; they liked the pencil and big print notes
much better. It was said that when they did their homework, they
had to recopy the computer generated notes to understand better,
but with the pencil and big print notes they did not have to recopy
them to understand.

A secondary reason for pencil and big print is that many texts
are encyclopedic...containing far more information than can and
needs to be consumed to know algebra excellently. So I go for the
jugular and put in no more and no less than is needed to thrive
mathematically. Hence, this is a micropedia, not an encyclopedia!

You are seeing the note-taking style that served me well in
getting a math Ph.D. and beyond.

Another reason I use pencil and big print is that I believe
there is an anointing of clarity that comes with these notes and it is
known that the “anointing teaches you” (1 Jn 2:27).

Rather than this being a second rate, antiquated learning
system, I am giving you absolutely the best I know for you to learn
with wisdom and joy. Drink it in.

Austin French
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MIGHTY MICROPEDIAS
BY R.E.A.L. EDUCATION

(See www.arealeducation.com)

TRUTH GEMS FOR TEACHER AND STUDENT by Dr. J. Austin French.
This micropedia consist of 53 Truth Gems from the Word of God directed at teaching and

learning. Each Truth Gem and its explanation take one page. Since God is the Most
High, this means His teachings are the most high teachings. No one knows better than
the Creator how man was made, what he needs, what is the best way to teach man, and
what is the best way for man to learn. Many of these truth gems start out each teaching
session in the Math by Heart trilogy described below.

ALGEBRA BY HEART by Dr. J. Austin French. This collection of two mighty
micropedias consists of a micropedia text, a micropedia of supplementary materials, and
DVDs of 53 teaching sessions. Both micropedias are free on the web or can be ordered
on the web in paper copy or on one CD. The DVDs can be purchased from the web.

This is a College Algebra course, which means it is a strong Algebra II course for high
school. This is not what is called Intermediate Algebra (=Algebra I in high school) in
some colleges.

ALGEBRA HEART-TEST QUESTIONS (UNABRIDGEDY) by Dr. J. Austin

French. This is a collection of 1131 multiple choice questions with answers. This tests
the entire books Algebra by Heart and Supplementary Materials for Algebra by Heart.
The questions come exactly from the texts. Each question has a reference to the location
on the specific page of the text that the question covers (hope for fruitful study).

CALCULUS 1 BY HEART by Dr. J. Austin French. This collection of two
mighty micropedias consists of a micropedia text, a micropedia of supplementary
materials, and DVDs of 38 teaching sessions. This is a rigorous first course in calculus.
It is a first college calculus course. It can be used for high school students who have
finished Algebra I, Algebra II, and have had some trigonometry (trigonometry is taught
in pre-calculus or advanced math courses in high school). The topic is differential
calculus. Both micropedias are free on the web or can be ordered on the web in paper
copy or on one CD. The DVDs can be purchased from the web.

LOGIC FOR UNDERSTANDING MATHEMATICS by Dr. J. Austin French

and Dr. Earl Dennis. This collection of two mighty micropedias consists of a micropedia
text, a micropedia of supplementary materials, and DVDs of 31 detailed teaching
sessions. The mystery of how to do proofs is revealed. Logic is taught and then that
connection to math proof is made plain. Proofs are illustrated in the area of elementary
set theory. It is for the advanced high school student through college. Math maturity to
have done excellently in Algebra II is the only recommended prerequisite background.
Both micropedias are free on the web or can be ordered on the web in paper copy or on
one CD. The DVDs can be purchased from the web.



EXPLANATION OF TEST-
QUESTION FORMAT

Above each question is a notation like (7-
108B). That means that this question comes
from page 7-108 of the text Algebra II by
Heart, and the B stands for Bottom of the
page (T stands for Top and M stands for
Middle). In understanding what is meant by
7-108, this means the 108" page of the text,
Algebra II by Heart, and the 108™ page of the
text is in chapter 7.

The answers are in the back of this test-
question book. |

This test-question book is a component in
a total immersion in clarity concept. The
student is to read the text, Algebra II by
Heart. DVDs teach the text. Students are
then tested over the text. It is the testing-
over-what-you-were-taught concept. This
concept injects great hope in knowing what to
study to prepare for the test and knowing the
test will fairly test what you studied...so
study in hope.
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PART I

MULTIPLE CHOICE
QUESTIONS THAT
COME EXACTLY
FROM ALGEBRA
BY HEART
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N) Nene o T), F),L),CLNQ M\.



(4-36 M) 23 }
@) Which o8 the Solowing 15 netddion Sor %7 {
P) {1
Q) 4%
R)
) %
) None & ), @), R), and S ).

(4-36)

QD: 2 . for this To be Corrccj, S0 1 the
(] witw

w) 3
w) —3
)
y) -

:_z_{ Neone O{ U)’)‘L«))J,XB) and 7()

(43¢ B)
(@D why s Hax =27
A) Sice 2°=31
g) Since 31/5':3&

Q) Sin e '3515'=9\
D) Nene of M,B%CMQC>,



(4-377T) 24

When N is an EVEN pesiTiye \‘m%e,—
and X =0 and 5 =b | Hhen
E) b s undeNined

F) b must be %rec:ﬁe_r than or cqual t 0O
G) b can be nec&dmﬁ under cerlam ercuMSTan(eg

H) Y% s unlefined
I) NoNE 0f £, F), G), and H),

(4 37 N\)

ire =
J) 2
k) —:
1;/3\ None 68 3), K\,OMO LY,

(%—373)
’/_32 " eans
N)
P) Al
Q) VX
R) None o M), P), Q).



(4~378) =]

@ -
S) 5 (91\& =S 15 nat an accepTable
aWrerncdh answen .
T) Edher 5 or -5 ore é%uquv accep'fqb[e
QNS LILrs,
u) | as >

u) None ) S%T),Qm@ ux

(4-3TMm)

A
A)
2 &
c) &)
D) None o{ f\x B\)C&V\Q C>

(4-33 M)
@ =
E Is odwcuds ecﬁud To x|
F —x when x 15 posctivt
&. ||
H None of E), F), and G).



(4¥-39T) | 26

@ gu,ppose al\ Qompov\evxf Par-'l‘s are (ﬁe'Qw\e.@
QV\Q W\ CU\Q N Qre \V\J(e_%ersj "H\U\ O&!% =

J) (O:‘rm )“

L) (Q'/n)*“
M) Nene o% these
2

(4-397T) 2

D) 5
Py &)
Q) (3°);

R) (37
S;) /ffane)o’q NB) PB) @31 OV\Q-R>

(4-39 M) -4

o) (-27)
T l
) [C__a/.7))§]‘f
V) [Ca) l/‘,ji

W) [(—a‘?) ‘/3] ‘
X) Nowne of T, U)) and LJ) |




(=39 M) 7 | 2

@ Whidh s True dseut Q—IL) ?
| A) equals — ¢,

B) T EC{SULG.QS +

¢c) it e%}mis — 1

) it s ot Qefined -
ED None of B), 8), ¢),and D) .

' (4-39T,8) N N
Teue o False t 8%’-‘- %%}D‘w& a‘\So %%: C%QJ E |

3) | ¢l
K) None o‘( 6)) H\,CU‘*Q E)

(4-45M) y
' : _X_”‘ =
L) x°
N x"tg
P) [+
Q) Nowne &f L\) M\,QM-QP)



(H-41T) =3
Wik O-Q"H’\t g‘onvwa'nj LS ’l’r%ﬁ?

R) It ‘L,s cx\wo%s '\‘rme, —W_ = —V“/—’D/_”
S) Tt s not CJLJMS Thue thel _./H;‘ 7/_‘1;/'~

Jike when Gz-16 and K= -¥% |l N = ij
AL 'H\Gi Case "—K—'IEBG‘?O EY *[-Té’ 7'* -g
| | T

UNDEE (NEL

(4-41 8)
Trug or Falses It 15 always Thue thed
ofa - o/a
R

) True
F) Folse

(4-4am)
—%— 5 =

T) Q\g-bC!D
b

o) Ee

) 5

¥) Newne ot T)) U)\ anb 0-’\-



(4-4a M) 29

o, C
4 —_—= =
b &
A) od tbe
bd
B) Q&er
acC
) Ba
D) Novx,e/"'ﬁ A))B))Q‘MQ C).
(A4 B)
Q C -
"-lg"‘a— =
E) &<
b+
od+be
F) b d
G) ol + ke
b+

n) Neny o E) F) and 6)

m) None S §>) K), and LJ) .



30

16
R) 3=
B) fg

) ReB * 57
e §

D) None oY MY, B\/ QM'QCD




H) None o\ these

(4-46m)

(4- 4¢ R

.UJhm\r\ &&mvaiwn o% vJ\anA\S\nj the

&6!’10%0”10:@0!" S C_Orre,(:e'
L E L ARE L

Q>'r—”{d4§r—,/-‘

_/_/
X

X

o E L

T) None o8 Q), R), awd S.

[ x|



(4=47T) EE Ax® .
@ For an expr‘ession like 3 =g ° °¢€ PU*
@2 : =Y Tx Y |

) S\MP\l e Qor—w\) then b&a o\e-?mr\'tot'\ The

onswer tmust haye no Pergve& i powers
be reduced as Sar as Pa%tbl'e, and .
To complete the &e%ihﬁuin) S the blank urih
w) the denominddor s s$ucu-e,¢0

w)"H\Q, AQ-V\DW\N\Q:ODF'LS \;—J[gncd/ae(g.

X)-fhe, Y\ume,rcdbr' s \*’ﬁtvnq‘zéeﬂ

2) Nore 68 U), W)) and X)),

(#-477) |
U)“\l'C—\r\ IS ‘H\e COPP&& bec%mnmaé 'TO Pu'H'mS in

SLMPIL?&& Torm 7 2
SPE :_%i__jy_ﬁ_?
5 CY 5 2 1% 2 |
Wy HIky? 7YXy
—W 2 [

-B) X - ;lx ‘5333
R T
a2 2

Q) A X - c;z)i -
i 7Kz%:3 G@% 5/=23 3 a
Q\K& . QK& . ‘”\)3 x %
D) W— -73?5&&%(3 W

E') None o5 a), B), c),and D).




(4~ ‘£'7T) 7/ ; - 33
X
. ToR F, X 27&‘3} s In simplSied Swa*m
3xy” |
T) TRuE
F) FALSE

(4=47T)

@ Which S; the Qe\\owmﬂ 1s Qarrej

¢) g; ‘}/;:( Ax” m

) AX 3ELT R _ax 7/3 X
—\f 2%‘5 f\/3i7c"%‘% ISP

) ax" W ax* 3753%3%?
Yy aEXE 51/3575’-%”' ‘

K) None of G), H\, and 3_),




(H-47m) 3y

x Z s oﬂnd\ y—a&m@() n Hhe
&P—r\ommoj"or LV\ &Ls%utse

b)

Q) Nere cv‘? LY, MY, anl P).

(H-47B)

. U)hlc_‘f\ s o C_or‘re(‘j' loe IV\V\Th To M'H_m 1
lLfT\&D %srv\/\ . % 8 P 3

R) 5xal} j/ *7/?706
S) 5%""F?ﬁ _ 5%-7’/1? WB

)I\/me 5§ R\ g) and T)



(4-47B), (4-9%7T) ES)
.()Jh\c.\f\ OSV Jd/\,e. %0 DW\W& 18 Cewrej

H) 57< r */43:333 5 ')/3 xé
7 X3 3

D) None ok AY, B), ol C).

(4-457T)
TRUE OR FALSE ¢ "’393835 15 In
simpliTied Korm .
7)) True
'F) False



(4-48m) 34
TRUE oR FALSE: g 1[4 =Y4q+ 16

T) TRUE
F) FALSE

(4-48M)
0 yz7 -s13 +x73 =
G) Taa —vz +x 73
H) Y27 - TS +x /3
3) Yz =Tx tx 73
K) Mone oS G), H), and 9).

‘\(%—%sm3
 TRuE oR FALSE: X+ 3(X :(;H.3)Y7<'

-) TRUE
)FAwE

GD A —5TF %73 =
L) (x+2:)7T3
m) (k- R)Vﬂ“

P) (a-x) 73
Q) Nene o8 L), M), and P).



(4-+2 B) 37
54 +WIg > =  (when xZzo0)
618X

R .
3, 57 1tI8«

T (5237 ) ¥

0. (54375 x \TX

W . None 5N RL S)) T)) a,\MQU\,

@-5197)

25547 % +Tx =TT s

A) o ?a‘%nom(qle,xpresswn.
B)is nel a Po\gmm&u\ because ot the '\rrdw’mp

et et T | | ‘
C) Is nel a Polavxomwlﬁ be cause 0‘; the \rra:@wy\a.,@

consland =TT .
5) Nene 6§ R), B), and Y,

(5-50m™)

2
T+ Te -1 18

E) a polynomicexpression .

F) nl a po lgv\om-a,c;Q be cause @-f the 33’ 61{:0%&
G){:‘(s o cOe_‘g.\:tc_\e,d

H) 1S a Term |

) Noene o% E), F), 6), and H).



(5-50 M) 3K

5Tx +4 s

K) a polynomicl eXPression |

L) net @ .Polt%Y\oMt'aQ exXpless Lovis -
M) o term .

&) a Coets crenk

P) Nome o8 K, L), M), and) B).

(S—So T)

Uy

}) 'is o polynomiaQ expression .

R) 15 Y\5\: O Pol\d now\\é& expre,SSLéw Le ta.use \T\'
18 oo short. _
S‘) s o coe £S5 et .

T) None oS QY R\)QW& 53,

(5—56M)

10

1S
x T

U) S FOI\QV\DML'O.Q exXpresson |
w) wol o POL%MM“A EXPreLs (oW -
X)) o Term,

Z) Nene &5 “U), W) , ol X\,



(5 -50 B) 3ﬁ

@ Fovr the Pahév\omxa:i EXPression
n n-| N- A
an K ‘\‘O\n-ﬂc- t QY\_A')C ~toeoe aa\?c&'tQ,'k tq, )

A) AnX” 15 a teem.

B) A K" is o coe §5 1zienk .
C> anh [ Sc\e«ﬂiﬁ: A v\o'\'oitolb
p) None oK R), B), and C).

(5-508B)
@ For +he POl%V\OW\L‘:LQ ex pression

Xt O O An-a (Al aﬂcﬁa.x tA, ,
E) Qn 1S o Yerm,

F) an s o coefficignd .

C) Is a Po_r'ﬁe_ti N power.

H) None of E)) 'F)) and G).

(s-508)
@ The exPov\e.n.fs on the Variable So~ a

Polynomial expression

T) can be 'o.vué vedionad number
K) Can be any ezl vumber.

L_,_) can be any nWleger.

M) Can be any whole ium ber

p) None oS @), K), L), and M),



(S‘—S'I T) 7

@ 3y 18 a

Q) %u.a.&f*aitb EXpresSioA
R) b inomtal eXPresSSLON

$) trinomial expression
T) Nont of }), R)) and 5).

(5-51T)

An examplc oJi o Monomc:.Q Pbltghomud LS
U) Y+ |

W) I xH+
X ) 7)(3
2) None of V), w); ank X} .

(s-s1T)

B) 5x“+ax- |
) —:’33'7(3—/7- -
D) None of ), 8) and C).



(5—§IT> t_”
5x24 -1 18 a

E) binomiel exX P IesSLon
), trinomal EXp e sSLO

G) CoefSicient
H) None 0% E)J F)J omd G).

(S-Sim)

.Tlrw d&%ree, oK T+ Ux' -3 g
T) 3
K) 10

L) =7
n?) Nowne s 3\, H)%QL\

(5-518)
@ which 16 o \inear e_xpre,sswm?.
N) & |
p) Sxta
P) SKZ_3K+7
R) 3x°

S) Nore o8 V) 8, P, ad R) .



(5-5I8) Ha
Whed '\fa,:& og &xpreSSth\'LS 5’7(1— 3xtT 7

T) LLV\Q.QP“

U) Quadratic

w) QUJDLL

x) Binoveial |
2 None o8 1), U), L), axdd X).

(s-518)

le’lovt 18 'er. dlecdree. o"% a cha&r-ai-((, Qxlbre,sswvx?

T A) A
B) Y

c) 3
D) Nose of A), B), andd ).

(s-—S’/B)
@w\l\\ik\ 0Q AV\\&se— 1S & cubic ‘DoLanM[@Q?
E) 5x*— 3% +7
£) 3K
6) 1x’-TTxtb
H) None of E), F),and G)



(s ~51) 13
@ LA 55 the Qo[(owmj 15 G cubic blV\OMt‘a‘Q /
3) UxP—Tx b
K) 7><33
L) 2 x -7
M) Nome 0§ T), K), amd L)

s-527T)

(
Su\o‘taa(ﬁwvx &% Pal\év\omtd-‘l:

CSKD‘—%() - (‘fxz—-%ﬂ)-‘:
N) xp‘-—/()x + A

g) Ix*-10x + &
P) )(2’-‘[)( +ad
R) 5> —4x -4
$) None &4 N, ©), P), and R) .

(S-sl‘l‘)

@ 3(&5"'/10.&101\ O{ pol«omw\\ds:
(5x*Tx) —(‘z‘xz—- 3x+;0=

) 5¢3-Tx =4 =3x+ A
u) 5a-7x +Ux*E-3xt L
W) 5xF=Tx — FXH3x =2
%) Nont o8 T, W, and w).



( 5- 5 /M) Ly

Mul'{'tplalné }Dol%nOMiO,ﬁS: BXR(SXB-—;K)H—'?):
A) 15 x - SxPralx”
B)’ /536 - 6x* + Tx®
Q) /5x°-2x +77
p) Nene o P\B, B), anl C')'

(5-528) |
@ /V\wttiplgtlna Pat‘dnommﬁss

(32 (4x*3x4e) =

) 1xt+9 DX +6x — 12

B) [axf - +10x>- 6x+1a

c) Jaxt = 9x3 - 10X bx ~ 1A

D) ax? = 9%+ DX + 61 -1 &
E) Mone o R), B), ¢), and D).

- (5-528) | |
N\&Jitpl(dm,a Pdf««anoMtq,[Si Dlsj@mme-(Uﬁty .

(3x%2) (x> 3xb) =@-2) M (32-2) )
L (3x%-2)(6) . Full w the blank— 7

F) 3%
G) 3K
) T
-g) Nor\e, o"; F)) 6\ ) and H) )



(5-53) e

mmipluafvxj PUL“\SMMLG.,QS.‘
4x=3xtéb
3x5- A
jax+ D +18 x>
_Ix+bx -1
| ax?t + Cj + DX *t6 % - {9?
The boxes are QLLLQ»Q N with the same
number and thet number ¢s:

K) 0%
L) -7x°
MY -9 x°

P) Nene o K), L—), anf M).

(5—-53m)
(xe3)(ax-¢) =
®) ax - /3

R) ax*+IAx-1§
g) Ax*-/Ax —/%
T) None o5 Q), R)/ Gl SB,



(5-53 M) “é
@ (2x -S)(x+4) =
U) Ax*-3x- 20
W) Ax* — 20
§) ax>+3x ¥a0
-Z) None of these.

(54§33) .
N o 2ab+h =
p) (atb)(a-b)
8) (@+b)"

) (a-H)"
D) None of A, B), and ).

(5~ s 3 B)
(a+b \23’
£) a+b”
r) atab+b”
o) a*+dab+b”
H) Nore of E), F) asd G).



w) a-dabtb™
N) None 8T, K), L\, and M.

(5-5¢ m)

@ (3%"H>’1:
P) qxT -l .
Q) 9x -+
) (3R~ (3 ()l
S (35 - 23 L
T) Newne oS P), Q), R>J<va& s).

(s-598)

Qp\-’ b;\ =
w) @—Q(a,—ls)
W) @-tlo\(a:-h)

X) (Owb\;\
Z) Mone o5 U)j'w)) an X) ,



(5-s72) g

@ (34 ‘S)(Qta-ks) -
A) 2y¢T-2aS
B #yr-20y~4°

Q) 4y*-25
D) Nome of #),8),ax8 c).

(5-5%8) |
(3= (% +7) =
£) xb- 49

£ x'-49
G) xb-14x>-47

H) None oS E>) F),amQ G).

(5-57T)

(3+75)(3-T¢€ ) =

K) 9-¢

L) ERA kg’
Mm) 3~ 67’Z’+é.
N) Mone a g’\/ K>JL-\)CLV\Q NO.



(5-577T) T
- (140D o V’cfﬁ[omﬁ(éﬁ the denommalor w vf:ﬁ g
the witial <Tep ‘t it was

P) 5 — 3+7/—'
3+vg 3*7—_' B
s 5 .,
Q) 5277 = Ferg 316
(5)*

s .
R) 347z = (+12)*

_ 5 37
S) Yo +7¢  3-76

-T) Neowe of P), R), R\) and S) .

(5-578)

@ To \-'aiw V\a.@Se the er_Aommaj?N‘ " _;;:1_’%; )

~He im'h&O SIQP as 'tcu«ﬁzaxl was To MW(P[S
the hu,w\g,r—cjor andl &Qnommaior f)g

O) TX +T3
w) T=-73

X) the square of the numerador and the
Senominator.

Z) None. o5 U), W), and k),




(-578) so

@whl‘dﬂ IS ‘f‘ke« Co"r‘eci cQ.e,r—wd[.Ltoy\ slfe,f [N
\"GiLOV\Q,Q(:)w\g the denominator 7

A) 3175 T2 +73 _ 23 +787T3
7373 TA+T3 (3 +43)°

B) 3% TatZ _ 372 + 753
T2a-73 T&+I3 ‘C_f-i)Z_Or_-B—):L

LS

OIS | TAET | 37R+3TTHTEEAIESS
AT TR AR R-6)t

P) Nene. o8 A), B), anf <.

(5-5%8 M)

7 3
f "0 AL 3 +ax -5 _
@PolgnOmtanlWlSwn ° ax;\ po

E) 24 4a- £t
X
F) 2% 425X
5 _ 5
&) 2 X tax Fris
H) xZeax —3x7 |
i) None & E)) F), 6),@\& H)



(5-5aT) 5)
(H"f) To be—%w( "HNQ— [owg &IWSLDV\ Frpcess :

23 +32-2 [R x7— IxP— 20 x* 131 - | |

the Sirsk term s o be ,m'*/ in the box
What 15 that Sirst term?

3) éxi
K)—6X,

L) %X
M) —‘f)(L
&) Nore o5 T), k), L), and M).

(5~ 52T )
(45) Rs you press on_wn the lana dw s o process
| Y+ | |
ax "+ 3x-2 ) I = 4x3-20x*+3 % — 1 |
8&4 n ,ax?,? %Xz
what Yerm 15 puX n Hhe box Sor the second
Ferm o Wour amswer %

p) —6tx
Q) véx
R) -/6x
]) 16 X
T) ~8x
) X

W) Nore o§ £),&),R),$), T), andd U).



5 A

(5-59)
Len3 division o{: glf‘ LfKB—Rsz;f3x-ll — I
AX*+3x- A B
IX=Rx +6
e s ~
L 2 H+3x-2 )X 4x3-20 x*% % — L] .

withh Y~e mainder —3x+ |

LIhen "po."ﬁ \.V\ l::. @'*-ﬁ— S\?orM l+ LS

B B
A) Bx*t-4x®-20 x™+3x~L|
Ax*+3x -4 -
_‘_f‘Kz—%x-&é + (""31\('“)
A +t3x-2

3) Rt #y2~20x%+3x- L
2x2+3% -2
Uy2—8x+ b -+ C—3lx+l)
Ax*+3x -2

o
—

—

&) - 4’-a0:C 3¢l
T Axt+3x -2
(#x2=% x +6 N(2x+3x-2) + E3lx+1)

5) 8xf- - aox*+3r-ll =
(4x*-8x +4)(2x*+3x-2) + (-3(x tI)

g ) Nore o8 A), B), ), and D).



(5-¢0T) 53

@ wWhen be.%‘mm}\a The lOV\S &WISLOV\,/SAOQesS

Sor _>$_3_’_'§_ Qs ‘l‘cw.g\\*) how 15 each box $illef in!
Y~ X

-2 ) x 2 x>+ Ll =%
F') E\ wvn botl nges wt"\?\\ Q. :
&) Fill /_d' box with +15§L‘H J{V‘EQ box (uith -1 )
H) Bl w both boxes with 1 .
7) None &5 F), G), and H).

(5-¢0)
| | Xt Ax+4 _
143) The lovxa division x -2 T)_{SOXD\*O?C -
%\vu 4% ‘{"eN\CLN\&er O{ O. This wmeans "Hf\d

x>—% -X:ac;‘ea ~ o
K) (xl—klx-r ‘-HQ&*?)
L:) (x*+ax+4)(x-2)

M) (x-(x*-%)
&) Nene of K), L)) and M),




(5-60T) 5y

When Yo press on n 'H'xe. [ona &‘lVl‘St‘ov\ P';"CCSS
e ]

x-2) x>0k ¢ 0% - %

@?8—@2 >

Wl\frx Term 18 PUj: N *\/\e, \0¢9>< '@or 'Hf\e, sewn&
'Te_rm O‘Q \Q.O(U" QJ\SLL}Q,F"?.

P) «x

Q) - ¥

R) Ax*

5) —ax”

T) None ot P), QXJ R\/ andl S} .

(5-637T)

| what 1s the blank Sullef w with 4o
Qamplefh’_ e S OF[nj .

Fx?-3+ 6x° = 3x3( _,) |
U) 3x°-3x t6
W) 3x-3x"+bxc >
X) 32— % + A
2) Mone ok V), W), and X).




(s-621) 55
(157) GRouP, THEN FACTOR
@8‘1—3:)% - (?Cz-t-?:) 5 Sactors info
H) Irreducchle , dees ho-t'?a
B) (3)&)E3)
¢) (x%3)(x - 5)
D) Neone &< H), B)} anl C\.

(5-6a M)
(jszz ) GRoup, THENM FACTORS
o3t Ux®4lo = (x+3%) +@xz-511)
= )% +<———\.Lf. WheX Sills 1n the
blanks ?
E)le\- w both blanks with 243,
F) Ful wn the Sirk blang with x#3 and the |
cecond blank with x3+3
G) Eill 1~ both blanks with x™3.
) None A E), F), an 6).

(5~ 62B) GRouP) TREN FACTOR:

TRUE OR FALSE"
-2 o+ (4-pb = (P~ = (p-g)b
T) True . | |
F) False




(5-¢2.8) - 5¢
GRoup, THEN FACTOR :
pw+gb —%w—fzb = (pw—c%,wﬂ(%b-,ob)
= ( Jw+ ()b, whdk Sills wn the
b[amKS?
T) Fill v the %\‘r?\f blank with P-9 and the
sacon& ’blan\g wtth %*P . '
[() Full w both bBlanks Lo Ut P=%F -
L.;)Fl“ 1~ bath 'Olcm_ks with %-—PI
M) None of I), K), and 4).

(5-62 B) i ]
GRouf, THEN FACTOR: pwt49b —qWw -
smdﬁrs wlo PoTEs Rt
N) (p-g X b-w)
@) (%—P)(\u—b)
) (et (wb)
R) (p-p(w-b)
3) None o5 NI, 8); P),and R).

(5-¢4 ) -
Factoring (x> 13+ 5 Mo (3“ _,Yax—r _.5
T) Both blanks have To be Siled n with
positive tvx-ugv»beg@i both b 0
U) Tt s possible oth blanks coul be %10
| )t\f\ wlg\'\ & a.fw& V‘M«MB?J’S | l ‘ﬁ“
w)I't.'LS‘ pessible t Sill 1h one blank wth a
pesTtive number anl one with a V\ezda:éme numbe r.

X ) None 65 T), W), anl W).



(s-¢5) 5

(i::)To Sakor 6x*=1lx+S wto the pood o
+wo linear Qa{ﬁan with w\ie,aer Co e_'é*gtclz‘:'%s i
4o Ox&'t !

A) (éx—?(x-s)

B) (3x-0(2x-S)

&) Impossible irreducible over +the wlegers.
D) Nene e§ A), 8), anl c).

(5-66)

o o dor 6X= 3%~ into the product ot
Foo linear Sactors with |‘v\faaef coetSicients,

%,QLL ﬂe.
E) (6x+)(x-5)
F) [ 3%—1) (%S
(-;),Imposs%le) irreducible over the [njf'eae,ps.

'H) Nore o E), F), and é).

ey 2 L
A wma'f'o QuFor —6x +13%+5 s + 1* Sotor
| 2 minus oot o C@ej - (67(2— /3% -S). Next Sacter
6)&2"[3)( ’j. Zkg: gl.V\G-Q aaz}wia Sor Mg&m
Hhe orginall — i v e pro 0
he2 Ld@rs lsx-f 3x+S P
) (3x#l )(Rx-S)
K (3x)(AR"

L) (3at1) —axts) |
M) Impessible -'\rre,zf/uclkle o yes the Mfeaer.s‘

P) NOV\Q‘"% 3_))) K)) L))QWQ M)'



(56783 ) 59

60 To gacfar Xp‘-fx,.el ;V\j—v ‘Hle. obuct '{'wo
Tinear focfors w ith fv\iiaer coeX Z.lcwm‘ts) ;6‘,%3&-(
Q) (m+O(xt)

R)  (xt)(x-1)

$) (x-NE)
T ) ITmpessible, wreQucible over 'H\e wd?ﬂe,rs.

W) Nere o8 ®),R), $),a.0 T)-

(5-€3T)
7’:"9 Safov ,éx":.[jx.{-_g o the product ok

4 lincar Sacdor with indeger coetf wents by the.
veducw To " qroup then @adﬁé"me—"ﬂwQ) You Sirst
neel To Sl Two numbers whese

B) sum 15 =17 and whowe Pdocﬂuzi s 1.

2) Sum 15 30 anl whose producdt s =17,

£) sum 15 =17 and Lhose  paodudt s 5

D) Sum LS —17 anf whese p/wc(lazi‘ S 30 .

E) None of R), 53, ), and D).

(5-€im)
To begin, as Taught, Factoring G 1Tx +5 who
The Pno&ui of & linear Sacters by the reduce to " Y
then Sackor" methol ,Tha Sirst step was QXQ:HM-S:
F) ¢x*-(15=A)x £5 |
c) 6 x4 ("‘53";31{5
H) 6xF+Is=)x+S

3) Nene o F),. G)) and) H)'



/ anl
5-L19B)
. £9

@ Same-. m\“‘%ié}z &&rlv‘aﬁlm& oS{ ‘Q‘wﬁ*f) r-w\a
x>~ 17x+5 by the reduce 1o “aroap, then
Sader wmethed (s V -
(x?-17x +5 =

sy

Lxte (-15 =) x +5 =
Lx*—15x —2x +§ =
wWhich 18 a correct next line i Fhe
Seryafion?
K) (6x3-i5x) - (3% *S)
L) (tx*-15x) +(2x~-5)
m) (ex*-75x) + (2% ~5)

“

e

gy (exi-15x) = (Ax=5)
p) Nene of K), L)y M) ank &)

(5-70T )
@ To %avcj'o - 6?(31» [+ 5 W\#z) "H’\;‘a e gk z'ﬁ' oY

2 linear Sacters with wileqer coefSiciends by the
reduae to rouf, Then fio.,céfar"‘ methodl, You Sirst
v\ae_& to S‘:Lﬂ 'a quuv V'\LLW\,M%**’E; whese.

AY sum 15 -l anl whee P(\o&udﬁ 1§ 20.
B) sum 1§ 3o anl whese P‘n,od;uif,' 18 —1l.
C) sum 15 =l anld whese P/L@:Que."ff VAT
D) suwm 15 =1l amQ whose paodud s (]

E) Nome &S A, B), ¢, anll D),



(5-70T) &0
I ; . 1 - e . & .
{}“65) To hegin Qs ‘fcwﬁi{‘i;) S%a.f\'ormci ex =1l 2 +5 Wi

“Fhe proddd’of 2 linear Sackors by the reduc to
tqroup,then Rador mekhol, the Swst stepwas o= i1y +5=
F) &éx*+ (—65—5)1 + 5

G) 6xF+(-6-5)x tS

H) 6x*- (6 -S)x +S

T) None of FLG\,Q»MQ H).

(5-10M)
@ Son~e Tl dervation of Sacto a""“w\a
xS bga the reduce To “%r‘gmi{)d‘ Fhen
Sactor Y methold 12
br™ - lix +5 =
bx+ (65105 =
bx - 6x ~5x +§ =

what 14 a correct Y\QK* lLY\e- n the
de et ion 7 'A
K) (x*-6x)-(5%x+5)

L) @x=6z)-(sx-5)

m) (Gx*-6x) + (5=-5)

) (bx* 6x)+ (-5%-5)

P) MNone o8 K), L),ML armdl f?)



(5-7 17 ) ol

(Te7) YxTu nx +9 =
Q) (077(,-+3)2'
R) (4xtT)
s) (ax+t3)ax-3)
T) (22-3)"
U) Neone 6§ @), RY, 5‘))0\\,\& T\,

(5-717T)
N
(et B ’n 12 x + 9 =
\/) (c%.;(#- ?“\4&’
i ) ( - & ‘%; B
X ) ( Ax+ °)(?2:~ 3

: \
v) (#x-9)" o
z_) N eone oV 3 ) w\;, f&,\\, Jonl N

(5=71 M)
D H4x*-1 =
A) (ax-3)™
B) (4x-9)"
¢) (3x+3)(2x-3)
b) (—Ax+3)"
E) None o§ ), B), €), anl D) .



(571 B 2N
(o) o-b = r
F) (a-b)(a™abib’)
&) (o-b)(a“tab+b")
) (a- L)(Q +QQ5%5:51>
5) (a+p) (@™ ab-b)
£) Now"g F), &), H), and T),

(5-72T)

(7)) 3C-2Ty° =

L) (Ba-3y)( 4xHox +CI%)
(

Y
Yy (Ax-2y ) ‘/,Q'{ ’+ Axy + 1¢d ;
&) (2x-3g)(4x é%%+%%;
5 . - A ; . .4
P) (ax+ ""‘)13}-( Uxt - bxy T e\; Y
R} N&'n@ ) L""/ N\‘\} g‘?\):%&; fgj‘
(5~ M)

@‘3“*’\) )L/ > %z X _
S) (x Y )[?c_,ﬁitj}/}
T) (x-y¢¢ )7
v) Qﬁﬁ 45%
V) (xé) - (y®
L,_,j) Neove o‘§ D),T)) MJ)Q"‘“Q V)



(5&79«,”\) 63 .

@ X,-/:k'?“ %!;lx C)(j)?)-—(é(fj _ N

D (<1 (611 <y s (%:)%

&) (x-y") ()4 " 1 ")

Q) (xTey)( ()= axTy" + () z)

D) (wtey?)(G")*axy + ) )
E) None &5 A), B), ©), amd D).

S'-"PZQ\ M
/“’““é‘*\ . “1:) _( ‘ff_”( '1‘)3_(;1_ v)( 4 ufe ( A%
x,l:lj/)ﬁtézzx /7 LQ@'*’C%%-%)):
F) (k™ %1} (%% + x#fs* %f \;
&) ( x %l-}z( xE 4 Xig\%éf% -Ldé J
; PR Yty ik Py xtyt ey
) (x*- Iy ¢

g .
i) None X F>) &), H\) and

Sm
e
; ¢
s 3

F-9am) ‘ N }
5 i -G =

(K™= 1?) (2% cp(xg-t X1y’ 4 )= |

) @e-y)laty) (X ‘gl)( x4 x‘f%‘f-tf y 3)

m) (-g) (xta) (x4 )(7%4".[.«,&5) |

&) ( x~y)(xcty) (‘x,fc@p‘ ( x%4 X‘I% L gf* )

P) (2-gV (g (x4 Ty

ﬂ\) None c‘f{) LY, M) ) C))} ank f")_}



G
C5-—'7&M) t

ol = 5
$) (o-b)(a*tabeb™)
'r)) (ask)(a™-2ab +b7)
L/) (Q_éb) (C‘L:L"D\Ol,b “kl)
w) ( ath) (C‘Lg\_-OLb + o )
) Nowe o8 ), T), L), and W),

(5-12a B)
@D #+4a1y* = (B0 [3y]” =
ﬁ) (.(90«3 +[3 3]? [( 2x) = 2(293¢] + [3‘317\:]
8) ((a)+[351) [(30° - (a)[34] + [3¢4)" ]
) ()4 [3%{]) [(?\K)z- 2(ax)[3y] “[3@72‘J
p) ((a)-[34]) L(axV +(2)By1+[341°]
,E) None N FD, B}, C}, and D) '

' (5-13B) .

) (00 g 6L T ]
&) (oMLY =0T + Ty T
W) (TN [0 6Ly - L) ]
3) (6A-Tyd VL) +axH)[y*] + [y S

<) None of F), G), H), o T),




(5-74T) 6S
Fo.cl\or*in-%: ~ %1+ %% :-gx(xe_ﬂ____
L) - 8w (31
M) —Sx (K1~|)3
&) —2x( 2= (C+)
P) -—9%x ( x-12 ()’
R) Nene of L), m), 8‘)\MP),

(5-74T

Fac%oi*m%‘. —2x T4+ ¥x =
) - 8x (-1 (e ) () (> 1)
T) - 8x (x-1) (et N (K- xti)
u) —8x (x0T ()
W) —8x () (xX= 1)
X) None o8 3), T), u),}q,MQw) |

(5-748)
U.Sl;\s‘l'l\e. lo_n co.mts_ttoy\ ‘ ‘)8‘-{—'&)(-3
ol the Tight agdihelp, Tt can  x-2 rXB-tOxl—"Zx-t .
be Seen %hd 3 4 +6 1@ |
Sacfors inko XX Ox Zax >
2 aX’*é'?X
) (x-2)(%-3) © .28y,
B) (x-»)(xt3)(x-1) @331 (;

¢) (x-2) (1D (x-3)
p) (x-2) (x-3)(xti)
E) (x- ) (x-3(x-1)




(5—75 T) 7
AMx =115 =

F) C3K—S)(?x°‘+1.5x.t15)

&) (a1x-5)(31&+S)

H) (3&—5)(%"—15“25)

5) (3 x-S)(IC+30 % +3S5)

k) None oS F), G), ) omé 3).

(5-95 8)

' A "ajwna.Q 6XP1’)€sswv_\ FEN QY(‘QJJOV\ O‘Q

L) Trlegers

m) P@‘LQY\OM\A,QJ

P) Redionad numbers

8) Nont & L), M), anl P).

CS"YSB)
.w whieWw ot the Se t\mw‘ma 1S & r'aiwnaQ ex,or‘esslb”
R. T+
5. Ixtl
T. SR TRAS
| s
. .__E——-——-—
Y KE3

W None of R), 8),T),axl V).



(5-16T) &7

>

{35 Whal s ;43_‘; reduced 1o its lowest terms ?

x -

XA —AKtY

x-2

B> x"--e?qcf‘f
x+ 2

<) 1(_2‘;—2&-1-4{
¥t

) X 2+ Aty

E) Nowe o A), B), €),and D).

(5-76M)

(180 whak (s

F) et3

2 o R
X'=9 . Kz*éx ts re duced o loweg\_ Terms?
7&_35 X ~Y4xtD

X~ |
M) None. o3 F)) 6), H>) 3\) [Q)qv\,ﬁ L)‘



(5-116B) 2 e R :
@D what s BRI = S5

= T3t
o Lou)e—‘;& T&I’lws 7
N) 5
&) &

x-1
s(xtd)

S) None of N),8), P),and R).

(5-78T)
% 6% ,8)9
bt s Rem (345'27% 3%547%0°) 2
7) 2%3%sént’
& ;s
2 S‘ 0’7
Z)) %, 35 5% 20, )3
“ ¥

"E) None of TB) U)) W) ,vaﬁ )().

8M) Dem (36,45) =

p) atahst

) 3615
) 3

b) ety o
E) Bi’%; /
F) 3%3%5 5
G) None of n), B), 9, 2), E), and F).



(-8 M) &9
e ( XS(ZH)Bj %(u/)qx") —

H) xg(x,-u}B
1) x> (xt1Y
2 3(6
K) x5 (x+Yy 4
L) xS (xtY y
m) None of H),T),K),and L‘)- |

| (5-7%8) U;hla\l\ s o nedt correck chHuaJe,‘zon SJer’?-
dem (x+3 K32y x> , x3— 1+ xR ) =

Dem (a2 (Cr3x&3x41) ) x (N0 (K00l ) =
N) Juv\(x"(x%o) 3 (- /)(u/))

&) Lom (xi(x-u)z‘_, @Z+ Ne% l))
P) Aem ( x"(x-tl):; (x= l)(x-tl\)

R) Rem (k™ (x 13) (x=1)(x+ /))
S) None ¢§ N), o), P an@ R).

(5- n%ﬁ) |
A v (xa 3x s 3x3+'x,°‘5 22—+ 13~ | ) =
T X2 (xt)x-1)
u) &2 (x%1) (x-1)
w) x> (143 (1)
X.) X2 (k) (1)
%) None £ T, U)) w) \ anfl X.),



(5-—’7? M) 70
() F5+-
L4 .
X5%2\ 9(,3%7 (/\)O-T S tMP[Lg (_&O)
ﬁ) 3+ Y
v Xg%‘?
) 3x3gT 4xiy®
2 Ey '
¢) 3&3 + ‘fx '6‘
x* ‘é
>+ ¢
XPyRrey”
9, 8 D)

I

' C‘S 949 B) %
;(_._%_-«-txs%q = (Stmplt%mg)

F) 3—&'*1‘

K) None 0-? T:-) G\ H\ and -J)



(5-198) 7
Tk\e, smal\es‘t Comwon &evxommojér* g‘or‘
e +f¥’;— E
Y x>y
L) Xy
M) 2®Y
0
Q) X
R) Navbée. &5 L—\, M), !O)) and @).

(5-79B)

True or False ¢ The Srvzalle,_s-f Common

Jle.nammc.far Sor 3 . o < the [6@51.

15%9\ ?CB 7
Common YV"'LH"P(E— o{ Hie aéo,nommajom.
T) True
F) False
cs-79 M) s N
334 +4%x> —
At -
5
Pt ixyt = 3 +4x
S) > ?jﬁ’}r ""i?‘:fa"
<Y . 9
T) 3y’+4X
VX5‘Z],7

) None o S) and T).



(5- 20T) e

LIL
—_— _.[.._______
. "" xté X7y
B) 3:5% >_2amX q+4f><
X2y >
B) 22y’ - 3mxy +4X
' w5q1

1

a4

2z - am + Y
b4 xty?

D) 3z - 2m+’+
X.S' 7

E) None of H), B), and C).

<)

(5-20T)

Gy




(5-g0M) 73
x _ (x-3)

x*+bx+ 9 X2+ Sx +6
k) x —(%x-3)
(1+3) (e ) (ot 2)

v —(*t=3)

(x+3) ()
) x(xt) ~(x=3)(x+3)
( ¥+ 3)* (143

@) None of k), L), and M).

—

A00

L)

(5-30M) \
= « _ (x-3) —
XA+ox+9 x*+5x+6

P) Ax-T
(x+3V(5+)
Ax -9

Q) Gl

R) Axtl _—

(x+3)" (14 2)
s) ax+9
“(x3)(1* )

T) None of P), ®),R), a8 $).




v) s-¢t_ L
X x
w) Sxztx _ (x _y
x x
X) Sx-Y%

2 ) /uonjf o \/), W), and ><).

(5-%08B)

B) 3xt¥

c) sSt%
D) Nowe &8 A),8),ad Q).

(5-41T)

Udh\&\ o‘& the (%aktwmj s a COM,blea)é (‘?r‘ac l:DI)?
£) D) X + 3(x+) 8
LSCa) (x+5) =3 (1) 2,

3
F) é“fm

S- 3
6) TR = X" +TVER - SxE(x+d)
R RN
H) None oF E)) -F), awd G).




(5-g17T) 15

A wa%"l‘\r\cj was Jrcw%ld To ol ange +he

complec Tradion £ 425 o Snoction Heat
A

=¥
13 \mcjl O Comple-)& ;Aazitom was ‘f’o mwQJ&pld
the V\ume,raﬁor and &QMMH\JOI- ot ‘Hu/

wan §aaction by
) 248+ -2

K) ReF:S-d

L) 3+ (x+) +(x43)

M) 3.(2(-&:0(5;&&)
&) None of 3I), K), L), and M) .

(5-31 T)M)
whev\ the wav\it’\_'? 3(2@1)(1(—&23 L3 &ls'kmlodeﬂ

g :
'SC‘LH)(YA-A) "';"' T and cc\ncehvx% 1 &one__, Lou qc"t

3 (A5 - o

A

p) 3 +¥
£-2

Q) 2(x+1) + 3(x+2)
5(3) ~ & {xtl)

) (DA 4 EYeSPNYs
IS Cx41)(x42) - 3 (x+) .

s) 30 (x42) (D (])
' 3(xtl) (x4X2) 562)

'T) None o§ P),Q)J R\} CMQS),




(5-21)
2 4+ 3 i
3 'X:H_ SLMPII‘R:LefS +o
- 2
xta
A) 200t 3)
T3 (%) (5x+8)

S 20t N (xt13)
3(x+2)(Sx+(8)
3 (x+!) (5x+13)

c) EY A TR

D) L2OXAN(x+13)
SN (5x+3)

E) Mone oS these

I

2+
F) 3 (&)
5-2
Tt ACB)
2(x+1)+<
6) 5 (k+1L) -

H) 3(x+|) + Y
3¢+ )

S(xtx) — 2
K+

I) Nowe o8 F), &), au H).




(5-22m) 77

Ax+ b

3(Kt])
Sx+%
L+

K) 2xt36 , Sx+§

)

3(xx1) X+ A
) Ext8 3(kt!)
Xt 2X+ 26
M) et | xtd
3(xtl) Sx+8

&) Nene of k), L)) ang M)

(5-2am)
/Z‘ﬁr s - 5
Tme or Salse « ""59_}_ ) —J;“E_’
TY True
F) False
(s-32B)

Tr%e or %QLSE— s
3OSy +5(-7) - 3+5(%T)

LTS U
T) True
Fﬁ False




1% ,
(S? B) True or thse g /75{%5— - ‘15

T) True S:%;/ ) 5

F) False

(g-—%% T)
22—
x—Y 4 X

P) xty . 2%
Xi"\iz "L-'%C
Iy 3

Q) 3= 4* , =
- Ll
%15 YTx

L

l

o Ll

L
e

T) None of P?, R), R, and S) .



E)Mone of A), B), ©), and D).



(5-¥3) 3°
GD £E
= 2x
Qtx x4
’)ca ")wj |
F) 54 L kY L3k XY

89\ gfx ’ x-4

2 > 323X Xy

xX*y® ”53

] L. XY
H) "3”’% YK ﬁ Y

Kyt gk, Lkl
;)‘) %1 -%X?* XH BX ’K‘(?
K) Nome oS F),6), H), and 7).

(5—83/"\)

L) — (%-+y)

-( X |
Q) Na:aw 3'F L), M) | and P)‘



(s-23mp) e

e A_ 4 A _
X -
R) Y4-%
3) té-t-?c
T) *Cg—%)
U) None o8 R), 8), an T),

. @-?é"\) CompLEX NUMBERSS L=

3 &)
D) G-
E) I\lonle ot AB)B)/ Cﬁ) anf) D).

2

(6-36Mm)
L2 = CCoMPLEX NUM BERS)
A) — |
B) -
<) 9=
p) 1
£) None of #),8), C), and D).



-~
2=

(6-8¢m
) ComplLex MNCeMBERS

i =
F) L
G) —L
H) 4
J) -1
k) None o F) 6) H)/ and 3')

(6~
86M) Compiex mumBERS

5
G i

L)
M) — L
e) 1
p) —1L
R) Mone ot L\,M\)Gy,av\&f’),

(é ~8bM) CoMmPLEX My MBERS

LT =
sS) &
T) -
v) L
w) ~4
x) Mone of S),T), u), and w)
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(6-287T) ComPrex NUMBERS
(G23) WHAT 15 THE IMAGINARY PART oF S—41 ¢

R) ~&
p) -4
Q) A,
D) K+

E) Nene oS #),B), €), and D).

(4-37T) CompPLEX NUMBERS

(FRE) WHAT 15 THE REAL PART of 3+4j 7

F) 3

6 1

H) Yo

3) (-0

<) Neme &8 F), 6), H), and T),

(G- 3TM) CompLex NUMBERS

AN IMAGINARY NUMBER /5 A CompPLEX MUMBER

L—) whose REAL PART 15 MEBATIVE

N\) WHOSE IMAGINVARY PART 1S ALWAYS NEGATIVE
p) THRT 15 MOT REAL.

Q) None oS L), M), and P),



ﬁ
(6_875) Com PLE X Numgeks

A PURE IMAGINARY NUMBER IS A Comprex NUMBER

R) WHERE IMAGIWARY PART /s AT A FRACTIOM
5) WHERE THE IMAGIMARY PART 15 MoT IRRAT/OMAL,

T) wHE RE THE REAL PART (S ZERo AMD THE
IMAGIMARY PART (5 NoT EERO.

U) None o5 R\) 63, ong T)‘

(6-%7 M) CompPLEX NUMBERS

TRUE OR FALSE: Everea read number

s complex,
T) TRUE
F) FALSE

(6-3M1B) CompPLEKR NUMBE RS

_ TRUE O©R FALSE : l_/——' — ’m__.
T)TRuE
F) FALSE

(6—38M) ComPLEX NUMBERS
(4+32) +(2-41) =

p) 1L+ (3B

D %

c) b6 =3s4

d) None of A), B),ad C).



g5
(688 B ) ComPLEX MUMBERS

(£-2i)-(hk-%0) =

3 —
E) 2 -Z 4L
D 4 -k
6) 2 v+ L
H) -% +54 |
—J) None O‘E E), F)/G),Cw\& H).

(6—89 T) COMPLEX NUMBERS
(3+3L)(5-34) =
K) (S —-6(1)

L) 15 =30 4lo(-1) - 6(-1)
m) (S =L tloo — 6(-1)

P) None of ‘K\) L),CM& M).

(6—%9 T) ComPLEX NUMBERS

CEDRR-TTI

Q) -1
) 3-24L
s) 3+d4

T) None, o‘? @3, R\) and S).



&6
(_é"“é? M) CompPLEX NUMBE RS

&2 5 =
v) §

w) >
Z) Nont oY V) and w

(bL-39B) ComPLEX NUMBERS
DL =
A) ~34

B) 34
¢c) None ot A) and B),

(6-39B) CompLEX uUMBERS

z =
D) 2
E) —¢F
) Eta
) z2—L
H) Nene o% D), E)J F), awmd G,



37
(6— %4 B) comepiex MU M BERS

LeT 2=3t34 and w=4+5. ,

SRR ——

Z2+ Z2+W =
I) 7-34

K) 1D +34

L) 1ID—S<
M) 1o t5Sc

N) Nene ot T, K, L), and N\\‘

(6-91 T) CompLeEx NUMBERS

@Tﬁ&e or Salse ¢ A+3+ = R L34
S+4L S :

T) True <
F) False

(6=31M) CompLEX NUMBERS

G 3 =

KR+54
2
p) 4

e oy
273 - .
R) 22 +(ZE)e
l >
s) 85+ 5%/
~2b -
™) 2t
U) 22 4 3¢ [
9 29
W) None of &), P), R), ), T), and U)
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_(c,-cms) COMPLEX NUMBE RS

b
) -3
B Lt g4
) %*%L
0 %%

E) None of A), B), @), awd D).

(L-92) CompeEXx NUMBERS

@ Whicw &emvoiwv‘\ 5e<{7ue,v\ge, LS ‘l'o*q\,\y Qorrecf\'

43 -TX
Y5 + .73
TS5 +1T3 F5+.73 S-+3

G) ﬁ’fﬁ N2 ER y PV r i v
Tg—+"'ﬁ "l}qf—i,-f} 5’__:2/&3

'H) Y3 -1TR S5-.73 _ T3 VRy—
. = N5 -3, —<M6 +L° 16
TE+T3 JF-LT3 T 5__3&3‘0 —

3‘)7'_3—""@73,75—2,7* ﬂ‘,“é— 34— YT + A /__.
TE+LT3 F5-173 ~ (\7_;_»73)

k) None o F),6), H), auwd T).
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(6-93 M) comprex

| NUMBE RS
VIE -3i-iTTF AT
5~ 3>
LY 975 - (3 =T ) + (-0 V2
| S=3(1)
MWYTTS +(=3-T15 )+ (-1)9T
5-3(C1)
p) VI5 + (-—3—'7’75)1,— -N77T
5-3(-1) |
®) 15 - (-3-Fp)e +(-1)IT
| 5-3(-1)

R) Nome &5 L), M)/ P)} anfl &),

(6-92) CompPrex NUMBERS

i
Y5 + 173
s) TE7 C3-75) ,,
g Y
U) Y75 +7T +_(_3’-‘776)}:
g 3
W) IS, (-3-18) ;.
oY 8 |
X) None 0"‘{ 5))1—)} U),Q"‘—Qw)~
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(6-93T) Comprex NUMBERS

A

) =3
8) 3;,.
c) —3u

D) Newe 6§ A), B),and C).

4, qu) Comb LEX MUMBERYS

F') —'7,&,
c) T«
H) Neone oS E), F)) and G).

(6-93 M) CompLEX MU MBE RS

@ True oF Talse ¢ For al\l vead numbers
Gy b ) W :”{aﬂﬁ

T) True
F) False

(6-93B) CompLEX MumBERS

= (3 -7%) =

J) +4+%L
KY & +%w
Ly 4-%«&
m) —4-3c

?) None of T), K), LY, anf M\.
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(=93 B) ComPLEX NUMBERS

@wm&\ dervation 15 correct 7
(A3 -2 )03 +¥=E ) =
Q) 1 +7=15 =% -Vio
R) ~F +9=Is + Yé + Y/o
§) (/3 ~ATB) (V5 +iVE) = 34T -iTT - L2770
) (73 -2TR)AF£LTF) = 34475 +0E + 257
v) None R &), R), 5)/ ol T).

(6-33 B) CompLex NYMBERS

(15 )5 + 5 ) =
) (3+773) + (15 -T2 )i
) (3-Tm3) + (Ti5 -7 )4
¢) (z-7m) t T4

D) (2+TB) 1T 4
E) Neone o5 AY, B)/ c)awg D)'

(6—35T)
| wlm“'\’\vo‘% the Qe HW—”;\J 1S an eq\uai'/éw?
V
-F) Ax-3

&) &%x-3 =o
H) Mone o5 F) anl G).



( &- 95 B) N
NQ'VL& ‘H\.ﬁ. SOloi(oy\ ge'T QDV‘ k""l‘: ,7
) 3
k) 3¢
L) 3¢
W) None &5 3), K),ang L),

(e-58)
Name the solution set Sor x*= ¢
N) =
o) 14t
P $-2,28

RY 3
8 ) None a'? N\) @)) P)/QMO R .

(6-25B)

To SOLVE an e%uaﬁlom T means

T) Fnd a value Sor x Hhet works.

U) Fnd a Soluﬁzon 5&'1
w) None ST, V), omd W),

(7-2¢ T) s
An Mﬁ Is o @ on that
A) 15 +rue Sorall values 1&» which beth s18es oK
the eqcu.oiwvx e deSuned.
8) has ne soluttion .

) s True Kor 9_2_\_ \eccsiﬁ'gp_@_ \buﬁ' V}_OI 0»_—_"1 values

——

Sor which bath sifes oK the eqqu,d'tgv\ ore

el ine &.
D) Narv:: o A)) B),and C)



(1-96 m ) T3
@ An tn consiskend equation

E) 15 frue For atl values Sor which both
siDes o5 the equ.ai'wk are deX ined.

F) has no solution

6) 15 True for ?ﬁ lms‘f one  bul no‘t 0_-\_\_V<Llu€.$
Sor whicn both sikes 012” ﬂe—te—%u«iwh
Qi'e. &ﬁ?tma&.

H) None ©f £), F), and 6 ).

(7-968B) -
@ P\ Com&;‘ktov\aﬁ/l ecbuaitovs
5) s true for &ll_ values Ser which both
shes of +he P_Qﬁuaiw‘n are deSned.
K) has Yo Solu‘itovx.
LJ) NES true -‘Eor.C_x:\ \%‘t one }\Oux v_\_é (’tl_l .\/cdue,s

For whih bothh 5 Aes o8 the eqwqai'wn

are o\a?iv\eﬂ
M) Nene of ), K), and L)

(7-2B) .
At +imes what word s used o mean the
the same thing as solution 7
N) Root
&) Derwation
-P) I&ef'vfc‘(':‘j
R) None of N, ©),and P).




(1-an1) qH

@ E%wwated e%u,dt.ovu have the same

3) Leok
T) S‘fnucﬁur&
U) Solution o€t

w) None oS 3), T))av\Q ).

(7-97Tm) |
! Wwhich e ULGLQ[ W ‘
H) o 303 OV LS e%wudeﬁk To dxt(=" ¢
B ax+l-1=T7-1
c) xX=&
D) @xt)eD= 1sD
E) Nowe &S 4),B), O, and D).

(1-9718)
WINEN egbu,a_ﬁtov\ 14 e%ulv‘a.(ey\f +
K-bx = x-12 7
F) 7(,2——576—-12::0
) x*-"Tx tlx=o
i’/) xz'——‘7x-f/9\:0
5)—) X+ Sx «/3\:0'



(7-2% B) 95
which e"b“af‘o“ L5 e u valent To 5x-3=2x17 7
K sa-3+7= 2%
L) Sxtax= =217
m) —2x+5%x-3=7

o) —-3= SxtAxt7
») None o5 K), L), M))QNQ &)

(7-288)

whai‘ 7S ‘H\e,- so(.t-:etom se_‘t Qor" Hx-3= 2xt'7 ?
@) §%5

R) 1745
" 5) 7 &5
) %5

U) MNone 0{\ Q\; R)) S)} ankl T).

(7-94T)
Luhai' 18 e u_ma.ﬂe,,d' “o
5( 2x-0)(x+4) = (10 x= () (243
H) 5(2&21-8'&—%): [0x t+30% —3
B) s(2x*t8x- x—‘v‘) = /Dx?‘*-r 30x-%X -3
e) (r0x-9) (5% 20) = (ipx-1) (x+3)
D) Nove 28 M), B, a_v;,\gz, c).



(7-997T) 26

63) The solufion seT for
s 2x-1)(xt4) = (IO x~D)(x+3) 15

) {127

F) (=S

c) 1229

H) § 22

3) Nove O{ E)) ‘F)/G),Q-V\.Q H),
2T o Bion st For
5(£zx"+7x-—4) = /ox*+29%-3 15

(7-993)
'T/Le.‘ < o/utron set For the unk
3b-ax+7=5x-br (?fwfts [;; - VV\DM’)
R) I3b-1 .
) {3b | b
- Zht ] {
5) ""ﬁ"—’EzS

b
DRSS

| n-b
V) T

w) None 85 R), S, T), and 0) -



(1-%35) an

Wh ¥ e%ufgﬁ‘tok PAS eqqu(evd' To
3b-2x+7=5x -bx 7
AN) 7% +bx=z —36-7
B —-T1x+bx= -3 b-7
¢) -7x tbx = —3b+t7
D —Tx+bx = 3b-7
E) Nene o5 A),8), ), ad D).

(1-104T)

( 267 >UJK2—V\ muif‘tp\,'at'na Q- cQ\Vthmcé an e,cvucj'(o’n
Ly an expression that could be'aero ygou
v\e,e,Q "to T’Q,VV\Q.«M‘DQJ' 't'o

F) quuu—e, b oth 5 (des

6) put £ Criont 65 the answer
H) check Your answer

?) Sulo‘\‘n,ag y $rom both silles
) Nome oF £), &), H), and J).

(1-101)

'Tke, solution set ‘For

_x .
e +d 1 -4 /5

L) §4$

m 35

p) {0

Q) I-2% |

R) Mone of L)) M), ?), and &)



An e—%“-‘*i“?"’\ é%qu/fe,mi‘ 7o
(%"f) [—;}L:;‘*Q:I: (X-‘-})

el
s) (vHNX 4o = ¢
=
1) (DK G (DA= T
7
y )X (- a= (1) 7

(7-/otB)

U)he,vx W e pracass o% colving an uaj?ov\)
gou mulbeply both 'si8es by an expressiow th
could be O) ou 'H/\U\C,\\Qaf—‘t %@qf‘ quposa&

ONSwWer s I'—§ ‘t’ll\ﬁ, Suppose& ONSU Y™ CQﬁEb Y\&"(
work ) then the 5qp/}o$2.& answer (5

P‘) an L&Lnffta
B) a conllifionad

C) an extaaneous s g lution
D) a Conau Te

£) None o A), B), O, and D).



C‘?— lo «-r) qq
Tn so{w’n\j qﬁ—:@:“—f +A&= %‘f ) You Can
wltioly both silec by x4 and then
Pl y
evwilm.ll«a aeT x=¢4. Rememberi o

C/l/wck ouUr- AnsurLr <d0u Subs)ﬁ Ld’e

4 i for % In the AT s18e oF the
e%uﬁtwvx o %a't

£) 47%7{‘*2 =L+ = O+X= A
6) ‘,_'Z_‘_i;"l‘;’x Which 15 va&e}\:u{e,o
- /+2=3

1) 7 a7

g‘) None ok ?)) C—f), and H),

(-0 T)

Tlr\e, e%uaiw‘n—é%—j +4 = g,% /5 E%u;valeuj 4o

K) y +% =35
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@73 Starting with ngz 2 (434 =5 qug
\SO\CC\LV'\% La %{Uﬁ.ﬁ y —
p) 2=
3
&) Je
R) - 2%
) — 24
':SF) I\Jofe, of P), &), RY, and S) .

| (’7-—/01)
e . _ KB
va 50[\/Mj —‘{1—%*3 +4 —8'*3 } L&ou Can

\(Y\u,\\’qbla both sdes ba %-[-3 and 'H\ev\ e,venjqu(«a

%&'\ :_—%.7—, Remembern o C‘A&L@ doeur answer:
dou sub otrteate ":z_/ In Sor % w the le_‘% s he

ol the @thmé& e%udwvx anl Tﬁ o value of
p) &

B %

¢) %

) '%L

E) 3%

F)-22
)8

G) None of these
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The solution set for % +4:=5
H) S g J*3
3) §%
<) B
L) §2323
m) %3
8) Nove of R), T),\Q), L), and M).

1S

(7-105 T)

The geluilov\ Seft ‘F@r lxl: 3 s
P) 3
Q) 137
R) 5-33%
S) *3
T) None o§ #),®),R), a S).

(7-105 M)
The 50/@(0?\ SPj {;r X,z-"—g LS
U) YaTEs
w) §-377, 7T}
x) 13
z) Mone S U>) w), ard X)



T'Ae solution set '{:0" (?6'3)9\: S (s
p) §3+5,3-55
B) {3t5]
) §3+I'?’,3-—‘f§}
D) §3+733
E) None 0'( /ﬂ) B)/ C))G”"& D)

7—- IOSB)
V> =

F) a-3

G) [x-3l

H) Y Tv=3]
) None of F), 6), ank H).

(7-106T) N
Tlfw_ < olution set Sor (x43) =16
K) ?2)”53
L) $-2¢63
m) 123

p) 1-¢%
R) Nowe of K), L), M), and F),



C1- 106 M) 103
The Sé/affom ;ei"t S’r\ov-- (Qu—»‘i\p\; -3 1
5) S+ 273, 53005 4
T) -4 -1, -k +21}

0) -4+ 373,k -307ES
W) ?"‘_—’,_ -2 | *13%;172,]

)C) None, of 5),7_), U)) and w)'

(- 106 M)

@D T you know (x+ li\g“: 27 then which
o the So \l@wml must be truw ?

A) xth = -7
B) xtly =F¥]

¢) x+thy = 27

D) xt kg = T1-27
£) Neme 65 ), B), ), and D).

(7- 166 B)
I'F (1_7‘)(1’“'—3) = O)‘ﬁqe,u\ which oY the
following X be trua?

F) 1-2=0

) x-a=0 OR %-3 =0

H) 2x-3=0 AND X-3 =0

J) ¥x-3 =0

k) Mone of F),6), H), and J) .



(r-10nT) : lo'f

Solve Fx*-2%x-15=05.The solufion se'\\' s

L») % 8,'155

(2-101M) -
@ x*tx+l can be Sadored mtbo

(1) B3, s et

set Sor x™txt =0 15
_T-lex73 ) - 'L:_/:_E] ;
T) E U >

o) [ oi® —l=adE
){ = T




(- 1077) l0S

Wwhen uou Know (QK‘?))(L{K-&S) OJ bJ\/\lL\/\
o the g; %\owm IS ’h—m&

R) 3x-3=0 OR 4zx45=0 |
B 4x-3=0 AND “xt5=0 ,

(1-108T)

‘ )L-kbx.-kcl =

c) (’K-tﬂ

D) (x+6)" N

g) (t3)

F) Nowe dSS ), b), and E).

(7-10% T)
XQ\——X’&-HQ =
o) )
H)(x—ﬁ)z
3 (x-9),

k) (X+4) |
L) None 8 G) H), 3), awl k).

i'z—/oﬁ N\)
A_ A L~
@ "-g'x-t-q-’ =

M) (x -Z/)t

p) (x +7—/3)

Q) (x-1g)"

R) None of M), P),andl @)



(1-1038 ) 10%

whcﬂ' Qo ﬂou S W TWwe \o\cm\& Lu\JV\/\ ‘\'o
wa ke 7(.9”-1-[0 X+ O Per%cci sg‘juare?

s) 5

T) 22

W) ~>

W) =45

) None o8 §),T), U),and W),

(7-10% B)
Loha Qo ou Gill W Fhe blank with +

' 2
wo ke x "%X + Q. ?o_rge.cﬁ 5q(u,are,?

D) - % |
) Nore 68 R), B), ©), aud D).

(7-109 T)

As Taug\WY) the E! step o solve S x =
by the complete the Sqwuuxre, Ppnecess 13 to have
he line _

F) x*+lax+4 =o
G) x*+ bx+4 =0
H) +ba+a=o

5) None o% ), G), and H)..



(1-109) 107

'ﬂ'u; Crat sfe,os, Qs_rawﬂ\j) T» solyve
9\‘)69\-{{2&-{-5‘ =0 by The C,ovv\.,o[e,’t‘e +the
Sguare P/LeLess are .

X tbx+d =0
v*>46x = —d |
Whet w the next line, as 'l'a.u@lxxf?
k) x*+6% +3= -2 t3
L) x*6x +9 = - X
m) x> 4bx+9q 5~ At
P) xEtbw = ~at
Q) None of KY, L), M), andd P).

(71-109) X
Soluing 2K +R1+H = O by the complete
the S%uare, NOCR5S P,wce_e(oj
x2+byt+az=o
246 = -2
xX+6xt? = —a+9

Whal 1 the v\ex‘f 5’&9_{3 Qs ‘fau@c&?

R) (x+3)2'= 7
s) (x—éé)z =17
T) (29)° =/
0) (243 =T
w) None o5 R, ), T), and V).



(7-109 1o T) 103

In solvn'nj 3?(.9\1- [AxtY =0 bu‘s +he Qomp[c’lfe,

he square pnoss, Yhe sTe p @u%l:r—) 4
derwel . Whad & the solfion set ?

p) 3 -7T, TS

8) f3+‘f"’f,’5-‘ff’7’}

) §-3+T3,-3- 173

D) §—3+’7,—3-—7j

E) None o A), 8, ), and D).

(7 -1 ™)

fs tauqwt the 13 lep fo selve 3% dz-5=0

b% the QOM-PLUE The S%uare, PAOC@sS s to have
e line _ |

| F) x*+9x- 5= 0O

&) X7’+ 3x -5 = 0O

H) ¥ -3x~5 =0

5) x*-3x —% =0

K) x"+3%—2% TO

Q) xx3 +%4 TO

M) Nome o5 ¥),6) H), 9, K), and L.)



('1 lHo M) 109

- The, Q\rsj( s*eps a5 ‘\'awg\/\* to Soluve
—23% -t-?x 5:=0 b“ﬂ the CompleTe The

S ckucu»e, P(Lo ess O € -
)

__31 ﬂ-/ =0
x“ 3 x =~z .
what 18 the next line, as "Ta.u%\mit 4
N) K -3x td S =2 4
p) « —Bxfi/,zﬁ -£ -3
®) x "I +2 z-E+2
. a 3
R) - 3% —% = "%"3/9\
S) None oS\ N P)) Q)/ anfl R) )
(- 110 B)
29%) In 50[\/”\3 — 3% -\-Cl')é_ 5=0 b‘j "H\E, Cgmp\ef\'e
CL o PR oy it g
Jerwed . Whal s He solution set ?

ESBETIZ LS (%
B) g"-;f};\ % Fl/l?)
0§ 24515 A% ﬁ-:j
p) {2t41% %~ r;

E) Nore, o§ ), 8), O, el D) .



(1-1T) |1

T\\e Q\.‘-ﬁf JQ—PS) as —l-CLU.ﬁ\’T\-) “‘\’o SO[.\/e. ')L;\_t X+ l._: O

by the Complete +he sgfucu-e, process are :

x*rytl=0
e =1
what 1 the next line | as Tooug htt ¢
F) 2<9\+x+13\:—l+!/9\
6) xt+ %=l =l 1A
W) 2Pt x —l=—1-1

3) wrex + 47
K) None s$ F),6),H),and T).

(7-11)

In Solvuhj xg_t"x.-l'(:O ba ‘H\e, cpmpleﬁte

LN~_ -3
+Hhe square pnecess, the s”(ef <’L+E> =~ s

derived, Whad 1« the Sol'—iwn seX 7

R) § T “’},{fg
L (-T3
S)E 2, l"‘;‘?‘/}

. T) Nane 0": L—)}M)) P)) @>/R)/Q"‘QS)'



(7-111 B ) a

(301 ) The soluton sel o x +x+(-

JAS
Z I-H.,T— - - 4.’7’""

, $° i+l Sactors into
V) | x+ '*"_’—1 (x+ [-'-—fj—j>
(x _“/T“ )(X" I?bT’ )

x) (8% -[- ,-t,ﬂ?_.D(M - [-] —"/ﬂ>
2) None 'o'Q V), UJ)) an X)

(7-11)

o) The Solubion set 0,r =3:C+9x-5=z0

3T 24} s -3 0es
Sakors into

A) (x +[2+LF1YK+[/'5‘I/:S>
9 (x-[2 4% ])[x-[24B])
() —3(x+[3% ﬁf]}( "Aﬁ;])
o) —3(x-[x5TF])x- 3¢ 74])
E) None o§ M), B), ), and D),



(7-1(4T) s
-_T\'\e %M&r’a&cc Sormula Sor sol vmg
ox tbxtc=0 3
F) = —bt R
A0

G) x= bt-/PHac
2o

H) g = b LA Hac
AC-

I) b “_Yac

) None &5 F),6), H), and J).

(7-11ST)

- SO V“"j —3x%9x-5=0 by the %juac()rqu

‘?ar-muﬂa ca tves tha so/ufivm set
L,) % 9 +°/"" —7- 7’

M) g—%rﬂ ,-‘l’—‘/—”j

N
P)g c;+r")_‘i_—é

) 5 PA-HEs) §
R) None o5 L), M), P), and ?).




(-1l B) 13

| By cont n 3 3.
g continiing an a*'ﬁ’% :5-\+ﬁ Z.3=..

%-t{i@ Can be Ql«q,m%eg wh Hha §orm ’

5) -9 +7al
—
T) —-94-7zT
-6
u) Q@ £Vl
——&
w) q-Tx7

x) Nene of $),7T), ), W)

(7-158)

3 Me'“\,DCQS Sﬁu&Le_cQ_ (‘;’or So.[VM}

qvuaﬂr’aicé. efgo,u,ajtows were

A) Q‘acﬁ'e’l} check Joun ansuwer extaanesus

B é\frname,aus ) COMP[ZTQ +he S%um)
' %Mﬂr-aﬁ'[c, Ko rm ,

C,) Qom,p‘la’te tha 9%ua/&/ ComMON &e,nommdij
' @(ua&r&tt Sormuda.

D) %acjtor ) Csom,oleffe, the s%ua/&. )

Co YMMMo YN ’A‘.O-nomivxa'ﬁ’i

£) Sackor, complete the squans.
) %M&raé‘c&— Sormula, i /

F) Mone. oF A), B) | QY D)‘)cm& E). |



(T-ue 1) Y

Solving X 6x+9=0 by the QULLQ(QM_;(—(Q
%DFMLL,OA %_LV&.S :

G) x=3
n) =33

-6
3) XT3,

KL?) ﬁ:n; o 6))H)} a_))q"g K)

(- lle B) |
Soluu?xj ’x,l;t’k,-tl:O bué ‘Hr\ef— ggwa.ﬂro.itc.
| ‘?‘ormwg.a\ %L'UE.S
O b T
M) &= =
P) = —!273
R
a) x= LZH=
Q) z= —lEAT3

pa
S) Nome o8 M), ), @),and R).

(7-07TD)
The CQESCT’IM.IHCU\* mvo[ve@ th\
o xrtbxtc =0



C1—(07T) s
For ax"‘+bx+c =0, (A)l’\u\ ‘H'\e CQISCFIquqd
(s peSt‘Twe,) Hhere are

A A real solubions
5) ove veal solution of Muﬁi«plnu‘f’«a oo
c) & IMaginary SoluXeons.

D) None < A, B), and ).

(7-117 T) | |
@ For a’)c&-t-bx-tc:o_) when the dﬁscrcmmard'

1$ Z€70

E) th are & real soluTrons |
{—‘3 H\::’JU onla ok reaod solution a*é.mw\*\phdtb two

6) there are & (M L;lqrd solution
H) None O{: E)) 3 )QV\Q 6)

(7-0TM)

Fov x%bu—c =0) whan the cQtSChmmmd |

a
LS na@dwe. ) there art

3) 2 read solulions |
K) owla one. roal selution Ojemo.ﬁtphc.{—? oo

L.\) & imaginary soluliony
M) Non:zﬂo{ 3, K), ad L) -

(7-1178) , | .
' buhai‘ X3 ‘HUL dzscr':wmy\i’ ‘Par ~7K%.~QK”S=O.?

N) 14 - |

p) —al

Q) t&l

R) s

S) Neone O(T\ NB) P)) @\) andl R).
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CoMPLEX MUMBERS ALLOWEDL IN THE SoluTon

Solymg b 'Yacfarm > 2 z
@T) S T, i 12] FEee gu
) 1Y =2t
W) 3 4, iy m R4
X> 5 —4, QL,":U*E
'Z) Neone oF T), 03) w))Qn& K\ y

f?ll‘? T) 2 4o 2xt§ Facdors iwto
A) Gea)’

B) (x+2)(x*+3)

£) () (1>+4)

D) (x+4) (x*+3)

£ ) None o5 A), B), O, and D).

(7-198) o | R VR -
Fa.cjﬁm'ﬂg b2 out of b7 }33:13?—-—
Fil m +he blank with
Db, ’
c) b >
WbE
3_) b/& ] -
K) N&?NL o—% F))é)/ H)/ q,r\ﬁ .é_).
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(7-119A,T) "

Fa(jormgj (3\20*0 ou’l‘ o‘g‘\ EQD?U-D
(2&+|) (;2x,+:\j (;zw)

Fol w the box E]w"H’\
R) %

) =%

c) |

D) “A
E) None og RY, B), C) and D).

(7-119h W)

. So\vmj (x+3) (gx g} +2 (R)c-)(x-ﬁ) O

the Q\rs‘k S'\Ve,]o "\'cw.g\'d was “H\& %qikorw\j 3‘\'6_]0
T 3» ;7— Y
(x+3) Rx-1) [l (X,'f?)) (;21’ _] =0

FYRn ia[Jedh 3 550w —uith Z
g) Bl in Judh %4 ;5 Sl i O with Y
H) Fill \V\ﬂwrh,\_%/ < \IV\OL«M—H/\_I

IR w O with % 3 Sil O with Y
KX None 0% F‘))é))H)) CL,V\eQ -5-3 i



(-119A4 M) 19
—) 7 2
% 3

s -
In SDlv{nﬂ —3—(7&3)3[;{&_ |Y’+§(gx-0 (x-f}) =D

the corredt ;I\rsi Sacto ring Step WC;
Z 2
L) 3 2ty €[5 (03)7 £ (1) [ 20
4 L 5.2 7z
) (143) (2a-1) [Bled)” 45 (a1 J=0
2 | =
8) Z(x+) ax-0) (3 + 5 (az-1) ] =0
’ %5 A 5'%3 Z-%
) 2w ) [l 2 5(aee) <]=0
R’),\)OI’LQ Og L‘)) M)/ 9)) QVLQ P),

(T-19h, me )& .
(x+3) 3[ax—l)b[% (x+3) +% (27(4)] =
SIMP“% Lnq Thes awes
2/

)
5)C K.*.___r3) 1x -1 z0O
) Cix,—!)/b 3 & 3 ]

T) (x+3)%[2z:-:)t[: Zx-a]=0
u)(xu)%(z?v/) ‘[4x ‘%1:0

% Iz
w) (x%})B[;Lx—:} }:’:31“ %’] =0
X)/\)ome. ok $),T), V), and w),



{20
(7-119hA B) The Se/af?on set fo

(K‘*B) (21: /) [W 7<+,_,] O Y

n) {-3,"% b
B) 53)}_,)-—1/§

) I7
0 T3
E) None oL M), B) C} andd D) ‘

(7- 120 T) --—'é

SOIVWS 5 9\2&-&])(’2(1-5)-(- i(’&-&ff) (Q'L-H)

‘\'Ke_ \r"\' S Cg "Yo.u%\&t wag -Hf\e, %’ch'o rm S:@'
%) £
@Hj (x+tS) LS. (2x+| + %‘,(x{—S) 5 5':( =0
O OFRU U T et - 3;%11 N CD bty &
G)FN i [Tuth =%&; Sl v 2 with &
H) BT with % - Sl i D wth £
3—) Fill W\D wtﬂ\ 2/ Sl o wih J/
K) None O'Q F), 6)) H)) ang g-),

=0
°p



(71-1207T) IA' L
__\_Y\ So\\)m\c‘ 5 (Q\X‘t\) (x—t—S) +i (’K"PS) (QQL'\‘ I) 3:

CThe Cm—recj ’Q\\'S %a&eorm\c; s’\'e,D was
L\> b (aul) 3[14:5) [(:qu) + & (x+5) je

m) (:uw) (x+5) [(:m/)” -L),ﬁ(jbsf' J‘J
8) (Ax+l) (x+5) [< (mz) CB4 (r5)E 75 ]=0
() ) [£ (x4 § (i) £] =0
R) Nene oS L), MY &), awl P).
Gi-ta0) (—L)
\2x+l) [x+5‘) [ (2x+:)
ScMPZL%,,\j This awas

s) (2"“5) | 5¢ g 1 —
Grel) ~ y =t T
+5 % K3 g _
ﬂ(f;ejé El i
(X+5) us
. (2x+l)/3 15 < i\ “
(x+5>5 :J
)@x I)‘V3

%) Nowe of ), T), V), and ).



(72-ta0 M,B) 2.2
The solution set For

@“*5 [f—é— Xt— “g =0 s
(&xﬂ
p) =5, —1/2) igi
B i 5, 'g’z) 55533
¢) § -5 _%%
D) ¥ 5, 5%35
E) §-54 ¢

F) ?57/31
G)Nor\e of ﬁ) B), C) ),E)jQNQ F).

(1-(a1 MB)
- $u,pP95{>, vou wanfed 1o $1nd all r;e_c:_,Q s oleTions
to 7 =—3. Squane both sides To 3‘51( x=9.

If the solution se T ‘For"“ﬁf_’f :—-3“. ?q? 2
l\/) Yes |
N) No



( 7-t248) 13

@ As TaugWt -€x+raﬂ&9us <olutions can

Comt Srom ony one g8 whidh 3 ways :

H) Mubhiplying by an expresson nvoluing a varable
el courfd be O anf cubing both sifles

3) mtzﬁlp(dtua both siles oK an & wedion b«o a

Fine humber and Cubinj both sies,

K) W\Mbplﬁw\j bca an expressSion ]V\\/O\.UIVL a \/CU‘(QMQ‘
thed (0wl bhe O amd Sguamfmj both aides

L) Multiplying both sihles of an txpression b% a
W&‘U*" nwmber gnf S%LLGA:L@ both siles

M) None oS H),3), O, L) .

| (7-/2% T M)

Be%mmrxj sﬁ‘e.ps Qor %ln&uia a\\ rea,o Sojlxj}ons were

r+T1t3 =19
Y+ = T-K

A correct next step 15
N) x+3= | 9-x |
&) x+3= *(2-%)
p) lxt3] = 9-%
g) xt3 = B - x*
$) xt3 = 8l rx?
T) %+3 :3/——/8;'@7(;L
U) None o5 M), 9),7”)) R), 5)) ank T)



(1-122) 124

@ Solvuing x+7%it3 =9 o S ind all
reud seldons ) TAA3 was tsolated,
both si0es oF +he equation were
§%wuu—0) the eq uation O=x > (9x+18
was Jerwed and 50(\%&9 o qwe
x=0( or x=1(3. The solution set is

p) ies |

B) 7135

¢) 36,13 ?

) 3 f

g) None & R, B),9), anfl D) .

(71-123T)

Beﬁmnm’j s’l‘e_,os gar‘CQOa OMI’E&Q So(d’ious wefe

A3+x +9(+x —T4l-x =0

T5ex +TTex = TH-X .

(7% 70 )= (7 )

A Correct v\e,;c"[L STQP S
r) g+x + (tx = 4I-K
) I8txl+[1+x]= | 41-x| o
H) S+ +aT8+x Yizx +l+x = 4] ~x
g) Mone of F—), 6)) andl H)




C_/(:z)—na’ﬁ)z,w) /2SS

233 The solutio Sa't— ‘CVO EL) f{ - -

K) £9, 2} n T =0
L) 3¢, '—%’L{Z

M) fng

&) ?

p)2-8, 1’23’:/';

R) 3‘3/_%1
s) -3¢

T) Nane 0{ K))L)) M)) 9)) P), R)) Q,V\Q\S)‘

(’7‘/23 m)B)

G20 Suppose gou have
o /Q-tx‘j[-t-x = 3 -k , uuchi /15 a //)11& 'Zl'/)af'

-Can be deriyed STrom S%umma both 5(Qes 7
A) 4(% +x*) = r02¢ -x*
5 4(34x*) = /02t +x°
c) 4 (9+92+4x%) = /oa¢-x*
D) 4 (3+9x+x*)7 s34 +X*
£) 4(8+xtx>) = 024 -4k —xT
F) w(8+ik4x*) T /02t - 64k X0
C) 4(8+Ax+x™) = /024 =32k +x>
H) MNone o A))B),‘C)/ D},E)) F)) anl G)



So/ums 13tx tV1tx —V4ltx =0 b ?,,‘,CQ

ol T‘%@I 50/:&50»«5) Va&.lcals were zs::(c«fe&
boTh stdes of o uqi‘leons were squared 'ﬁuzcj—e

The Q%ua_j}av\ 3XxR4 100 x —990 =D La s ch_mve,cé

'ﬁ)ﬁlue X=% or x = “_f_’%ﬁ . T he So/bvf?on
5.7 For the &mamav(’ ei,u_a;fzom LS
) 38, "1at%

K 3721

m) § §
&) None of ), K), L), an M),

(7-124)

The mneafvxa,Q e%uaﬁ"loh + be solyed g
VL4 + Vit =74tk =0O. ﬂﬁ‘cr iséqutv\J
a nadical and Squaning both sides it owas m\’km\\y

derived ik x=% or x-= —?4. Lo the process
To check £ =8 ) 2 was Suub*ftuxcﬁ LA '?er‘ x
the VAT sl of the original equation. whel Ve
does The l_f_._‘gi side evaluote o n thal case?

P) 14 | .

Q) /6+9-49

R) the Lgﬁ' sie 15 undefined Sor x=%

5) Nene of P), 6), and R).




(7-124) 127
@TA& 0I"‘:L31Ahq_,0 equal, 7[ A
on To be solyed s
W+m_mf§?

-0 . Iv\ ‘H\e, )Daoc.e_ss 'f'o_
derive S6/uTions) | both sides of equations wero

iﬁdreg a Couple of times S0 ansgns need o be
ecked | One anconr thel was derived was

X=8., Then when, $ 14 substituted $or 2z m the,
lett sidle ot e 0&%‘1\/\&0 uaj.'mm the left side

evaludded To O, The value of the Hgl«j’ S o
s O, Se this e ans

-T) 8 s m Ha SO/L«.j'mvx SéT.
U) O 5 v the sofetion set

QJ) 3 & an 5)d>ﬂd«t«e.,0u5 so [ulion

X) € 5 an 6X7L/14.ne,au5 50/4/#19]4
zg None of T), L), W), and X).

'(7—/16)
Z,L}—Ka—/?\‘:ﬁ /5 an e LM/?’Zm\ " %um@m}}to

Form. This can be seon 52 substiticting w=x>
o the orcginal walron

o hat s The

Solelion sel tor H- @..'_.:__‘3_“"_40.. C%UQ/TIDV\ ? Read and

P‘) {%’3? _ Cowx\olcx Solu-bows ave q_)[owe.a{,’.
B) fi’%,iBZ

e) §-4,t3%

D) §+2, ES

e) §£2, tLﬁZ

F} None o5 A), B), C)) D), and E).



(1-1267T) |28

To Sind all redl and Comgplex soluFions

Sot ’)(ﬁ— 9‘—19\30 1T can be vecogunized
p 8

as 0N e%u.a.i‘mA w gquadratic %ormd, A
subst m"tto'V\ oS w= w Ywe e,r%u_«ilow
w\\ c\r\om%& X Yo a %u,q,cﬂr—a,ﬂ'ta . Folthwn

twe \D\QV\K b.}ft\/\

G. Y%
H. x>
3. 'x"’

K. None of &), H), and J),

(7-126 ™)
U)hajf LS '\'\r\e. solulion 56‘\7 Sor 9(‘1: -3
(Read anf Complex soludions).
L) {38,-305%
m) 3 =73, R
o) ? 3-/1;)"3{7:3
p) 3 73, 473§
R) None of L), N\), &), and P).

(7-1368)

@ (?(3—5)21& 3(%3—5)—1‘520 /s on eqfw::e‘tén
[N %LLGL&NJTLL Sorm. A Sulos’tt'f'u'fwn o5
w=_ — wil\ c\/\avxqe, t To a %un.&v*ai’u_ .
Full o the blank goith

5) «x3-5

-T)—fgf:i;

V) (x°-3

uj)) %Jovxe, O'Q S} ) Tﬁ) and) U)



(-1268, 7-27T) 189

Find a\\ veal 50[&:@&&5 . The Salbﬁtov\ 56‘\' €0r

(-5 3(x>-5)-14=0 I3

'H) §3)—éi
B) §-3,¢63
c,) ‘Z—l,%f
D) I-1,23

£) Nere 1 R), B),C), and D).

(7-127 M) 2
@ %%_71 {_% =0 1s gn €& ua.ton mn %UQJ/‘Q.’.!'C

RO“N\- A Subs’\f\:oﬁto‘v\ @FY W= Qtll C‘\d_v\ae
l* T’D ac %LLQQF’JLC o .Fll\ \‘\,\ 'H/\Q, Elay\,k Wd—\'\

£)

) sz

H) X 2

=) None og; 'F), 6), anf) H) -

(1-1297M)

@F;“& ol vecd anf) Comp[e/k So[w’bay\s Qor
P Ty P_g=0

K) §%)’|3

L) §9i,-4%

m) § 7R, LS

P) I-tb¥3, 1672, L, ~L§
@,) 5"4\-—_7’-3\) /‘-‘y_iJ ,L,—',cj
RY T-%1,84, -1, 17
s) Mone oS K), L), /\/\),P)) @1))4»‘\19 R),

A



(1-12773) /30

- Find o\ read ong QOMP[@.K eoltj"/ons
The soletion set tor vl =~/ /s
T) §-1,18
u) f'f 77 §

) §4T YT

X) §-—~,/—f
2) Nene o5 T), V), W), and X\

(77- 1277 B)

Find o\ rea and complex solufions: 3:%
A) $458
B) ?"2)3\3
¢) I -16Ta, TRt
D) I —T=2,7xS
£ ) None o‘? N, B), ©, and D).

(1-123 T)
Find old veaQ solutions: x> =%

The Seolutron sel /s
r) 34§

&) I-1673, 16935
H) 3- 2)33

3) i-44]

k) 127

L)I\)one Oe? ‘F)) G))H\)?); andl K\).

i



(7-12% N\) 13 )

_ 2 ) 3
To be%m SOL\/W\J X/2: g L&DL\

M) cube bsth sifes and %e'l‘ ?cl/"‘f— A . b 1
©) take The Cube voot &S both sides and ﬂeft X9
p) square both si0es anl qat y3- y5

R) Sgku,a,u. bethh 5102 an 3€t )(3 = 6Y.
$) Nene of WY, 8), P), an R).

(7—128 M)

3
TO loe%z;f\ SOlUiV\j (’)(,R-H&)/ff: XB you
P) Take the fourth reot of both sides and
XA (x&-t/;L)B = xa/"f
B)Rase both siQes fo The gour‘}"k power and
st (24107 = X
Q) Take +he cube todt o5 both 518 and
et (A+12.) % = 7™
D) Raise both s1des '{'D 'H\L s€¢9(,Lr~'i'l/\ Powep anld
ﬁﬁ (?Q2+/A)3: XIR
E)Nene 5 R), B), ©), and D).

(7-1a8 M) 3
A line thad Ko llows ?rom ()("L-H;L) =Xll LS
F) 0 = x™=x*/2
G:) ) - ></'2..___ XZ"/Z_
H) ‘0 = x‘% \66-19\3
F) D= x*ax*+ia
K) None of F), G), H))amQ 3‘)

S



(7-—/2.? M,B) 13

B le,ﬁmj w= 762 ond sqlos'{'ﬁufm I
+e, ea d‘zon O = x“—- x* -1 g can bl
Ae e that

L_.) w= 6 or W= —
M) w=-6b or w= -

(7-(2% M,B: 7-129)

Bs2 FWS ol real and complex solutous Yor
(Xa&f 13\)_‘7: ?C3

3) E’Q»A)‘«Cﬁ,i«ﬁj

T) E—R,:L}

v) §ak

W) F-aY3,473 5

x) T34

'?;) None o ), T), U},L«J)} angd )C) .

(®-/3/B)

@ Find %-%]% X =

A)S ?

B) 7 - ~
AT

D) A3

E) Nove & ), @;CJJ and D).




C%__ Y N\) | /%3 - '
@ Hccorﬁmj to the Patly agerean Theorem
¢

AJ’

a
F) a+b = ¢
G) attb =c™
W) Ya+me =Y
J) br4cT=a
K Nene o8 F), 6), H), and ¥) .

(2-132)

Bss) Fund ’K@%
M) x= 57X
) y= 9\}9\

P) None o5 L)) M\) CLV\Q 9),

(9-1320 M)

1‘? ou Yravel 150 miles 1n 2K hoursj

what 15 yewl rafe In Male.s per howr ?
Q) 375

R) 45
s) &0 N
75 |
g)) None 8 @&)) R\)S))OWQT)

N



(8-1337T) 134

@ Seven steps were glren ‘Qov“ Soluing a
o0 problem . LoWaL 16 the et out step
n the 16T belowo 7
|. Read The problem o Mn&ersfava i7£.

2. Praw @ \otcf(ure
3. Njame Jour Variables

Y

6. Check Youn answer .
7- Answer +he gﬁue.sﬁbv\

A) Square both 518es |
B) Rapkrmse, the meﬂo'evv\ +o clearer EV\:&llsL\ .
Q) Evaludta Laau/\ answer .

\

D) Get an eg w JoWn
£) Mone & H),DB), ), anf D).

. Solve the e%udtéw-

(g—134) |

.@ | A Y‘QC:QCLV\ U«\QP &Oor “\Q.S\.*S \\etg\'ﬁ 3 ‘Qefk oré
Than “iks wLSJV\(\ CThe &iqgovxo& \e,v\o:t\r\ 55 the door
s T Seet. wWhad 18 the e%\)\cj\DV\ Sor this when

x 15 the width?
F) xR+ (x-3)"= 1
6) x*+n* = (x-3)
H) &30 2=r>
7) x9\+’7'9‘: (x—t3) | -

) x*(x+3) =77 |

L) Nene & F), &), H'>) 3), ad k)

2
L



(g-13%,135) /35

A Y‘e,c"f'av\ﬁu(ar Aoor has s he (gt 3 feet
more than s width, The &\,qaonc& t{e’,v\ Hy oY

the Qoor 15 T Seel, What s the area ot
Hhe Soor? CsQ.Feer)

m) —3+7%9
~

&) —3 —787
X

p) Both Z32787 4,0 T3-787 4o accepable
OGNS Ll e S |

R) a0

s) %8‘,

T) None o M), 8), P), R) and S).

(-13%,135)

A \‘QC\"QV\%qtqr"&@or \/\as F\“s he L%\/T\' 3 ;&é‘\‘
wore than ‘1 Width - The &la%ormi length of

the &oor%ls\i Seet. The area of the door w
Square XX |5 45 e Sound. Let % bethe
width oS the dpor. SolU(V\j the proper e%udtbvs
L 5 founll ol checked 4o pp —z47z5 U,

number s K MLL\AV&LMQD b, + T - whed
U) —-.3-;:1?_'3'_'3 8 ° Jive tne qr_ea.?

Lu) I+7VsL
: =N
)() ‘5+')/gq
N
2) None of U), W), anl X).

s




(8-134,135) 13¢

A \-'e,cjcmaw\oxr c&eor' has Fts \‘\ualﬁ 3

Seet vrore than T width . The dha%or\d
\e.\(\d:Q\'\ oS the door 12 7] ‘?e_f:k‘ Lev x be
Fre width of Twe Qoor . When the
value 65 x 15 Sound thed vale Sor x can
he c\hecked Yo see ' § W% 15 correct bé
See g [

B) x*+ (x-37= ;'87

3) ‘)Cl + (»K+3)Z = 3 +l| 82

c) x4+ (x+3) = 7

D) X+ (243)" = 7>

) x —(xe3) =7/

}’) Neone o /\), B), C}, D)) and E),

(R =
H lover Al s:;suare/ voils want Yo ok o 12 Soot
3

board Wil leces | A shorfer pleces o¥ e wad
&en%‘\‘f\ and A \onﬂe,r— plece . The \onger plece
16 Yo be T Sest \onag.t; than . shfbeter plece.

Find the \engths the Plé(ﬁé . Letl ¢ be
the sherter é&&& \ena-ﬂq. WhaX @%udwy\
1« to be solved?

G. @-TT) 4 (x-TT)+ X = |3
Ho o x + x + (x+75)= X
T x+ ¥+ (x=T%) =/2
K. None &% G)) H), and T).



(3-137) 137
The Avea_ OQ Ck\'eétan lQ has & Nnumerical

Value that s 3 more Vhan Yhe Pemme‘(&r,
The he/i%\/\i s twice the width . What s
+he hugb\i oS tre vectanale 7 Lot 4« be
The itk oS the \-—edan%\e s Whal 15 the
equation To be golved?

L) 2% = bx+3

M) X+AXT X+ AXFU + LY +3

&) % @X)= x+ax+xtax-=3

p) % (£X)T xtANTXHAE3

Q) Neone of LA, My, ), and P).

(8-137,133)

@ The avreo. O% a V'@JQ”%\Q, \os a Y\U,MQ,!‘{CQQ
Value that & 3 more than the Perzm&*f‘e,r. The
hewaht 16 Twice the width. What & the height
&S "%\/\e, reanale” el x be the width o-g
the veclangle”, In soluing this Problem 1w
13 Soun® that « = 3+715 | In QN\f;Ltm% +he

A
answer the area Sor the Veciana\e, wag tound.
WhaX 15 the area?

R) Hraa:@igf)(%__'gf)
s) Area = 12 =37YI5

T) Area = 12 +3 115
U) Area = 375 _{_DQ(B-HTE)
) S

w) hrea = GB+15)A(3+TE)
x) Nene o5 R), $),T), V), and W),



(8-131) 13

mzifu\r'e Proh\&m: Sam has 200 %q\\ov\s 6%
\Lﬂfm& H Thal s [0% 5‘*8“‘”. Heow many %q\lons &5

liquad B)WL\\C\'\ \s 40% sugar, sheulll Sam
m%x with \Lquid Pl to make a solution 'Hﬂ@i
e AT s ar'.? Let X be the number &8
C%a\bns o8 407 soludion To be yv\i__)ge_cQ. The
e u.GjUB'V\ Yo be solved ‘LS .

R) % (+10) +x(.%40) = (zo00)(.10)

B) K00 (.r0) +x(.10) = Qwo-tx)(. %0)
¢) avo(.t0) +x(.10) = (Roo).40)

D) 200 (., (0) +7¢G‘/D): (200 +x)( . ;Lo)
E)None of R), B), @), and D).

(—139,1407T)
mlf\'wr{, problem: Som has 200 gq\\ons OS;

\Cckm‘& A +aat is 10% sugar. How many aallons &5
\\%‘:C@ B)wK\c\f\‘ls Ho %y su ar, sheuld® Sam mix
W CTW \'\%m'@ A Yo make a s8lution Tha 18 0%
sugar’ Ll % be the number o5 aallons 68 40 %
solition To be mixed. In ke paoc2ss ef Seluing
+he problem the ameunt 4 Sugar w +Hhe Sinad
Solution 15 calculatel and “Sound to be

¥) (@oo+x)(-20) |

6) (a0)(-20)
H) (e0 +X)<°‘_9%’i9

I) @eo)x)(. 20)
K) None o5 ¥), 6), ), and T),



(8-1437) 13

. Sam Takes 5 hoars To do o aob For

eac\h W
ach nosg o vl o el gt don

L) 5%
m) o
&) 45 Dour

) I\)one OF L), M), AMD O),

(g-143 M)
Sue +O,K€§'P1 hours *O do qaob For

2ach hour ow much &5 'Hme %f’i-s Aone.

per hour ?
RQ) 5 TV Hour
R) T TBHour

S /& S9B/our
)None, 65 @), R), and S)

(8- 1438, 144T)

Sam +<xK€S 5 hours ‘lb mow Q ar(Q
U)hajf Srackion o{ ‘\'\/\e, ao]o does Sam %e’\
done w3 hours’

U) =

w) —%.;-'

X) 5
2)None & V), ) ol X),



(8-143,144) 4o

Sam ‘\‘akes 5 Hoursl'f‘o Mouw) Q qrco. Sqw\
Works % hours | Whet Sraction of Hhe dok
does Sam %6’1' done 7 6

R) 5«

8 x(%)

c) %%

D) Nene of A), B), and )

(8= 143,144, |495)
Sam Takes B hours 1o mewd @ %QP(Q, Sue

tfakes 71 howrs To mew the yard. Ldk be
the Awve 1t takes fo qet ﬁeg'ob done. coTth

Samy and Sue, wm*'mj , oj‘e:H\Q, What 1s The

e_gkuc[hon 4o be solved”
)

EY Sx+7x = |
Ly 7 =
B X P

(8-145B)
Fin& the value Sor x when %—-l—'—’-,;—-'l .
- 35 -
K) K= T2
L. =
) x= L%
M) x=-7
p) x= 6
Q) Nene of K), L), W), and P),

s



(3-146 ) Y
@ Sam ™~ uns O.t\h a \"&‘jﬁz O’Q L'f rm\e_s per ;‘)oqv-.

S oxa uns For 90 minies and vn addit on o
thal vuns Sor T hours . LWhat 1s thetotal
distonce Sam vYuns?

R) 4 (q0+T)

S) T

T) +(3+70)

D st

25+ T
w ) Neone o\ R)) 5))7—) ) anll U)-

(R—146T) |
A74) which 1S Hee truw S\j0 rmuia?

ﬂ) Diflance = ﬁ%d‘%:
B) Rate =(Dtance)(Time)
) Time = (Distance) Rctte,)

D) Difance = (Rote)(Time)
E ) None &5 R), 3), €)) and D).

2= |46 M,B) |
@ Bob vuns al & \‘-a'te, O'Q 7 i les per ;\our’,
Bob vuns Sor T hours. what 1s the distance

Bob vuns?
) T

6 I

W L
:)-) None o‘F ‘F)/ 6), and) H).



(376 ) Sam can un ot o rdle X Y miles per hour,

Bob can run ol o rile o8 7T rales per hour. Sam
Fofs running away W a Staaight line 9o
V_\:}L@Z betore B@é starts. How long will y

‘chKe, Bo(o ‘o Ca’tc\/\ SCLM? Let T be -H,\e_ 't_lﬁ\_?
Bob vuns il he calches Sam. What 15 the

equation To be selued”
13(5 7(90+T)= 4T
L) b (q0<T)= 1T
m) T(2+T)=4T
o) 4(3T)=1T
P) None of K\,Q,M\)Om& G).

(3-1%17)
whidn IS '\'\'\e, correct Sorm u.lo\?

Q _T_n'\'e,rgz,‘t': PV‘thLPQQ
) (RaIY(Trne )

R) Panaped = Cinfarad\(ﬁm}(mme)
) e s CrunerploEterest) (Tme
T) Time = (. V‘“Pl"’YR“‘h'Yln*e'mﬁ)
L) :[Yﬁe,re_;'\':@mna,’ble)(Ra't&)(TM&)
() None of ®), R), S),T),Qm@ U).-



(%= 147,148 ) 143

(313 Let P be the or—l%{nc-d? principad deposﬁc&
A O savings accourd that %Le\cos 4 %
Compoundled annually, How Yaudh s 1n
Hrae account aSter one year?

A) P+ (.04)1

B) P
c) P(.04)1

D) P +Plo4)]
£) None 6§ A),B), C) and D)

(2—147,14%)

Let P be the or{lmaﬂ PFL.V\CI'OO\,O olefole[Q&

YN Savaxcds accourt that ucf}te,lcQ_s 4%
Compounded a,vw\ua;ua‘ How wawe 15 1A
‘W\Je, (LCC&LLV\i Q‘er.!‘ Two «E]e,ar57.

F) (‘D+ PC.oD1) + (P4 Plow)1)

6) (P+PlodD) + (o9

1) (P+P(.oBE) + (P+e(.ow)1)(.0y)
F) (P4 P(-09)2)(-0%)

K) None of F), &), H), and J),



(3-14¢) 14

Solve (P+P(c0%\1)+(P+P(,oq)1)(°oq) = 2000
L) P= 2000
| +.04

[Y\) P:_:’L__‘?_g.e—-—

o1
B) P= 2000 (1.04) ,
R P= 2000( 1-04)
g) Nene o L), M), 8), and R).

(3-14g3m )
g True or False (P+ P(.O'ﬂ.’l)'f'{P*' P(.O‘Bl)(. OH) —
(P+plow)) (1+.04)

T) True
F) False

(3= 147,148)

Houw wuch Monesy will Sam have To &efoét\'
n an 0ccounk now 3o that 2 years Srom Now
Sam Wi\ have Haooo (‘l’he accound 'ale,l&s
4% compounded annually).

T) 000 douars

2(l.04)

V) _9%%‘%0‘-}) dollars

w) 2000 —@.o‘f}L
%) @000)({.04)7\

2) None 6§ T), 0), ), and X).




(a-151T) 145
(3%3) Which s the delintion Sor the open
wieryval from a to b7
A)  (ab) = x| a<x<l>z
B (ab)= fxl acx<hs
) (ap)= Trla7x>bl
D) MNeue of A), B),and ¢)

(9-1517T)
True or False :  3¢(-2,2)
T)Trwa
F)False
(4-151T)
True or FQ{SQ ’ .’2(\—2(_.2)3)
| —T) True
F) False
(4-15(M) |
bdh{c,l,\ 1S Q puc_fure, o’Q (-—2,3) ?
—3 a2 — O i 23 g

-3 X - p I X 3 ¥

+—\) /\/0/12, D‘? E)j F)/ QY\LQ G),



(3151 8) Iy
ALK «b means
J) aex OR x&Db
K) K a<x, then x<b

L) a<k AND x<b
m) Noae oF T), K), and L).

(9-151B)
The definition o8 (a,e0)
N) Y % | x> oS
5) $xl xeaf
Py §xl x<=os

R) § x| x 20
<) None of M), 6) f), and R)

(4=1527T)
@T"M’» or False: -%28 (- 1,00)
T) Trut
F) talce

(A-1527T)

True or False 2 -2€ (-1,0)

T) True
) False
(4-152 T) °
True or False s —| ¢(—(,oo)
T)True
F) False



(2-152 T) 147

whidn is a Plc_\u.rc o'% ("l’oO) ?

“& 7t o Va3
| %_4__
U) —’9\ "— O | o 3

w) ._,(a\ _?_ 0! f E& 3!

X) MNene of T), U), and W).

(1-152 M)
The &6“3%'7"1&3") O'Q (—OO)Q) IS
p) x| x>al
B) S« | a<x§
O ixl xsal
D) Nene ot PO)B), ank C)

(4-152 R)

T"M/ or ‘?alse: -4 (—w,—s)

T) True
F) False



(4- 155 B) It 8

whic\r\ s a ptc:*u,rc o‘? (“00)'3).?
E) —ﬁi—) t——t—t——

+
3 -2 - o | A
F) ; —t—t—
L -2 "t 0 I a
Q) —t—P——F—f—+—
Y -3 -2 - o I XA

H) None of €), ), and G.

(9-1537)

Th@— open iferval (—04;05) 1s andther
way of &eno’fmé the €t of

3 ) InTeqers
K) Posrtive 1ileqers

L) Real Numbers
M) RlionaQ NMumbers

P) Mone of 3),K), L), and M),

(q9-153m)

T\r\e, definition o8 La, bl s
Q) x| x>a or x<bs
R) x| a<x oR x¢b §
s) T« | a<x<b §
T sxl azx2bs
D) fx | asx or xb3
OJ) None of ®), R), 5);'7'), and U),



(2-1537T) 119
@T\'wa or Talse ¢ -33e[-2,3]

T_) True
F) False

(9-£(537T)
@Tr‘qe. or False o -—15 g [—2?,3]

T) True

F) False

(4-153 m)

whic\n 15 Q Ptd'u,r'e O{ [‘2)3_] 4
A)

D) WMone of #) B), and c).

(2-/53 B)
The definition 6§ [a,=0) is
E) x| x>aj
)ixl x=af
) 1z 0412
x| az
—:9) gI\)ot’u.b of E), F)) G), and H),



/5O

(a-154T)
True or False: —%EE—I,M)
T) True
' ?) False
(q- 15 4T)
True or False —[¢ [-1, °O)
) True
-F) Ffalse
(9-1547)
wkich B8 a P:c’fure o% EI,OO)
k) —— et
-3 -2 -1 06 2 3
L) | ot —F—F—
-3 -2 I o | a 3
-3 =2 - ) l a 3
,0) None O‘F K)) L)) and M
(4-1548)

(Goe) The defintion oS (—22,0] s
Q) fxl| x<al
) txl asks
s) fxl x24s
) Nene o§ &), R), and S),



(9-154B) 1S/

,.Trwez or False . —Yeg (“00)’3‘]

_I'\ Trur
F) False

(2~ 154B)

True or Falsﬁ -4 E ('— 903"3\]

) True
T) False

(9-1548)

Which 15 G Plc'\'()\r‘e, of\ <— Od)"?] ?
U) -ﬁ—er'%r —t—t— —
. >

5 -4 ©3 72 —|

W) ——F—

J
{
5 =4 T3 -2~

)

l

o |

X) K[yt —
—5 -4 -3 -2~ ©0

2) Mone ot U), w)) and X)),

(9-155T)

(40) How 15 [a, B) —ead ?

A) The halt open in—tervd S rom o 1o b .

B§_’r\“:\e. ;\ali open wi?u—vaﬁ Srom a. to b, open ot a.
C) the half open \Wlervaf € 5
D) Nore of 1), B), ang C)'\,OM T d ek ot




(3-\s5m) {5 A
@ Row 'Ls E"l)3> C\&Ql"\&c@ ?

E) $x | -1z x>3¢

F) $xl -1sxe3]
&) §x| -lzx OR %x>3§
W Ix| -lex OR x&38
3) NOV\Q/ G-Q E’}; F)) G)/QV\Q H)
(4-155 M)
Trwe, o False : —|4¢ [-1,3)
T) True
'F) False
(4-155 M)
TrbLb o False : 3¢ [_—()3)
T) True
¥) False
(4-155F)

@w\,\'\g\n 15 a p:c’\ure, oK [-1,3) ?




1S 3
(9-155A,T)

How 18 Ca,ﬂ reak ¢
P)T\\e al§ open \‘\"\)\e,rua,() Qrom a. To b) closed ot b.
Q)T\(\a holS open wiervad Srom a to b .
R) The hals open lervad $rom a to b) open a b.
3 Nene of P), ®) ) R), and$) .

(9-155A, M)
How 18 C"’)3j &E—‘Qmeﬁ?

T) Y %] -l<x<3]

v) Tal -\>% 23S
w) Fxl —1ex=23}
Xy I —l>¥% >33

Z) Mene ok T) 0), W), and K)-

(4-155A, M)

@True, or talse: -2 E(*'»3]

T) True
F) False

(Q-155A,m)

True or Fo,lse,; — | Et (‘[,3]

-TB True
F) False



(9-155A;m) 5¢

True, or False

. 4.23¢(-1,3
T) True 4: | ]
F) Falee

(9-1554, M)

Tru@ or False : ;!2’ € ('1131

T Tr uwe
¥) False

(a-1558,8)

2D which 15 a prcture o QUEAN
p) -\/_ﬁ—p-mai—r—%# )
By

N o ) & 3 Y

B) ]
AN — o ! A 3 o

D @ —

D) R i é—@
— & _%l o 1 4 ;\ *
-a = o) l A

F) None o £),8), ), ), and E)



(9-\56T) =3

Guwen RALB . W hich & the (‘%o\\owmj )8 *r—qe?

6) A+C>B1C when C 15 ne cj'cue. e causa \d@q
+urn the '\V\ecxuqﬁ'ﬁj around

H) For any red number C_) A+ <« B+C
J) Nove of G) and H).

(9-1567T)
Given AKR. bJ\';Lc,\/\ ogi 'H\e_ Qo\\bwma 8 —I"rqe, 7_
K) tor an V‘e,az{ numbe r~ C_,) A-C <B-C

L.) A-C>B-C yWhen C s posfhue, ) makin
-C V\oaaitvc) hence Turn the m@buaﬂf\'a around .

M) Nene o% K) ankd LJ),

(4-15¢ W)
Gwen A<B and C>0. Whida of the
%ol\ow\nj "8 thoe ?
N) Ac < BC
6) AC >BC because you need +s turn the

e wa,QrfM around.
P> None o N> andd (9)



C‘l-\SbN\) IS &
Guwen AR ond CKO, Wi\ oft Hhe Qouowma

s Thun?

®) AC < BC
R) AC >BC because you need To Turn the
megfcm—m(a around) .

%) Nene & Q) and R) .

(9-1568)
, So\ue,(: name the SOL‘:@’DV\ 55-':) 3?¢>é
T) (=02,3)
) (a,0)
w) x| v <d$
X) Nene of TY, V), and UJ\'

(4-1517)
(T27) Solve (= name the solution set) ~H1x>13

R (—e,-3)

B 6"3) °°)

¢) <31°°)

D) §m|1¢>3} |

E) None ot A), B)) CB) and ‘D).

1



(ﬂ—ls‘lp) 1577

In the eo\vmﬁ process ‘Q‘or‘ -%;76 2>t +H
2 s added To beth sides and Lx is ’
subtagctel From both sides, ASter S'lmp\{%\dnhj)
the resudd s

F) -fx =22
) %26
) -kxzé
) Lx=éb

3
K) None ot F), 6), H), and Q’)_

(9-157B)
T\\e, solution cet Sor —%—X-Qz—gxﬂf 5
L) »[“2)0‘7)
w) [-13,=9)
9) (_eob—Q]

p) (-o071Y]
g% Nowne & L), M\) 0)) anf P)



(a-15¢ T) Isg

-3<A - %X £S5 yneang wtﬁd\ Q‘Q Hhe &,nowma :

g) —3<RTZX oR I-F kLS
D -3¢ (3-2)<s

U) —3<a-2z Aavd R-Fk<S
w) Nene of 8),T), and V).

(a-158m)

@ mud*iploam% both s.des o‘g ‘-'5<"Z’,k
b‘ﬁ -’;ﬁ and S}MP“{gW\g Some 8[&‘&5

A) 5 x
o L <x
c) ~H>x
0) ~H4<x

E) None % m) B)) C\)} and D).

(9-158 M) |
‘TK& SOIuJ‘th\ se," Qo‘.. '(7(<3<< ;33 <
F> (_#)M)U(‘“)%Q
6) (-4,32
H) (=o0,-4)U(3F,+ )
J) Nene of ¥), G) anl H).



_(9-158B) /5T

Su\o'\‘/xad\g{] 2 ol the waxa QCrogs
—3 < 9\"‘1{%(-5 ‘6(6[&5

K) —5 < ”.%7(45'

L) -5<y-3x<?

fV\) — 5 & --%x Z 3

P) Nome of ), L), and M).

(9-15%B) )
034) Gwen —3L -G

7 o\l ¥he way Geross an
—% all the way across you q
R) %>?¢>—Lf

R) 2/2414’4
, — 20
s) 25 ¥*7 3

-T) Neone & Q), R),

x<S . I you cukined

0 the multeply by
et

and S)o

4-159T)
(_ﬂ'\@, So[ujmv\ Se—_l_ 'FOI‘
43 >S9G OR 3+x < -9 4
v) (-6,3) |
L) (=6, U (=2013)
X) (—w)“é)U(3:°0)

—7;) None O('; U)) L,d), ank X)



C?-—lj'?g) |60

(@) True or Falst: 223 0R x<—6 can

be written 3y c-¢ .
N True

F) False

(U-1597T)

@ Sprose, ou l’\a\/e X >3% OR X<- A
U)lmc ‘H!\e. &Xacflta corr‘e_d T&"M\V\OlDfI\a
Sor ‘Hr\e, solution set ?

A) (- 00,-6) OR (3,09)
B) (~o0,= ) AND (3, 29)
) C— —é) U (31"0)

D) (—é 3)
E) None of A), B)) &) and D),

(a-161T)
(=50)N L4 =
¥) (-5,4]
G)
H)  (=Hh3)
3) (-1l |
k) Nene of F),6), H), and I,



(2-te M ) e

(-5, 00 149 =
L) ¢2,-1
M) (-5,41
5) (~5/4)
P) L-—l,&)

R) Nene of L), M), &), and P).

(a-lel B)

(3,51n[5,7) =
s) (2,7)
T) 5
(_)) {5}
W) @

X) None o S\;T))U\) "‘J)lq"‘g X).

(a-1618)

(#aD (3,5]uls7)=

A (3,7)
B) [31'7]

e CP
D) 5
e) 155 .
’r_) Nore. & A, @) Cﬁ) Dﬁ) andd E)’



(2-162T) l6
T\\e. proper remoyin o'g absolute values
Sor |7Cl< KooLs

G) zek OR x>-K
H) x<-k oR xr > |

) —K<x<K
L) rek: |
m) None 6% 6), H), T), awl L),
(q-1627T)

@3 lxl<s nand only T
N) X< 3

&) —3« <3

-P) ve3 OR Kk >-3

R)  xe¢3 9K Xz 3

s) None &% N, o), p), and R).

(2-1628B)

@T\/\e Solod'ton 56‘t_‘99r’ /;2%376/ <7 i
‘1") ('3)%) |

0) (~2,=% )0 (3=%)

W) (3% ,3) |
x) (=%,%)

?é) None oS T), u)/ w)’) anldd )(B



le3

(4-162 ™)
Gue) | =a- 2| < T and only r¥
R) K-3x<

p) 2-3%<7T OR R-3Xx>7 7

) T<d-3x £~
D) -I<a-3x &1
£) None o5 A, B), O), anf DY,

(9- MQNQ

- GLveNn ~7<£&—37<<7 . SubYaacd 2 all
‘e way O.Cress . Divide b 9 -3 all +he

luaxd C.c ™~P8S QWQ kdeu C&d

F) 3i>7<>-5

-7 5
G) __-_547(<./3

H) _2';./3> ?C>__}3
;) None oS 'F)) 6)) Qv\,@ H

(g-163) |
-Tlr\e So[uﬁ?oh Se.)( Q—ar )_—_ %x/i—é’ /s
K) (-0 ) ‘-tD] U[,_w) 3 |

L) [ “9) '-éo .
N\) ("M) 5/7']

P) [’- “0) Lto\]
Q} None oS iS) L\ /\/\) aMQP)



64

X/f —é— -IJ% andk cov\[té ‘1(-

0
!
o~
W
.|
N

+lv
|
w\fb

R) %‘%—xi%

) 2-&n kORI -Zxz-L
T) —é/_s%——%gxf-—'f'

) L sz-hrsk

w) Nowne oc\ R\) ,65, 'T)) anl U)\

(a-162 ™)
(/Llit“i\) Given —-3’ < 3—'}( ‘/ . Subiracd
S

% al\ the wau\ aerss . Muw ’t,'LFL, bka - %\
a\\ the u}cLLQ e ross and aow o&ﬁ

) 57, , =22
T

) z-33
5 /‘-t%z KZ

1> g2 32
<) prTezy

D) —S < < =33
) L S x ST

%0
— 5 < < 33 |
- e/ (‘_"75 - 4o

) Nene 5 R, B), O, D), and £),



(q-163 &) 65

-Lo\\of\ S ‘st\:\e, P\C\‘Uu*e, o the Soluj}or\

O\" 33 <%¢.§1 7

%
G) ;
23 27
0 #D
H - Aé—_-——-—'"——é;"'"'%' -
) 57 £
4o “+0
T)  Preee——
57 33
o A
c e
J 33 57
0o 4o

L) MNone of 6), H),3),and K).

(8- #T) |
] >k X and enly iy

M) x>k OR X<-K

p) K>~ %>k |

R) Z< k O R X> = K

5) Mone oS N\\ 9\ P) anb R\



66
(A-164T)

['}4I>3 [% anl @V\[ta'[{'

T) >3
u) X¥<3 oR k>-35

) ~3>%>3
x) None ok T, U), anl W) .

(q-164 m,8)
@Tha salufton 95‘ ‘For /2— 3¥)>'7 /S
A) (% 3) |
Y [—%/33

¢) @

.D) (- e ‘;;)U((é) )

e) (-=0,~%)0(3

F) None 0/'? mY b},f-% D))Q\MQ E).

(4- 164 B)
-SK&TQ\'\Mj Hhe solufron se'f ‘\?ov—

| ?54"/ OR k>3 ﬁwe,s
c) __—é———ﬁ—-—w
H) H

7) — e

_5‘/

K)'No’w 0‘5 &) )JH) anQ T) |




@-1es7) L67

@T"\e sol L&t@ﬂ?gf %o‘r‘{,_/ %— /2_%- X
B =g =)
(—M)_ j %D\

9> [4—103 H D

57 33
P T, o

R)  None 3 L), m),0), and P).

Q-5 T)

l%—QBXIE—I_; ((’ow\QOV\lat'%
) kzg-trze
T 2-%rz&

), %._%7(2—13 OR %—’%Xﬁ%
W) H-grzk ok Fo5KEog



6%
(_q-—lés'B)

@D whdt do ou maltiply -2z -1
bta _{—o \6[‘&(0 x < -i:é’)

<0
n

7

P‘{h&f& A the SO(Jm sd ?or'
P e, 210 [ 2)

6) 23 57

“Ho ) Yo
52 22
H) 40 ) Yo

I) (-ee, 22V, o)
K)  None of F)) G)) l-m)'q,nﬂ 3')



(2-167,168) o

@D () (2-5)L 0 Ik and ouly it
L_') x::B oR ')(,’5
M) x=-3 oR v=-5 |

p) X <3 AND £ <5
ok K <S5

Q) X <3
) None oS LY, w),P),and Q).

(9-168 T)

Suppese X €& (3,5) e .'

. | rt 5

whick & the Sollowing 3"'["0 \
ik S o e e

) (7223 )(xL:g) >0

Y, ok

) (D (x-8) <O



(4-168 M) No
o

(46D Suppose x€(5%0) — |
Iy 7,

/
/
wl'u\c,\r\ 0% 'Hme: %ou@w[nj L5 ‘fo}tal[g Frua
L= Le‘?‘\'n R= R\as\d
R
A) (Z—%)(?Lc—-.@ =90

£) Mone o5 R, B), €, and D)

(q-1671 T)

The process ‘Z—Ou.&%lr\t To solve

< Ix=15 was fo Solve

F) x*< 8(x-15)

6)' o < @‘*_3)(')(-&-5)
) @(aS) <o

5) (e3)(x-5)<°

1<) (7(")3(75'3) LO |

L-) None oN F), 6)_/ H)) ‘5\))@& k},
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(3-teT™)

Suppost xe (—02,3). ——1 -é

: X 3
Whidn Yi)f *l'\:\e. Qotbowma [ES —\-DTQ\\U Yrue 7

W) (X-3)%-5) <o
A B

5) (x-3 (%-5) >0
2R 0%

p) (x-3)(x-5) 2O

R) None a8 M), 8),an8 F),

—— Y

(9- 168 B)
@ Sup,oose, /‘n ‘Hle. ,D/*a(_e_ss O‘Q Solumoq
(94*3)(7"57<O the rescdts of the

Cases (Jere Ao A;() Ves "’,/0 & NO
o S
b o 15 the solfudion sel 7
s) (35)
T) [2,5]

U) (— =2 3)"J(5)"o)
W) (== 3N (5,02)

X) Mone of $),T), U),and W)




{7 2

(A-1697T)

S-I‘Qw«‘hrg with Qa +35™ >/S/7<+5l7
Then <ubtaactin 1€ +27 Lr0m both suﬁes

+hen S%acl@’@rmj Sowg ) hal Ldle(cQs
) (2a+43)(x*+9)
B (2%-3)(x*-9)
¢) (2x-3) (76 2)
D) ( 2x+3) (- 9)
E) Nene % 7‘\), B)) C),CM&Q D)

(?—/e‘i M)
u FQQTW"MJ (2’261‘3)(% 9) $urthe - wdd?f
F) 2 (x+3)(x+3)(x-3)
6) =fx+2 )(x-3)(x-¥
H) & (¢+3)(e3)(%-3)
S) None of F), G), and H)

(2169 8)
-whlch /5 apzc?Lure. OQ’ g4 6(——-00/ »3)7
K) .._Zf { /3 é
x < X
L) —e— {
3 ~ % o 3

S N
"‘) .

-3
P) None of K, L-))QVuQ M)
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(2-/69 1 ) x

A{gg Suppese X T - °0)-~3) f 1Z/
- 7.
(UV\LC,\/\ OS{ ‘H\e, g\:o([owtnj 14 -['O-J(Qn% Yo 2,

D 5oL % <o

R) sz %- %—35)& - m)(% -3) <O
N N I

5 D (- Y3 > 0

T) NMone of @), R}, and 5) .

C?—/?OT) , | g%

u\g

| , ,
S pprse x (73,7 ;) 34’5/

whwb\ N He S;o Owlv’\\"‘ 14 ’fo‘td\\g 'hr*ue s

U) P (" Rfj'ﬂ)@‘"i% Z])(Es) <O

Pos 265 ‘ ME . PD‘S
w) &( x-I-37)(x- a]) f03) >0
,005 o /)B Mg

pos -

X) ;z(x [3_1)(% _,J)(% 3) o
Z) Mone of u)) w)) anf X

~



/74

(4- 170 T ) X
@S%P,&@e& 265( =2 . ,1 ;F o IS
T2 3
U/buct/\ A the Nol (owMa 14 'f’o“t'q([(a trwe 7
. Poj o p ALQ
n) a(x (AT (- <o
. ﬁ . Pos .
B) 9\(%—5—3‘3)(% 3@7)(% 3) <0
n33 , neﬁ Po—(_

<) 2(26“[33)(2 [~ pﬂ)(x -3) >0
D)None 65 R), B),anf C) .,

9 -170 M)

@5bw)ﬂsa 248(3/"“0) __Lf ,;& 3’/ 2
whieh of the Nollowing ‘s totall ¢ Thu?
pos - Q‘l ) Mé b /?83
= 2(74 [37)[14/ [-3 ;.Cl)(x'j’) <0
Paj . />05 PoS
F)R(z F51YA [ % a])(x 3) <o

/’ Po.S

(J_ . 03, .
&) (%31 (4 57« 3)>@
H) MNowe ok E), £), an G),
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(4-170 B )
@ True or False: Suppese x==3,
2% -E3D(x-[%))(x-3) Z0
'T) True

F) False

(9- (70 8)
@ 5¢4ppa36 =" 3/9\
True or False: 2/ x— [’33)@(" [_3{-:])@6‘3) >0 |

T) TI’L«L{,
F) False

(2-17/T,M)
@ Suppose i The phecess o’%\ ggl;v,hj ,
;L(‘lé—[fﬂ)é?c— [‘%])(%-3) = O The resufs

ok the (ases (Jere -
" Yes wes ves
) ye & , % /\/ 0 ,v,,,«_{,w.,,‘.,, o, %i

No

-3 ~% 3
LN /s the solutron sef 2
S)[-3,-% N [3,0)
K) (-3, ~%) LU (3 20)
L) [-3 73 0 [300)
M) Mone 0% ), ), awd Le\) :



[76
(@~ 8)
CH25) To Sl al) values ‘;or X SO ‘H\qi

0
‘/3% — k=1 =0 , ONne needs To solue

Xt |

N) 3x*-44-420 and xtl =0
) 3x*=%x-¢=zo

3x3-4x-Y¢ 5
SEELIE

R) Nﬂne, of N\) 9)/@«9 F)

‘@»WI)ND)

@’) In selving x~dx- ¢ =0 marks were
X+t - |
Made on the numbey- line o wWhat p[aces?

The cases Yov +he solvin process were
&emva& P/Lom_ -z%e.‘s& 'Mquss

5) % )—2) |

T) 2,-2, "

u) ..Zé)—;L)—!

W)~ 2

X) Mone of 5), T) U), aul w),
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Cq—-(13T)

@ Suppot KT C'/J*Q/B) —e—1
WhieW D{ 'H’\L Qo[\ ing ny —l
owlhj XS -L_D Q”v {'T-/ie ?

oS
< ?05

) ?;S (;LL?—_ f’ . LR
_ /3’])( ‘_’7‘) Lo

PD.S» ‘ NEG . NEG

i (R
p) 3(x-[%])x-3)
- [-1] 7
R-L.
pos
pos " 7% =
C) B(X—[:’ %/AIYK—“Z
L7 ) <o

R-C
Pos

. N7

/D) Mone a"‘: these



(72

@’-— 173 M )

(478> Seppome xe ( 5,9). —f—F—=

ukto\\ 6% the Qo owma L5 ’ko'tqv”a True 2

,095 | /1&7

S P

pos
pPos
Pos R—é L=R
3 (1 -] (x-2) >0
x-[-1]

L_,

H) None O% E);' Fjj and G).
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’(Q¢z738)

(#7D) when ==l s 3(“‘_[-3%“/%'2) 207
\) Nes e |
N) No
(A-174T)
@wh% x="%}'u ?(x— [’Q)(x—:{) >0 7
| x-[-i]
\/) Yes
N No
| @_1_76‘/\/\)

SQPPOQE— ‘n ‘H\e, p/wc,ass @.G Sotl/ma

3(&—[‘%]}(1’@ >0 the results o the

x— 11
. e
cases We NO Yes yes |
/\/0 i YE.S ! NO ’ YE.S -
! [
= =3 2
7

whet 158 the solulion set
V) (CL=%8) N (R)%2)
&) E1,-%1U LRi=)
P)C’b"%iﬂjlgﬁﬁ)
R) Mome of M), ©), and ).
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(2a-175T)

stacting with 2x*3x™ 2 St (1 then

5w‘fnacfw'\3 X+l Srom both S'L&ESJ Then
%ouiormj Soma LIhat LdteL&_(

5) (2x+3)(x* (2)
T) (2%+2) (x+13)
O) (ax+3) (x*=¢)
W) (2x+3) (K +4)
X) None o1 S), T)/ U))- andl (U)a

(A~(75 8, 3-176T )

Ir\ Sa/l’//lj
Alx-FE]Yx-[Fa)(x-2) Z 0
by the TEST POWT METHeD an acceplable
list o5 dest points acco rﬁmj To the text
e |
A)—R)'%\)D\ \ 3 ) }%JO
B ”’2)—%)9\) —3)\—??) O) 3
C) 'R)—Bt/g\};\) —3) O 3
D)-)-%,4

E) Nore of A} .B), O),and D).

-3, 3



/%1
(G— 115,170 )

| For %= % I
2(%{-3@)(2& Q) (z-2) = 07

Y) Yes
N) Mo

(- 175, 17{,)
For = 3 s
2(x-%) \x-Ca)(x-2) 20 7

Y) Yes
N) Mo

(9-175,17¢)

.@ qu/ﬁosﬁ. LA Hie precess OSY\ 50“/\\}\3
2 (- %) (x- [-a0)(%-2) 20 the resulfs

of the Cases were oy,
Yes Yes es v,
NO l‘ L,C.S ll NO f €S ,

WhoX 15 fhe So/uj'lo;\ Sﬁ'f?
F) (a-%]u(aee)

6) [a,=%]N [2,%)

H) Fa,- %10V [3)09)

SN ADNEIR)

K) None o8 F), &), H), an 7).



I o
(lo-1727) .

@ Hno‘{,‘\/\e,r NAME SVOI" the \’“e,aﬁmf\céu_{m
Qoor&tﬁoit§gjs‘tem L& ‘H\&,
L) ch‘H'\QL%o re.an Coarﬁtaaﬁ“ﬁ_ ngsfg,:aA
N\> Le,[lonz-b caahz()zma.f& St,s"{'e.yu\
©) /\/&af{?ﬁvx C«ﬁ@wzﬁu«aﬁ 5'7-;;&;4,\
f) Coartestan C@om@mﬂ:ﬁf 5757‘“»}\
2) Mone o§£ L), M), 9)) and 7).

( jo~178 T)

@Whoﬁ %ua,f,@r"a'\i }ms >< ]

the X PLdurg& QJ "H\ﬁ L 3 X-axis

TigWt
) Quadrant T

T) Quadrant 1T Y- axts
U) Quad rarxt T )
uJ) @L.La& r'a,vﬁ v

(10—17% B)

CH29DAnsther name. Sor dhe Sirst Term of

an ordered pair like (2,3), besidey o ¥—
Coor-dinate (s

A) hkjpo'(‘énotse,

[5) erﬁz'nqﬁ"{;

C) %ua&m«d’ AR
D) origqn

E) None of A),B)) C},and D),
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(lo-1755 )

@ Another name Sor the second term o% awn
orderel pair like (2,32), besides Ld-Cooerc'i[?;) s

F)abscissa
6) hypo’fé-wusﬁ
H) achma'f&

3) @I‘”L. ,;/\
K) Neone O"F F)/ 6)/ H)) QWQ 3’)'

(1o -178B)

True ov False Sor Orderel Fairs .
(2,3) # (3/1)
T) True
F) False

o - 179°T)

True or Fabes 12,93 293,47
T) True
F) Fa.((se,

(io-1798) P 2

The pomﬁé‘ P pretured

at the right 15 the point  —
L.) (1, 2) |

M) 4,2)

P) (-1)-2)

®) Nene ot LY, M)) and 'P)

n
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( lo—ii?OT)

@ The d)\‘-—ecﬁ'&@ &td‘a\f\ce Yrom O 4_"2 L) ov)

R) a-b

L) |b-al
() Nene of R), S\) TB, and U),

(1o-180 /V\\

Tkﬁ, A\rezieg d\ts-kQV\CQ &__(_)LV\ 5 j?. -2 i
the number /me, /5
A) 8
B) -8
c) A
D) -
E) Ne ne 0{ P\\)B)) C\) ank Dv.

(lo-180B)
Hq¢ ) The d\s*ou\ce, (w«@wajﬁp) on - a lme,
S;row\ o. 1o b LS
) | a=b|
8) b-a
H) a-b
o) |oth|

K) None ot F), ;6)) H), and ),



]S
(lo-1%08)
The CQ"ja»ﬂce (Lm&xrcdc@) &:/LDM 5 4 -3
on The number line is
L) 8
m) —8
&) A~

p) — <
R) None o§ L), m), &),an0 P),

(lo=181M)

T\'\& &l’;ta'\(—e— CMHQH"&&&&> L)BTUJQE-V) (’Kl)(‘(h)
on R (’)éa,tél} in the p[cm,e K

5> Aa—Y

Xa~Ki

7) (5, 4e)

u) V(-2 ) (3;8,)*

w)’}’(xa—x)% gﬂ,)”
Ky a
x) None of g), T, U)) anl W),
610—13/5)
HTDD) The distance m the plane between - 3,a)
anf (%) -
a) "H-R
| =(-3)
B FA
~34l 2-9
(A

D) Meone of A), B), anl L)
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(lo-132R)

TV\C Mt&Pm"\I be'l‘Wean o and b e

a lu‘\% LS
-b
&) agz
F) otk
L
6) Va2 b~
H) b-a
S) None % E))F)) G), and H).

A

(10-1838)
The ML&PO{M’ befween =3 and & on

the number lihe g

K) &

LY -

m) |

&) Y4

P) None of k), 1), M), and 8).

(:0—/83’M)

(5o )'T‘(\e, mi&Eot}\f be‘kwae_h (7(,,%,\ and) (XR %Q
in the plane 158 )

Q) Pa-yi

Xo-X,

0 (R k)

) (22, 918

T) a4 (y,-y ) >
L) None of @),0),'s) 0 T),
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(1o -183 M)

(503) What is the m@point w +he pl
.C—R,B) and (‘f,-é)?P plane. beficen
A) —‘f——i.ﬂ

B) N (4 )2 (- 6-3)*
¢) (‘pzii" 3_—__@_)

= -

» ("3, ZH)

o g
E) None & A, 8, Q, awd P) _

(10— 193 B)

whoi 15 the milpoiid v the plame bhetwe em
(0,0) anl ('K:‘a).

P54
¢) A2
“x~0
YRERY
) Nowe of F), G), awnd H)
(10~185 M)

whaﬁ 18 the slope between (x,
(*a:‘éa) in the P[av\e,e’? - ‘ 4r) and

Xt X +Y
©) ( ’Lﬁf)\) @%‘?‘A)

L) da— Y
Xg’xi
/V\) Y.t

Xa+4X
P) None of K), L), and ""‘-\.
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( o-135B)

whoi 1s Fhe 5\ope between (-1,2) and
(3,-4) in the plane.

Q) 72
R) ~%4

T) ~%5
U) Mone st R)) E))SB/ anf) T). |

(1o= 136 M)
@ The slope & a horréonﬁ&Q line 15

A) undef el

g 1

c) O

D) None ot A, B))av\@ c),

(10-1%68)

The 5[0Pe. o“g a \le_r‘fccaQ (ine (S
E) bm&e,%meag
F) 4
&) ©
H) None 6% E), F), and G).



|39
(lo-1% )
T\(\e_ slopc o‘? the line loa'fwae,y\
(1D and (1,2) is
J) O
K) (4, 42)

A) 5

L) 1 e g
N\\ wy\&e, ine
&) None o1 -5)) H) LB) and) M) :

(1p-L37T)

Parallel lines have

2 sl Sl are the negahe recpnocas

@) Slope,s both e_?wd) ts 41 alwcujs

R) the sawme slope

s) slopes Hhat are the r\eﬂai' ire of ead, Sther
T) Nere o8 £), 0); R), awa 9.

(to=(37m)
@swpes OF PERPENDICULAR LINES PRE THE
O) sSAmE
() RECIPRoCAL 6F EACH OTHER
X) THE NEGATIWE OF EACH OTHER

=) Mowe oF V), w), AND X)




|40
(lo-(87B)

SwPPege, the %\u\en l\he "ms slepe "‘5/'7,77\8

slope of the line perpendiculon to it s
h) =77
B) 2%
z
D) ~Z&
E) None st A), B), C), and D),

(10-18"7 B

The slope of the quen line 15 =2, The
slope ot the line PQPP&VS\QICLLQM to T (s
F) -2
G) A&
B) L/;

3) “Va
K) NOV\a OS{ F)) 6)) H)) QV\@ —J)

(1o —1 37 B) .
The s/ope ot the wen 1y
slope ot the PL\‘Y'HL Parpa&lcwejﬁmfolsdslisme

L) 3

m) -3

e) 4

P) —% ‘

R) NMone O‘? L)) M)) 8))@“@ P)
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| (ID‘IS%T)

(515 YTrue or Falee 1 For o sJMa'L@r\A‘k lwne wth
_Presr‘twe, 6Lope,) Qas \«@w ‘%0 1o the Y‘L%\/d (dou
qo  Uphil
T) Trut

'F) Fo,Ls'e.

(1o - 188 B)

Trae or Fa,lst ‘ ~~Fov- o- i‘t/\(u%\,\f lme,
Gt neaatwe slope as you g0 o the
V’\%\fd %oi %o u{ﬂm\\

T Trut
F) Fo,l,se_

(10 -139T)

@ A e 6’6965 ‘H{\roug\/\ +\/\& Peln'\' CI,A)
o o %\OPQ % . Av\oﬂU‘ Fotn"t ow Tthe lme,
s (6,3), What is 367.

s) -
T) 7
v) 5

w) Non; o {SX)T))QW&U)_ |



(9 9
(19-1347T)

A lne %965 'HM‘OLA@‘/\ “H\e. Pomf (’/Q)
wtth slope = | Ancther an'f on the

line s (F/_D‘ What 15 P_7.

R) -+
- B) 6
c) —2

D) Nene og A), B))aw& C). |
©)

(16 - 1328) (h
Conster The ‘{'/uangle L A

ot the vght, A Way g
o S'nou_') t » '/"Acavxg,@.
1S a m%kf ’l‘rto.r\%ke LS H

E) Yo show Q= L+H

F) 1o show the slope of L 1 Hie
V\e%cd‘we, of +he SL@,A@ o5 H .

G) To show the SLOPQ of L e%}mﬁ
the slepe o\ H )

H) 1o show the ‘SLop& OSQ L ’lsy ’H'\e,
V\S‘ Five ecipnocal of the slope
ox H. |
J) None 0‘? ‘E),F)) G%QW&H)

——

CLI*)"I.)
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(lo-1a]1 ™M)

Twe Pollrﬁ'— s\wpe, e%uciwn go‘/‘ 0N 'W'\ﬁ
‘H!\V\‘OLL%\'\_H\Q porAT (),y,) with slope ™ Ls
Kj (x—k,):m(%—%,)

L) ®+y)=wm Cxtyy)

M) (y,mx ) = (-x)

e) Lé-é“ = VVL('K"’?C})

P) Neone of K), L), M), and &),

(1o-LalB)

An e_%’u.Jzon $or the line H\P@%ﬁh

(2,-3) witw slope 5 43
@) y-a=5(x=(-3)
R) %-(—3): 5(%a)
s) x-A = S(,“Q-C—B))
T) None ot ®), R\)Ctmﬁ 5).

(to-talB)

Tlf\e, P/gfotqj'ton 3-6—3):5(76—2)

/s an eduation Sor The l/ne with
A) slope 5 ‘f‘hwou.%l,\ (3,-2)

B) slope 5 f’Aro%gL\(_l)B)

Q) shpe 5 through (2,-3)

D) 5/0;7@ *_%— ‘I,Lh‘r—oualz\(;l) '3)

E) None of A),8), ), and D) .
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(/o ~/92. M)

@ As defined in the ’f'ex’t‘) S+QWQMQ

form %9‘*:0\!\ Q%u&itbv\ of a line 1S
Cwith evther YA4p or R£0)

F) Ax+ By=C

@) Ax+tBytc =0

A ) Y = vyt b

;3‘) %-31—. MCK"K;)

k) None o F), 6)) H\/QV\Q -J)d

(10-19aT)
@ Whicw e udcot/\ below s In Jan&a.—&
%OF'N\ %O\" AN eﬂ/udtoy\ %Of\ a [lﬂQ ?

L) 4 - (-3) =5(x-2)
m) oy (-3) = TE (xg)

5-2
6) y="ZxeQ
P —Sx+ Y t(3=0
) 4¢3 ¢
- |

| S) Mone O‘C: L); N\), 9)3 P)_) and) /0.



[95

reph
‘ the 1
\LOUJ.LV)a LS
/93 rv\)j; ‘H@ %9 )
(/Ow‘ll;\g = ¢ (jcmo)

2K ;

\ C0)3) ,

ol S
v)

w)

X)

.



(46
(o -193)

ﬂ'\e A raph al the

\"L%\f\t £ 'H\a %V‘duplr\ Of
A) Brt+Ady=0
B) 33Xty = Y E
) Px+ady= 6
D) 9~‘X.-£?>LQ=O
E) &x-éB% = 6

\{(D\IQ)‘K
(3)0) ,

F) N one O'Q -P\)) B})C\) D))QV\Q E\.

(o ~124T)

The A- P“”“’Ut ééiybmilo;’) Cor a IIV\Q,

throughh (21,9, ahd (Xaga) i
G) Y=Y = Xl (x-x,)

45-9

H) g dt~ -—ii:g: (ZC—ZCI)

j)' da"d. - M(Xé‘

t,)

© yomyt AL Geaoxy)
I»_.) None ot 6)) H), _5)} CU’VQK)



(2"
[1D-(9% M)
The engzﬁ’zbvx %]—(-3): z'_ ;3)&—2)

15 Awn &q,bcdlo"\ ‘Far -H/Le_ /me, 'Z'hr‘ouglz\
/v\> (-3, ) a5, '7)

8) (2y-3) anl (7,5)

P) (-3,3) ad (-5,-7)

R) (2,-3) and(5,7)

S) None O-Q M)) 8’)) 7D)/ QY\LQ R) .

( 10 -194 B) |
The 2 q,afzon LJ+3=%O’(7<-R) put
in standlard Sorm s
T) Lx+y= 2
v) ~E& Kty = "2
W) TBry” g

x) Lrry="2%
2) None, of T)) U))(/J)) _Q"\Q K).




(13
(1o-tasT)

(530) What s the

26 infercept For the

| q/\gqa,l,\ Cgﬁ t+he Y"L%l/\I 7
H) (0,X)
B) (3,0)

(lo-14ST)

@ Whet ts the
| lj—t\m‘t'e.rce,{)it Sor the 5
gnap ph ot the V*L%L\X

Pm) (0,2)
B) (3,0)

(10— 195 M)

(3 )

1
|G\

(533) what ¢s +h& s~ infercept For

3K - Lé%
¢) (1A o)
| )[4{,0)
g) (0)%)
F) (0,-3)
c) (3,0

LLQ /\ione, OQ Cﬁ) D)) E)) F)ICM‘A2 6)‘
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(le-tas B)
(533 what 1s the 5—iﬂ‘f&rcep"f' Yor

3%-46,:/9\7.

2) (o0,-3)

K) (-3,0)

L% éf{/))

8) Nome of ), K), )2 ).

 (jo-135M)
-wha‘f the < ope- Mi-ei‘cepj' é%ud’w.h
Zor a line?
f) Y- 8 =m(x-%X,)
Q) ¢d=m><+1>
R) ﬂx—tB%-bc-o
s) AxtBy=C
T) None ot P), @), R, and S).,

(10 -/125 B)
@ Axt39=6 put 5/o,oa e rcepd
Lo -\ 1S
U) Y= Z Kt
__—Zl
L) %4 x-Q
x) Yy 3 Xt

| z) /\/arza 0{ U)/ ); av\& X).



2. o O

(16—/268)

What s The slope 'Q)r 27@-&33_-;6 2

A)%l

c) ~%3
D) ~%a

E) None &f A), B), €), and ).

(1o -1968)
What /5 YL/)P, g-—/.nj‘erce/d ?or'
| y = ktd ?

A) (0,2)
B) (2,0)
O (%,0)

p) (0,-%)
) /U;n:o‘§ A), B), ), aul D) .

(10-197T)

(G 33D What 1s the slope ot Hhe line

P“’Pa"&‘c'JM To “Yxt 3%2 (27
F)~%
c) %
0) 2%
I) % | .
K) None of F)) @)) H))a\,\g '5‘)-‘



L0 |
((0—1971T)
<:::2)U)Kdt13 N e%uafwmkg%r-fhe [ine
~pendic wlen =
perpendgicuten To fo+3%_/;l Fhat passes
'{’[/\,rvgui%l,\ C"'R,S)7 | A
L) q-a=—%(x-5)
N\> 8*5: _f{/_g(%"(’l))
&) y-s = %éé - (-2))
P) 9,-—(—1.)=371(K-—S)
R) Mone &f L), m) , .9'), and P)

(10127 8) .
Pa'ﬁél/\ -5 < é‘x‘l‘__é_— [V\‘lLo JCH\.QMQ

c d 8 “ %

oM Can awe,

-2 ~ 13

) ~Zx 9T R

T) -—-%7( +ﬁ,:}‘4;

V) Erty =

W) Nowe of 5), T), aud v),

(w-193T) |
GAD A form Eor ahorigortel line equation 1
A) x=K |
5) %::b
c) x=0 |
2) Nome 0% A) B) and ©).
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(lo-198m) |
Pm e%‘,{aj,?on Qor ‘Hﬂ, homaon‘fd {H’[f,
~ow (2,3) 1Is |
E) 2= o
F) x=3
6) %'
y = = 3

'é') Mone o": E), F), G) and H)
(10—19% B)

@ A Jtﬂ‘crm ?or a Ver‘h me, e%ud‘on L8
K) x=K
L) Q“b
M) 4= o
©) None ot KE) L—\) and Mj ,

(10-199T)

- PIV\ a%uafwn Sor YL/LQ, Ve,r’héaQ /lnﬁ
‘h?\r—ot-t.é(lf\ (R,3) /5
1") x=A
Q) X=3
R Y=
3) Y=3
T) Mone of P Q> RB andl 33
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(lo-199 B)

@—ma ?Ve%uafboh 0x+i~d =3 s‘[’&&q,\@
—?wﬂv\ or :
) o vVertical line ‘Hf\rveual/\ (3,3)

b)) e \/\ort”éov\.faﬁ line .'H\'”Du.ai\ (3,3)
Xx) a vertical line through (1,3)
z) None of V), w), ad X),

(1o—1%99 B)

9@ The. eg,_uaj?ov\ Lx+ 08 = /s
S awﬁé\r&- Yorm ‘?m— |

A) a \/e'v-"hc'o\_Q L1 "Hl\l"'oual/\ (4)3)
B) & L’\omaohfa—a /e ‘H\rou%l\ ChA)
) a \/Q_r*‘f'LchQ. [ine ‘H/\f"&u,&lf\ Cha)
D) Mone of R), B),anf ),

(to=201m)

Standard Sorm Q’ar an ef‘ua:bon Sor

a cirede with center ChiK)
A

E) (x- K)z-%((d—‘h)?’: P~

F) (x-R)™4(g-g)*= A

6) (x—h)a+(td—(<)%=fv7

H) (Y'K)l*‘/«g-/\)l-‘- >

'J) Nane. °¥ E), F)) G)IQKQ H)

CLWQ V‘athu,g ™
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(h-201B)

stale the cevler and radiug 0‘6

+he Qwrdle (g - g\};‘-t. CLd +3) = Y4
K\ QQV\’tU' (2)-3) anl valius o
L) Ce,v:te..(\ ("1)3) Q\/\_& PQQI(LS L{
M) center(3,-3) andd rafiug 2
p) center(-2,3) and radius 2
P) None of KY, L-),N\),CU\(Q (9).

(1\-2018)

Glue awn é-{b,u&j—/ow ‘For ‘ILI'LQ ‘CWJ@

T orth cenden~ (2,-3) and vradius 2
&) (x—}fwadw}&:‘f
R) (x-2)*+(y+m)*=%
3) (x4X)+ (y-)* =4
D ()P (y-3)" = |
L) None o8 @), R), $),anl T),

(1\-20aT) |
@ AV\ 1< uéxftovx _?OP _IL’\Q_ C—U"C;lﬁ. w&\,\
C—ézhj_tr‘ \(O/O) an radiug 3 LS

A) X ¢ «62": 3

B)Xl-écdz':
Q) xty * 2
D) x+y =1

£) None of A), B), ©,anl D)
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(1L - zoa M)

Baamvxma s’\‘aps geor Pwﬁ/txj |

)
2X +9~'a7’—/27t—t510%—-3050 In d@nc@u&)

g:m*-w\ ar-e
KR eyt-bx +/0g ~ISFO

C(xP-dx )t (yTe0y )=4S
| Whichh 15 a correct next sfe,/oz

F) ™= éx +34)+Z'37’4/021+/00) =15

) (x*=bx+q) +(§ t0y +35) = /5
H)(x=éx -7) +(ytHl0g+as) =5+ 140
3) (’Zz—é’h-{-?) + (%3\4/0% +;S): | 5+9+2AS
) None of F),6), H),and 7).

wt’%(d« ok the gouowtnj Sollows Qr'om
(x’\-é?c{—‘i) +( (%luo(a 1a5)= (S tT+28 T
L) (x-3)*+(y+5)s 49
m) (x3)+ly+8) ==
é) @-9)"+ ( %*35}1—;"_‘7
p) (x-6)T+(yt@)" =T
R) None of L), M), &), and P).
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_ (1t-2028,203T)

=y 2
(553) Sq,ppgse, 426‘3)+[La-t5) = 49, What
/5 the center amd radiws?
s) Ce%+¢’(3)'5) eend radivs 49

T) center (3=5) an radis 7
v) center (—3,5) and rabws 49

w) cerler (—3,5) anl vTalws T
x) None of 3),T), U), ank w) |

Cll- 203 M)

@ Bejz’nnina $+Q-'P5 ‘For Pu‘H’IVi

3%t 3%_9‘—&5'7(—"):3—‘7:0 n sTandard
;or*rv\ ar<
x4 (.&24-—%‘—-—&—-;-2—3-3:0
7 2
(«™5x )+(o(\—3‘a >‘~'3‘
u)kai $ a Corprect next sfe/a 7
2, 5 z B
A) (x +gx*3§)+/;} §9+%2) =3
B) (xz*%x+%)—r(%z—%g+'%):3r’%—”%
25 2 4 - 105, 25
C)(xz-f%x"f‘-j—g)‘f(a -%‘%-{- %)“-52"'%-(;-{-%6

3
- 2 4o\
D) ()(Z-f%x-f%)-t (% —Z_,_;td-f /;2\ ,%E.Q.%sz_%

E) Mone oF A), B), D), and D)



2077
(L{~203 MB)

@ Whed needs ‘Z’o be added *to

’Jc —+-3—7¢ o make tir a Per&cﬁ SQ[LLQFQ,?

F) ac.,f
c) 25
H) ._2
3) Nont Og F)) G),CLMQ H)

(u 203 M, B)
- Loh o need)s o be added %o
% -—-——‘6( to ma ke rl‘ o Pe,r—'Ged Sgrqape,7
K) —ii

79 Nowe, o‘? K) L)) M)) ol &),

((I—Z_OBB)
4t -%yq+ & =
@) (tgt——/)‘l |
R (y-%)"
s) (y /)';L
T) /\/avxe, & R)), R), and 5)
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(tl- 202 8)

P +Zx+57 =
v) (x+% )
-y

x) (x*%)
2) Mone ot U) (JJ) and X)

( (- .03 B, R04T)

Wha‘k 18 The \—az,Qu,cs '@or +he Circele
x-f._« (13 ____Z) /39\

P)) /S’R
B) ’7’75‘

/39\
c) %
p) Mone of ), 8), mf )

- C 11— 30% M)
-bul.'\aff (s the d@(\@:k O_Q é(.—l) +(<3-—3) o
E) A Pom‘t
F)) A cuirele
6) No graph
H) A l?&%,
| 3-) None O{ E)) F)) 6)) anl H)



wkd ‘s zL/\e, %M ph o
(e-[-21) ("‘ )
K) A Potm-t :

L) A Crede
M) No grar ph

&) None of K) L—))Q"“Q M)

(1l-203T) | -
(Gea) what 15 the qraph of (-3 ily-ra)z 7™
P) A pouit ¢ k)=
% A C\N/(f_ |
No qrap Ph
s) A line
T) None of P), @), R), and S).

(1- 204 M)

. Name a P"“’j on The %Y‘GLPL\ '{:
T (x-1) +(%—3) =0,
) Gi3)
W) (1,3
X) There Ora ho pom’ts on He %NL‘PL\
E.) None ot U) w) anf) X\



ALlO
(11-2048)

.whc& LS'H\Q%I"O.PL\ & (% - {) (‘é 3)_.__10 %
H) A om‘\
8) A C\Pc\t
¢) Neo ‘V";Ph
D) A Line
C) None of H‘) B) C) and D)

(W~ 206T)

56S )Name an e m_ﬁ'ton whese W
CKI’LCLP\’\ 15 'HM; carack\ ot the r lgk‘t x
F') X = % N I
G) x=-Y q
H) 4=%x", |
J) 4=7X
<) None of E), ), H),anl 7).

(il— 206 M) | : !

@I\}ama QN eﬁﬁua*(Oﬂ L/Jl'\ase

er'-aLM\ s i\& f&rapk ot the raght. /

L) %=4

N\) x == . ‘d‘
&) y=X
P) @:‘xg

R) Nene of L), Mb &)jand P)
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(Ll-206B)
@ Name an '&30%65654’\ whose

%\*o.p\/\ 15 the %F‘QPL\ <t the right. _ _x
s) k=4~ . | |
T) x=-Y 4
O) YEXT
W) 47 ~% 0w)
X) None o5 5)/;7’)‘) U),a ,

(- 206B) é\s |
| M )

Sé% Name an e ux&ﬂlén u)hose
o(\a{ﬂ\ 1s Hhe %“ﬁ"‘ ot Hhe Nakf.
AN

A) X794 y
8) 2<’=";§l
¢) %:K 2

==X |
\DE)) LIS@V\Q« of A), B)) e, W& D).

(11~ 2978)

whal s the verlex and axus ot

| 5‘3MN\217'10'? lé:(x-,);’j‘_g\ ’? ,
F) \/e.r'fa& s (1)) anfl axes d'F\Sfamme:l’rg (S ‘3—-—9\ ’
G) Vertex s (//})QNQ ax:s O{stdmmdra 6 = 1.
H) vertex s (—1,’&)aw9a'm o sdmme:l'rd s x=-1.
3) vertex zs(—/;&} anl axig & 5%mme.+r~3 s %:.—;\‘



L
(- 203T) |

-w\/\o‘ﬁ s the verfex and axis of
52!M/VL€.+I‘J o{ % = (ngop\-(- 3 ?
K) vertfex (2,3) anl axis o% sgmm.Ls =4

l—) V?«P‘fax (0?13) ond axss a'? SgMmMs 1S y= 3
M) Vertex (‘2.3) ong axu o Symm. LS *E =2

9) Vertu (—2,3)%\9 ayis o‘g S{mm. s %723,
CP) Mone os k), L), M), and &) |

(l-20% M) |

(5710 what 13 the vertex anf axis of
7MML‘1L/~»0 G‘G % - —(7(—/)&-}.2\ Z

62) ver‘fax (—1,2) an axis o Symm, s v = -,

R) Vertex (-0 and axis of Sgmm.

5) verfex ( 1,-3) anl axs

| o Symm. 1 p=-
T) vertex (lr-a) anl axs

) Symm. S =-A
U) Nene oS &), R, 53)@\497). (a

(11-20% B)
what 15 +he VM‘?LQK .For 1= ({3—/)5({_4 ?
A) (1)
B (12)
ANGIYY
) ‘Car’/) |
E) None % A, B), O, anf D),
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(Il -20% 8)

@wb\cj s The axi:s G‘F S«dmme"{'ra ‘For
x=(y-1) % ? | |

F) y=2
G) £=4
H) 9=/
=) 3-“-“ | |
k) =& 0
L_) .Nane, O‘? F))G)} H)/ T))Q K)'

(11- 2097T) | .
what is the vertex for x:(cé-fa)-/,-g e
m) (-3,3)
&) (3)-3)
P) (3,2)

®) ()3 |
R) Nene o5 M), &)) P)) anf Q).

(L= D«ﬁT)
@ whet i« the axis ot S%W\M&'l'rj for
| = (ye3)ed 7

w) v - |
X) Nan& O'q 53)7)} U)) _QV\.& (,U),



KUY
(=269 T)
(5‘7é>wf/\cd' L6 the \/er-'fex ?or‘ xX = (%H) -3 ?
A) (.11'3)
B) (-3, l)
c) (-h3)

D (-3~ ‘
E) Nene o5 A), é)) c), ank) D)‘

(i~ 209 T)

-tulz\ai A3 {‘lqe, axss O‘P Scdmma‘h'*'a 'C’"“
x = ((g-el) -3 7

K) Mone ot F)) G)/ ﬁ)/ and 3),

(1~ 209 M)
5’23 What ¢s the Ver‘('e,)( ‘Faf' A= "(‘3")

L‘) (2)1)
Sy Cha)
@) (——1;9-)

P (371
@) None oS LJ M\) 9);@*\9@



ALS
(\-209m)

.whcft 1S ‘I’LLL CU(LS @'Q Samme‘trj gor
x—-(%/)
R) x=2
s) 4=
T) 9=/
v) y=-I
w) Mone oF RY, S))T)/ng U).

__(tt-2098)
@ what s the vertex Qor ?c--(g l) - 7
A (-2,1)
B ()-32)
c) €30
D) C"[)-l)
E) None o5 A), B), O),and D).

(i1l-2098)

What 15 ‘{’h& AX S O‘Q S%MMQ'[‘NW ?or*
x= =(Y- y-a

W
A
N

L) Nore ot F),6), H),T), and K).
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(li=alo M) [ Y=x

G3D At the right are

3 Paraho [a.s

Poralopla B s -H\e,
%rcqa\r\ ok

Whieh s ike, %rmp\\
oS =L
R

A) A
O ¢

e
(1l-atom)

CEB3 DM the bt

Are 3 parabelas,
Pa~abela B [_5 'fke,

Graph of Y=x
lhich s -Hme_ C&r'apk o‘?
Y= T

A) A
c)¢




AL
(| =auT)

At the l‘cau s aQ
parabola that opens
wp, with vertex (6,4).
Pl ID) 15 @ pourd: on the
Parabola . Whel are the |

ng r'P&énafm) %ﬂ@ S%W\meﬂ'rt'c Par‘fner‘ (Q
m) (5,10)
e) (6)0)
p) (1110)

R) (o
5% Narile_)o"? /"\3, 9)) 'P)).QV\,Q R)

(i-2118) -
Tke, %r—a.p\r\ 0'? &: fo&_ léx +13 15

a. Pa,ra\bo\a‘ ‘W\ai ePMS wf w rth Ve.r—fe)g
(g).'—_g)‘ whidh 15 a Pa\‘r ot sammeﬁmc
pcud’ne,r’-s?

T) (0,13) and @ B)

U) (o) (3) and 6_3//3)

bJ) (01(3) and ("6)[“3)

) (0)13) a8 (4)13)

2) None of T), U), W), a8 ).



213
(ll-2n8)
The, c&raP\/\ o «3: L‘fxg‘—léx-z-lB IS

a paraboa Thal opens wp with vertex &
(-3 . The ?otvﬁ (\)qy) is on the parabolq
The saw\me‘\'na partner N Cl’clr) I ]
Ay (H)13)

8) (1,3)

¢ (351)

DYC1) 1)

E) (11 X)

F) (a1
G) NOV\G O% ‘R\) \B)) C)) Dw) Ey) CU/\g F)a

(1 -21\B)

T\/\e rcx]o\/\ &Y b&-‘: l—-fxp\..[éx_ﬂg 15 a

Al \DD a \
(P: g) }Sl &Jv Jw?tpem up with vertex (2,-3)
) | Poiak own +he Pau‘abotq . The ’
sammefmu, Pav:YV\e,\f’ ok Cﬁ')lB) 15

H) (2)13)

) (0,13)

K) (1) 1)

L) @l‘i)

M) (1, 13)

9) Nene O'Q \'\\)’J\) K\) LJ, and N\)
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(\\—alaT)

wh\d" 0% Q\’te Sgo\\owlhj 1S Sja\/\chmQ Fo,’-m
or o parabola. T\Wwat . . th ve
Ch)k\?P oS>0 opens Lp A verlex
F) q = OL(’)C-)’\)D\_;K
Q) 4= a( %-K)® + A
RY = aly-k) +h
S) zém(%—mwx
T) Nene of '#),@), R),anf ),

(L1-212T)
wh“'\'\ of the Seo [Lows Mf) PAS $+aV\cQo,r~Q gomy\

gg;)i)p%raoﬁoéob that o pens le€T o\t vertex

v) La:a(zc—h):{{'t(
W) %:a(x—K)zH'\
x) 2= aly-K)4h
S)X:alg—h)zﬂi
2) None 05 L), w), X), and ta) )

(LL-2alaB)
whaﬁ b the verTex Sor 6: %(2‘2)9\—3 ?

ﬂ) (-2,3)

8 (23)

c) (-3,2)

D) (3,-2)

g) (-2,-3)

F) (-3,-2)

G) Neone 6‘% {-ﬂ, B\)C), m) E\;Q»\D ‘r—).



XA D
Cll-2128)
U)"KD?US 'fﬁ}e axi(s 0"1: 53mm€f’r\3 'For
Y= H(x-2)=3 ?
H) x=-3
g) x=-2

P‘) None og H>)U)).K\) L)J ME, & &

Cll- 120 ™)

wh 1ch W ay does +he pqr'aé)o[a
é. = Lf(Z—JD&‘ 3 open 2
®) Up
R) dewn
3) T'L%\I\I
™) le £

(11-214T)
E2D which way does the para bola

9’ = 3261“" 307(4—'7‘2 &PQ.V\ _7



22 )
(-awt)
To &g tn 'l.'o PJ %: 27(1«302(-6’77

wmts standard '?@V'W\ Sor & 'PO»Y‘"GL[O!?\C\,
vewrte the eg},ua/‘&om +2

4=3( DR
The valur instde the Par&m“'l/\eseé /s
A) x*-30x
B) 757'—30x+7}_;
) xT-/0x

D) x=-lo
E)) Mone ot A)) B)) C\/ qunf ‘D),
(-2 TyM)

T‘-’ put 4= BKZ'BOK{'PH ity standard
oo For o ar-abo[q)ﬂpd' factor

6: 3(7CZ“ /0x > +_7?\
The next line /5"7‘0 complet® the square
pr&perlta/. Whieh below Ls COV'I\Q,C(:

F) y = 3(1*-l0x +25) +71
6) y = 3 (x5-10X +l§>+75-ﬁ-77

H) y=3 [x*- 10x+as) =75 77
3) y = 3 ( x*- (0% —25) =75 +77

£) y = 3 (;(7’— (D% +(00 ) - 300 +77
L) Wone of F), &), H), 3),anl K).
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(1 -214)

w‘/\id«x wa;ua cﬁoes 'H/\a ,Déu”qbo(q
Y= 3(x-5)"+ 4 open 7
M) wp

&) down
p) ruight
R) led

le—;zHB)

What 13 the VerTex 'Fw- the

quaboh 8 = 3 [7(,5)2_[_ > 7
s)(5,-4)

T) (5,4)

V) (4)5)

LJ) (“‘f)jf

x) (-54

2.)) Mone ot s), 1), U)) W); Qnl X).

(11 -R14)

&/AaT /5 YLAa Ve,wfe,x {;r the

para bola 3: 3;(2__ 30x+ 757
P\) Clr3)
B) (-30,19)
c') (5_1"/)
D) C"L(vf)
£)(45)
F)(54)
6) -5, L/)
H) ( ¢, =S)
3) None of A), 8),0), D), €E), F),6), and H),
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(11-21sT)
(GagD> whet 15 the axis 2 ngmcfrﬁ
‘f@" y= 3(%- 5) %y
K) %=5

=5
QP)) /%ane, sk ) D)M))MQM’

(11- 215T)
O A pa\r O'Q 5?W\m€,{'mL PCU‘%V\@—H «For

g = 3(x- 5) t4 s

R ) (0,4) and (/0)‘1‘)

R) (0,79 and (5,79)

s) (0,75) a0 (575)

r) [079) al (10;79)

L) MNene of R) R)) s), anl T).

{//-;ezs?)
To.f,be‘m + Pui xX= _3% LOL N, ln:to |
STGLV\OQCU"& ‘\:orm '?OT’ a Parabolq, lr‘s/'t J\:"cujo{‘

1o = —2( )._[7 The value
Inside +he Pareni'heses i$

7‘)) —/2(3,

B8) 43 — éLd—

c) 43 ey

D) None of A), B),anl C),



AA¢
([(-215B, 216 T)

CoDTo put x=-24=134=17 e Tandard
Sorm Yor o Parab;éa) %u‘ﬂ %ac:kor o %é:\'
o x= —;(8% by )-17 .

R corred next step is

E) x=-2 (‘32+é‘3 #3¢)=17
F) &= —Q(aai-té(a +9) =1-17
&) x= -algreyq)—isTl7
H) x=-2/( R-{-ésg +q)+(% =11
Q’) None &% E), F), 6))O~NQ H},

CLL=216 M)

2
whoi (s The V&FJ[Q;( gor‘ X = —,1(%463) +] 7
K) (3,1)
L) (u3)
N\B (-3 ')
&) (1-3)
P) NOV\E. O.( K\) I"’\) M)) QW& 6).

(U =2l M)
thoj 5 ﬂle, axes O¥ s«amme_‘['ma '?or
%’-"—"QZ@+3)1+./
Q) x=3
R) x=-3

x= 1
5)) Neone ot @) R), <), T) ) andd U)



. A2AS
(=216 m,B) -

_T\!\e, Par&ho\@ ?C=_9\(l.af3)2+/ @}Dey\j

Cll-216 B)

For the 7’041‘450/4 xX= -?;Zaqa‘_/gta_["]j

The \Je,v-‘te.x LS Cl,~3) and « Pomi own
the parabola s (~17,0)  Name The
Sa mmeTnic )DaFtne,r s\ (—[7}0)

E) (-17,-¢) |

F) (-17)-3)

Gc) (11,0)

t;% ,\fo'}\z) 0§ E), F), G), and H),

(1-217 1) 3
 For the parabola x= ay +b¢a+ <,
with & <O, the parabola opens
k) up |
L) Aown
M) gkt
B) ekt
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(h-2177T7)

For The Pa;——a‘oo\a Y= qxg‘-t BX%C)
e\ a<o, the quqbb\a opens

P) up
®) down

L) V‘Lg\rd’
s) le§t

(V=218T) |

A SuncRion 1s a seb o ordered
pairs such +hat |
T) Nno 'fwo‘ eche,reQ Palr_'s' "\aue "H\e sameé.
second term. - |
U) no two ordered PCH'T:‘-J h ave the Same
Sirsk term .

L.u) each Sk 't‘ewv\_ 15 e ved umbe ~ omD
 €ach second Yerm 15 & veald number

X) None & TX, U), ag\Q w)
(=218 T)

TrLLe_ 0V'Fa(5é,: %: E(l,%}) (g,gj/ (5,4,)}

e oo SunLion
) Truwe
F) False
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(V2-218T)

@D True or False 1313),(3), 413 15 a

wa(%LOV\ :
T) True
F) False

(12 -Alg B)

Tru(e or FZL‘S«&: g(l,S)J (&,ﬂ)(/,g)j 15 a
’?uv\ciwl/\'

(12-21% B)

T or False -
5 r;ua Fm:@zie;. { (A,3), [B,ﬂ,;@)} ((x3),15 Z)}
T)True

F) False
(12-218 M)

@ whaf Can ﬂ/\e lo\avx"\ 2(1:5)1@"7))("‘)8)}
\_’_’____”

be tillef n with <o that the set s
_[‘_?1 a ’?uh(ﬁLDm .

A) 1

8) 3

c) &

b) 7

E) None ot AY, B), ), and D),



2 A3
({a-2197T)
'\‘u\'\a seT of all ‘?\rﬁ '['erm_g o q‘gumﬁo}q

F) §(x)
6) '\‘\/\e. &Oma.w'\
) the range
J} ovxe.—’l'a—owﬁ
k) None of F)) G)) H)) and 3’3-

(12a-a197T) |
T\f\e. 56‘1L o{ all secon® terms o‘?‘ e
Sunction § s |

L) §F )
) the deomain

o) the Yange
p) one-To-one

&Y Neme of L), m), &), anl P)

(12.-2197T)

whic,\:\ ot the ‘?o\\owma g:u.vxcftows has
Homain {1,2,93? |

S) § ¢, (4N

) 2(7,13)(5,2))(‘1,%}

V) {(2,1\,(4,0}‘ |

W) $0), (208), ¢4 ¢

)() None,»o'g S\ff)) U\) and w)
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(12-214T)

w\/xtb\/\ o The (\:uv;jcows he low

hat ‘f'&\/\ae, §3L5,’7§ ?
A) T C13), (2.9), (4,7) ]
B) 3 (3,5),(7,3)]
& 2 (310,(52),(7,4)]
D) None of M) 33) awd C,),

(12 -219 M)
WiheX 15 the domain o {013),(2,3),(5,6)7 7
) 21,2,3,5,47
r) 23)3245
6) §3,¢5
H) 31,2,5¢
T) Nene of E), F), @), ad H).

| (1a-219 B)
.whoﬁ 15 The Mange st g(l,ﬂJ (5,1)3?
AR AN 31
L\f/)Q,S‘;
M) 2t
) A

?) Nene st K) , L), M), an® &)
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(12-21986)

(.)Jtht L 'H/\e Cgomqu)\ Qor
%(A,z))Caﬁl,xz))((lﬁ)){'s}} [
Q) I A B 2% |
R) § A, B, (%3)%
s) {3)5"23)553,;
T) None o8 8)) R), auf &)

la-2198)
LAJl/\th PR 7416, V‘anﬂe ‘Q)V‘

$Ch2), (B, 11,2

e 2, 151y 2
WY §3, 12 {585

X) {3) 5""’1?/55

2 ) Mone Df ), W)) anl X7

(L2-220 m)
.@ Let $=73¢1,3)
’q) i 3J(3i5>J (%7.)5. %"(R) —
B) {57
c) (2)5)
D) 32,5%
E) Mone o #),8), ), 4.0 b)



23/
(la—:{:LDT)

(2D True or False : A Sunction ass e 1
- S Tes
each element n the & S
element m the Mange
T} Tl‘we,

:F) False

OMQ\;/\ UJ\*\/\ QV\',:' one

-

(la-o?ao T)

Suppose ¥ s a Func’fzom ank) ?a):3'
Name an elemedt of tie Sunct/on 2

F) {3}
G) 143
H) (1,3)
I) (3,1)
k) None of F)/ 6)} H)/amQ 3’).

(Ix-220M)

Suppese ¥ 15 a function amd (35)e%.
$(2) = - |
L) 5
m) 35§
&) f%si |
P) 5(21’5)5
R) Mone of L), m),8),add P),
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(12-2208)

True or Fafse ¢ IF 15 a .Pum:&oy\
and) %C')ZB ) Then (1,33)85,
T) Trae
F) Fatse,

(12-221 M)

Suppese 6(:1& er‘FMe.s a ‘Funiwn
Y\(LW\G@ ™, =
<) ? (XQ\) x) l X 15 e re,a—Qj
T) § (X")g) [ LJ=K7'}
L) 7 (9x") | y=x*]
W) 3 (?L)Lé) [ g=% g
X) None of S), T), U), and W)

(12-231 M)

Suppese y = xX* Is an e%ua:é?ey\
thaX &e{iﬂ% +he fuuction wm=
?Cx,g) M:x"}, Lhdh of the S b(gwm-é)
1< on elemend &8 W 7

R) C4,3)
£ (4,-a)
¢) (5, 13))
D) (-l
E) Nene & R)), B), C)) and D).
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(1;1—21\13)

$uppase. La=)(9“ aﬁegl\?\e‘s a %uv\dwm ™\

ANl % 15 asseciate with the S st Terms
s W, ™ (-2) =

F) v

&) -TxX

25

5\ -

<) Nene 60 F), &), HY | and 7).

(1a—-2218)

Suppese 8‘:769” a@e'pt}\u a ?und?wy\

anl x 5 asseciated withh +the §rst Terms.
Vow % 15 called Hhe

L) W\&Bpen&e\d' Variable |
W\\_ é_Qe-/De.naQenI Variabl

&) 01‘40:»'\41'&
P) Nene of LY, M\)GMJQ 8),

S“PP”& ZT-‘X;L aﬁe‘{:}\u a 'Funcjzén and

?\ L5 assoc\%RD with the seconl) Terms
| -pu)a 13 calle H,

Q) m&e.pe.vvﬂe,J vatiable

RB &Qfe,vxgemi Variable

S) abscissa

T) Nene of @), RB\ and 9),
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(1a-222 T)

For +he 'Fuvxc:e,;; Py
M (ath) = " delinet by mi=x )
A) a*+b"
B) 2a+ab
C) a* 2ab +4°
D) a*+2ab+tb”
B) None of A, B), ©), and D).

(12-222T)

@ For the 'Fun(/'f)on de‘PmecQ 69 M(K):X%
m(—Rx+() =

H) - 4x+&
T) YxZ+dxe |
K) MNene of F)/é)) z—/),qh,g g’)-

(12-222 )
For The Yunction Jle'?meﬁ Bca
PlX)= K +2x+l, pla+b)=
L) a%+b%+ 2a+ 044/
M) a%+dabe b 2q¢ 34+ /
©) a*t2ab+b +a 4 b+
P) a*tab+bratb+|
R) Nene of L, m) , &), and P)
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(12-222.8)

F'er-' fhe_ YOLLV)GZL/G;A &ﬁ 'Flvxc& bt‘j
pLE) = xRy ATl platl) =
S) x4 2%k, h ¢ 2x42he )
T) x%¢ 4ty AX+2h e
U) xt+ KT+ ax thel
) X2t 2xh 4 h*+2% 4 hy |
X) Mone of S),T)) ()))an (,u),
(t2-222 B)

For 'H'Le '?u,ncﬁzén
Pe)= P+ Azt wh
element ot P’

A) (-2,0)
B) (“'2)-'/)
¢) (-2, 1)
D) ~2,%)

E)Nene ot 7) 8) ) aud D),
(,1—;21'3/}’\)

| .@ Suppese Bh+Qt="7 de'Fm.e‘s a 'Pun;j‘(oi/\ K)

where T 15 the independent \/ari0ble | K(—ﬂ =
F) 5 |

G) \(—%5)

i) -4

I) 14 |

<) (.-it) l%\)

L) Mene of F), &), H))j))qvxﬁ K).

&6{}( V\\eco é) ‘3

ordere f) pau s an



(12-2338) 136
Suppost 34+4t=1 defines a S}w«d‘ton 3
where The m&a,ow&evd Varable s A, A(B)=
M) (-4,5)
&) (5,-4)
p) —H
IZ)) iawe_ 0‘? "\\) 9>) F)) and) RX .

(z.:L—QZM’T)
Trme,, or False: The se,‘} ot ol ordered
pairs Cxyg) ot veals that satisSies
94?'—1- ?27:/ /1S a Seu.nc/'é'/‘vv\\.

7—) True

F) False

(13- 224 M)

(D True or false: The sét A all ordered

pa irs (g,x) ot reals +h ot SCL’tzS‘FLe_.S
'x_?\-[-oaz:::l s a ‘?cme:é?on,

'T) True
'F) False

)
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f/2-225T)

TruLe, or FOLLS{’_ " \é‘: 7{9‘ &C‘P{v\e,s Q. gun&@zv‘n
when ¥ s the 'tvx&epemei Varable
T) True
'F\ Folsae

(12-225 M)

Tl‘uw or False fﬂ:gé): 1 de‘@me.s a gahj‘;"”
e

when 8 s Qssect 0 with the S st Terms .

'T\ True
F) False

For a jmpi{c Suppose 7‘}& horizontaQ

ax:s 18 QSSoctaft L rth ‘21'/1@, trfj erms,
The %I‘a,b"\ A ‘H\e. 8#410}3 o'F Q‘?meiwvs I’F

T) No ho naonﬁ@aQ line wdersects the c%mfk toice

U) No vertcal line kersects the %ra,ok foice

w) The grap(/\ does Nl vflersect the line
tazx ‘fwtge.

X) None oA T), ) ) and QJ)
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(I-2267T)
Is Hhe 8r-‘a,ob\ of )&«-4&7‘:/
Shown Cft Hae 'T'L%d the ‘%"QPL\

of a %LLV\(/‘QLOV\(Z.
¥) Ves
/\}) No

(12-224T)

Is the gra,oh o‘cm=39‘

shown dl e m%hi the

%T_QP'\ - a %cws(/'etbvs ? \\—>

74
Y) Yes | y
N) No
(1a-2aem) |
T, the graph o N
—ti/ﬁ-‘t"o'zt =7 §kowv\d‘£ \
e rightt the graph oF - -
agwxébovx ? 8 th 3\ -

, A is asseciated
y) fes (w\r\\r\ tha Qwsi')
N)NO terms t



239

(12-226B)
- Ts the vw.Ph o'(\
3o+t = '7 %wwt’) at
‘H’\Z— i ’H/Lé. r-q’pl'\
0 a?umc;twm ‘
Y) Ye.; (t /s qssoc(ajaﬁ) 4
r('bx ‘H/u. 'gtrs't
MR |t
(12-229T)
@D what 15 the tundlerstoad domais for
S = Z—Tz)x— 7
A) (—o0,-A)U(=%-3) U(-3 00
B) (—-oo, w)n(—%—s)m(—a,
&) (-=0,3) U(34)u(H40e0)
o) (- w,a) N (3,4) N (400)
E) None of A), B), ), and ]))‘
(t2-222 B)
-wAaI 15 the wnmderstood) CQDMQM -\?0,,
= 3-3x 7
F)(-<,"%]
G?) C" '/ 3/2-]
H) (-29) %
) (-°0 ~% |
k) [%,0)

L) Nene of ¥),6), H), 7), anf K).



K40
(1a-2308)

;ﬁ Auga‘%(“'o lQOK Cft O G&Y\“Pl’\ OJ{ a ‘?wwjlo\/\
\na |\

and s Aowian is &gc all the

M) u-values Where horzo =0 | +h s
| +\:§9.5e.. valuws witers aéé +he 3r;;i5 r “ﬂj'\

8) x-alues Where vert (2 Aes +h
these values lhi‘e.v*s.e,gé‘ ﬂ@?v»:;[,\ Y\&“'%L\

P) (g pates of Hhe pont e e g lerseds
The ?ra.,b/\

R) Neone &‘Fs /V\))'&)) and ,D)
Cra-230 B)

A way To /OOﬁai'H’le— ra L\O'Ea wneXio
and 5 Ol:\g range i To qét Btl*tf\)/\c Tenction
S_}h(axzﬁtjv}qic&tfs o% the Potv\,fs there éd:,c l;r\jerseaﬁ'

) Y-veluss where forisontal Dine, thiougl
tese values ytrset e Praph

) X-Values there eyt iof A, 4
these \Values InTersest _{E;L:‘% way;é\. I”&q#,\
L:J) Nene of 5))7-}/ anf U),

(la-231T)

.@ What 2 —Hte domain T
For the ‘?L/ngi'wn S

-

the bt
2)) [31;6] |
8 0,31

C.) EIISJ

g% /\E)on“f M)B)) C}) anf D).




QY |

(19\-13[7‘,-\) -

.@whc{tuﬂamﬂa >

of the Sunction at 3 2":"
The rigit 7 ,

F) 0,2)

6) T3 5]

H) [,5] .
3) Leo)s5]

K) Mone of ), &), \-\)/ an )

Cia-231 M) |

2
what s the domain
-H"\e« %LLV\JLOV\ q'—r R R

“the righd ?

L) El,:? ‘ "
) [o;&
| 2) 0,'53

5 .
pll (,3)\9\'\@]0{ LY, M\) 9) \ and P) ‘

(ta-231 M)

u.)ha:f 1s the

mangé o{ the %%n(:béy\

s) (2,5]
) (1,51
v) T-1,3)
L) -1, 1]
x) [-1,5]




242
(1a-2327T)

Tke Fange for S;O<)=XX—‘7'2<+7 15
Chut qraph SuncBion)
A) (2)3)
8) [z,3]
c) [gye0)
D) [3,00)

E) Neone ot A)) B)) c)/QWQD)

(/2-2328)
75 ‘Ftnﬂ 'Z%e, Pange a‘F ’P(X): XZ—‘fx{-—7
the alﬁeérai¢ 52"2,;5
(x-2)*z0
(x-2)"4320+3
xt-4x+4+3= 3
help vrevesl the range + Lo
F) (~o,3]
c) [7,02)
H) [3,00)

-QL;% /\[/Z’njg{ F), é)/.H)) and T).

({2-233T,M) - .
% find the Fange O.P S NE %2%5\ ) séf %2%&),
T selve for x| anl) see the Fange to bo

L) Lyl a*ﬁ%

m) 3y [ g+74a5

2) 2% !34’%?

P) 5yl y#al
R%N%vu&éo{ LW)M\)B),av»Q P).
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(12-233T;m)

@ed Let 4 = 2%,
s) 24\ Be H
T) 24a-!
3@-}3.
w) Nane, d{ $)), T), and U)
(/2-236T)

)z Bxel 1F x=2

=—2AX IF X< $6) =

A) -6
B) /o
c) 7
D) Mone ot A), B) aul )

(L2~ 236"()

‘?QQ = 3x+] IF k224 %(_4):

= — 3K lF X<

E) -1l
F) -3
g) —¢%

H) Mene ot E), F), andl G)



24y ]‘
7T 8 (1)

(12-236,237) 1T

I 1
&JAU,A of the ‘chcizous T Graph o <

Aot inel below has the L

3”‘”‘ at the rigict \_ precewist defimed

/

S) ey b5 uF x?;)\l N T
= x-b6 IF LA 4

_ —"l—il-

K) {%’oq: Ux-|  IF xZ2 }
= ax-% IF X< XN

L) %‘Eac\--Bm ¥ xzag
= AKX F x< 4

(2%

(i2-2378)

FH +he mélr\i 15 the
%r'cth a{ CLQ(,LV\Lﬁle\ g

S thaX voas &E'GLQ\%

PL@(_&UJ L5C .
whal s the

ranqe of

M) (—e8,02)

&) (2,7)

p) (——'«[)oa)

R) C.,L,l)’7) |
s) (7,00) |
T) MNone o\ N\},&)) )o)) R),aﬁé) S)"




A4S
(12-23%T)

@ Piece-wise cQ_e.Qme«.O ?om:)ee@m <
Sx)= x 1Y xZ 0D %

——%x N x<D %("3*):
U) -2
w) A
x) — - -2)

2) None of U),Ibd)) XXSQV\& ZX, .

_ (1a-238,239T)

a3 ‘_ Ywhich oF the qraps below) s The

Taraph 0F the plete-coise deSined) Sunchions?
%%Q{\: x iy x?og

__k K %<0
P@ \V
N
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(12-24]7)

- The graph o 'Lé= ~S6) 15 the
%raf\/\ o$ %=S€Q<) et ledted about Hhe
D) x-axs
E) Y- s
F) the line Y4=x |
G) None & DY, E), and) ‘F).

(l- 24| B)

A’r the vight 15 the

=,1"" .
%’MM\ 5‘% *%f'ﬁf LWhica 1 x
e z&mﬁo 3

oF 4




A

- (12-242T) 7 | |
@ The qraph 8 y=Fen) i« +he
%rqp\/\ 05{ %-’-?Q() el kefj'eg akoth 'H’Le

H) K- aAXLs |

=) Lé-'-a)(ts

K) \,lV\Q %’-’-x

LY Nene o5 H), T),and K).

(12-242T)

A‘f the T’L%l’{t LS_H’te— L&:ﬁ |

%p—qp‘/\ O{ %—;-—f'-;z_wbnclr\

et the grap he below s the
carqp\f\ og %=*[—X 7




. a48

» (I:L— A4 23 )

The graph f =7 s qust the

+'0P h@\g OQ 'H!\e, %V‘dfbl’\ 0‘? | _

Q) u = e
R\ x-%

g) X +% = |
T) x*=¢"

D X ), 1)) 9), el T),

Cla-2¢43T)
‘Tl’\_e_ Oé;cq)k e'g L%—%(K)H)\ 15 ‘Hue, meh
)
Pﬂ 'l’ravxs\oiég Tlg W
B) transdafed wc -
)‘f’dans\ccteg Lp AR
D) 't“ams\a'ke& &gwn 2 -
E) None o5 A), B), D), anf D)

_R-ag3T) m -tke lebt s the R
@ \|/% y=Se). At /
) -Hr\e. ‘("Lfi\rﬁ 16, the _ . .

3 %’“QPL\ o4

Y
U o{ -?(?c-;t)
&) Y SeX+3)
H) zd = SX)+2
) Sy -

K.) lb\élone o8 F), G -H), Q_vx&_ J
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| (12~ 243 8) At the lett w« the
e qraph oFf ké—‘?&)
. At the v gt s

The ’srqﬁa o

5) Ax*-3w+ d - o
T) Alx-h)*-3xtd
0) a(‘}é"'\) -3[1(.-‘\) i-Lf
w) @x2-3c44)eh)
R one o€ 9,7, 0),as ).

(12— 244 8) , | |
- $(x-1) = 5l V=2T%T +A(F1),
So (_x) |

A) 5x -;w“ +AX

B) LS‘K\ AT+ A o
C) S5x°-5>-aix rfl +ax- 2
D) Nowe of R),8),ad ).
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(12-2499B)

.. ¢ Yhe it 1 +he qraph ':&:L
GRuLe et e, A

belots s the C%NLPV\ O% %:(')c-l) Ty

N AT,
=
F)[\‘L,l]¥
)“d

H) None o'Q'E\)FP)/ and) G)

(12- aAHS M) At the et 16 the arq,,ok
Zs . - o TE Sx). T/tcw\s{a.h -
| %‘sfx) The graph o 3=‘€a<

 shown gt +he rigat) _‘.l
J The o}rq,ol'\ ot +he mgk:t 13 L
‘{'Ké-%f-a,pk % ‘
3) y= e -1) |
Y yz §{x-1
f) §= §(x+1)

M) None of TV, K), and L)
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(1a-345 8B )

vq'l‘ 'H’\e r‘tgh'l')

B s the graph <

oX ‘é:: [ x l.
wh el Ls;%l'\e. %raplf\ 6% 1
4=4 el ? 9

p) A |

c) C

(1a-A46B)
&30 ) At the ight 4
The %Mpk o¥
D) y= L(xt1)-3
'_E)-gt"& _i(’&"’)f} |
r) y= k(x-1)-3
&) B- L(xH) +3

_(12-34¢ m,B) , , |
S‘f'ch-‘f‘ uéé‘('lr\ The %rap\'\ e‘_(; (.%::K_:L. Luflmc\/\ LS
—the correcX sequence o aetthe graph o
é-’-‘ﬁ’(x'-l)z—-;%? - q th %_CLN\ +
H) CompRESS , LEFT 1 ) Dowh) 3.
5) STRETCH, LEFT 4, Down 3.
K) CoMPRESS, RIGHT 4 ,DawV 3,
L) STRETcH, RIGHT 1, ,uvp 3



A5 A ' (‘113)

(£92) Th % a +h |
= - Ph Q-t e‘? y \.K

"’Lﬂﬁ s %rqpko ——
N\\ (6‘: *‘QW'&B
©) g: ’&’{/'{'3 )
) g7 —ATEA 7 .
R) y= —a Yl -
(/,9\ 349) |
1S an eXample

65’3 Which of +he Seol [awmj
oo ‘rajlme S?omc;@zon 2 /

5) $x) = Hax-t

DX+
bx-1
I) -?Qc)-_ 3’; ;
v) Fixl= 5 x*- =T
3 F a |
u)) None of sS), T)) and V),

Pz

(1.1 249 M)

.'Th&e o False: E\/e/*\d. po{%normd (S
| Fatronal %mcﬁwm .

T) True
) False
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(la-249B) : |
~ The %W“*P\'\ q,'t 'H\ﬂ H«slﬂ L
‘15 the ‘3“"{0"\ &g —— y.-
Mgl %\
8 k%= e
c ">'<' . |
D

X |
£) None of A), B),C), and D)

~—

al
U
v

(la-250T)

L)L)l'ud'\ o*? +l'\e, s(\ouo;l-;\;; )

L5 ‘f}\@ "”’@LS%MP‘B‘(L

X
"Q'%MQILOV\ for the / |
%h‘aﬂq"\' at the vight, J
h) x=2
B) y=4
C) %:ax

D) Nor\e,lO‘Q A, B), and C/)

(la-250 M)

|
|
.(,--r[- Whiek GQ the 5;9 Lows tin { £
.LS"H'RJ asymptote e%u;a:bog ‘K
for the araph ol the
E) X_:-—-(’ | ‘
F) y=-I
G) @="x | |
2D Mo of €),F)ed6). 4

ma, [y g

N %
' |
1



asy
(la- 250,25/)

@ é s é’? s 15 efbutva,!ev&t “f'o 'Hr\e. e?)a{f‘tom
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¢) the solution set s 5 ¢

D) the solution st s f(f‘-)o))?

=N

g) None of RY, B), ), and D).

(16-3118) oy 4ty =5
(358D For the sasjevv\ 515)“(63 =l&§}

F)the solution set is |}

6)‘H\e— seluTron set s f(a)g)j
H) the soltion set s 5(%_/0)j7
3) the solution set i 51 )135

K) None o F)/é)) H)) and T,
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(16-3137T)
For the system [5"“‘33 -4 ‘2 o solue
316—’1‘,% =-%
by +he substitution waethod), The Suirsl
equaton con be solved Sor x and
<ubsttoXed \Wio the second 6%uai‘lol4.

Sokvwxa ‘he g;u"si' eé)(pgoi'm\/\ Sor X k&[ﬂ‘wg
L) x= 22T35

N\\ X = —)_3"'3&

&) K: 3—33
o

p - —22-3Y

) x ;

) None of L), M),8), and P).

(1t-31aMm )

*(B3H)- Tyt ey

S) 4

T)5

u)‘i |

L;)<)) None Al $))T), U)) anf) w)

—
-
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(1-3137T)

T\(\a Skaéj(&vv\%?)(#ha =L % \'\¢3

(o%‘ﬁ%k& =—]
h) selution set 3(‘*)5)3

R) solution set 7 (0, %35
<) solufon st 3 (% 033

D) we So ‘uj,‘cov\

E) None of P\),B))CJ) andl D),

(l-35T)

2y -Sy+4z2= 1|
$42') For the e%uaﬁo"\sgg Wg"% [_/%

4, elimindt the varrable X

-F) Muj ‘hp[ +Ae, 7“0/9 é@udlDV\ b 3 and ‘H/\L
b oTtom eg} 1014 ba S and add 'HN;M 'ZLoaﬁ‘H'ler

6) multiply the top e%u.afzw\ by 3 and the

bottom € u,d/om by -2 and) adh +heM —fogéf'he.r

H) multiply the top equation by & and the
bottom %Maﬂi’/@n by =3 and add -Hze_m ‘fogeﬂf—ﬁ
) multiply the Zop e.?udmn by ¥ and fhe
bettom é—%udzm b? ) and) QM -ng,w\ 'f'oaeﬂne\!‘

K)Mone of F), G),H),and T).
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(le-315M)

For the e%ua&tou\s é 3X+L{|a —Qz =Y ]S :

i)~z =
When e Fop equation & multiplied by & and
the bottom €@(ud10}/\ s mu,u'zpltél) bg& =3 and
they are added together; Hhe result (s

L.) Qé% +3 2 =3

m) &y =6z =0

8’) JHy — A2 =9

70) Y -['21%:_3

(/¢ -315 M) PO +VZ=N.€
QD For the ecﬁudm‘“ {Bx +L% -2z =4)J

When the Top e wation s m ot plied 1:«7 3
and the botom equation'is multplied E.a )
and ‘Hle? are alXef +oa‘a+/\&v‘) the resq [5 .

s) a3y tle =25
T) 23 y ~/1d2 =25
U) _Q_%Lﬁ—{—}é?, =-25
w) ,13%+/é% =235

x) None o‘g S),T), U)) ond UJ) .
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(1L-3168)

T\’\;& VO\,PV\ O% 1 \\V\EQV’ Q%L/LJZOV\ IV

2-uhknswns s @

A) line
B peik

) plane
D) parabola
£) None of M), B)) &), and D).

(1e-317T, M) |
Whlc\«\ O‘Q ‘{’\/\& %o\\mumj‘u D_?Et a Paéé!k‘lﬁy
Sor the wdersect ion o 3- planes 2 Their
itersection 15 a
F) Po[n‘t
G) line
H) plane

) crcle
K} +he w‘tﬂ Se_’k) Yo Pomi 1s on all 3 P(aV\E’.‘S‘

L) Nore K F),6),H),T),anl K)-

(16— 3175 ,318T) Z

T\I\a soludion to

M) Line
O) Pomx
p) Plane
R) emﬁtd 6&‘(‘

5) Mone oS Nﬂ, 9)/ P\,an& R)

"fZC—-% ~4z=(|

Yy -3ytidz =25 s o
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Tke solution to ) Hu-y-4z=1) |
%k-Ba*‘i%:&? 1$ 4
Hx- 3y+t7z =45
A) pornk

B) line

C p[am

D) erpty et

E) None of A), B), CD, and D)

(16-315 314)
: The. «{— Ax -5 -a‘-“{“ﬁ =1/ ‘
solulron To {3X+ %é@ Taz-u L oa
Sx-ay-4z =-
F) pont
&) Line
H) plane
5) @.pr‘t'td 4t

K) None o5 ¥), &), \7\)) and I).

(16 -3208) Xty+Zc | -
Tlr\e solution o § ax4§%+1%:g\ s &
. 3 =

L) powdt K424 422 =3

M) WAL
9) plane

P) QMP‘% st
" R) None o5 LY, m), &), and P)
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(1e-321 T)

Tka soletion To {sz— La — Y4z =)
x-X = 5 &
5) Pem‘i 3 7
T) livie 1%-3y4 t4= =25
L) Plane

W) e.wuofg_ &t
x) None oS L), M), &), and P).

Cle—323,324)
whfo\,\ o5 the %@HewMj LS 'qu Ody-a,ok o‘\:
A%+ 3y =¢ ?
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273 Which o the Following *
tr-y =9 ? ¢ Following s He qrarh ot

f) None & E), F), and G)
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(lb— 334,325, 326,327 )

dx+3y S ¢ [
The, %rq,b'z\ o% +he solujtov\ 1o fo-; < g /S

‘«ff X 20
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PART II

MULTIPLE CHOICE
QUESTIONS THAT COME
EXACTLY FROM
SUPPLEMENTARY
MATERIALS FOR
ALGEBRA BY HEART
(THIS BOOK CONTAINS
WORKED HOMEWORK
ASSIGNED IN ALGEBRA
BY HEART)




Sm |

& (Hw=1m) wite §x|xew ano ke by
T hs‘kma wetWhod.

. ?_..o)—laol‘g

—

§

Mone of these

(Hw-2T)write 33,317 = 25,3 1y 4y
Q %racﬁ:tovx o% w\‘\e%e,rs,

+ Aas

$. 3199l
a9
Q. 3194l
90
h., 3234
loo O
L. 3234
LoD

;') . None o‘% 'H'\e-%?-

@ CHw-Q\)B) T 1S o memkér‘ o'(: L,Jl'\tcl/\ SETS
K. I owp R
N Q awd Ir -
m o Q,Lr andR
n I, Tr, omlR
& Nona of these



SM 2

(D (Aw-3,8) TRUE 6REALSE: X ¢ Ty
t. TRUE
§. FALse

(55 (Hw-3,8) TRue R FALsE ¢ §31<S§1,2,3)
<t .TRUE
§ . FALSE.

<HUJ-"")T\ H'={31°{|F|Z K=ggzé,718§. HﬂK:
P. £3.45.6,7§
3. 115
. q5 (—-&Mp'ttd set
5. Noe oF These.
BD (Hw =4, B) state Completely the property.
5 (2t +3) =5 ((2m)n +3)
+. associafe F""P“‘T -5 MUinipllCG:e(OV\.
V. QSSOCL&;Q-UIG, Pro,:e_/:a'ta azc &LO-&.LJ(LOU\,
W, &\Q'&T‘L\ouiwe. PV‘OFQ,I-ng

% . C,ovwmuioi'wa pre e.w‘tj o'({ ww\thp[(cj(o'n
I,A, C/OV\'\.MJ“:QRVQ PFDEEPT'Q O-R OL‘Q&L*LDV\
Z . Nowe 0{ 'HM—SL:

(Hw-5) Whet is the multiplicative nverse
O* 0o [RAIR/Rsse = o1 %
|00
NE
b)
) ..%

1) 455
2) mome of these



@G‘\w—é)'l_)_ __E;—qb?:

%-
S, 1
q. it
h. VR

O
L. \N\ONR % these

(Hw=6,M) Given 256 anl w< -3

z=-0L) 1S
J. 5-(-3)
K. §-23

Q ?osﬁwe_

™ V\E(«aﬁ(\}e

P. None of these.

@<H°‘)_6J m) Gwen =55 and we- 3

\—-3 zw | =

% 327w

v, —3FWw

S. (=3)E)X-3)

N. None o5 these

13 (Rw-1,7T) 5-6=ReY =



Sm Y

S s 1) Heageny
BC&x—ég N+ l‘ia - 10 %

a—
—

o, -

fo %A-l-‘—l;\r -
6x—éa‘t[at‘é -0«

b, “4x-VytlYq. -
éx-lga +19y - /10X

C . Ll:X"tag -[-'—I'Q
S % -3% + [‘lna -10 %

N, Mene ok thest

@ (HW-8, B) No ne_%aftﬁa Q)LPonerd's_(Ex-lHB t

[ st%:'

S
L

N ., None ot these .
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(315 (Hw -@(,T)( 5xy] S —

1S 3!
9

. 5-9?\(.2)%_5(
Q, 5-—9\%’7 %_l'l
p. S—éx:u%-S‘I
N. Nowne of t+hese

@w—ﬂ,@(}v&’%s \Lt _

2z - w» =
. |

'

).)

L

N

]

|

- None of These
@ (HOJ-I'D ,T) 20003 | In SCle,V\ilgl‘L V\o—t&ﬁlov\ A

el ‘
;z./xzo*

P.

Q.

R. &l x/p?

S. Rl xX/07

N . MNone ot these

3



IM 6

L
(H(JJ"[D)B) yA 7 _
T, 4
u. -4
W

N. MNone o"(: theoe

-5
(1) (Hw-11,T) (-8) 3 =

l

[
Pv : g5/3
H4o
D

N . Mo ne O'G 'H\ese_
(HW -l\)B) YmE s a(wcu/s e%uaﬁ -+

S. ™

T |
N. Mnre ot 'H\e;sé’.
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(SaD) (Hw-11,B) For a\ real numbers, /578 |, cluays
w. |

xﬁ
X, X
Y ,XIL

N . I\Jone o% ‘Hr\e,se\

. (Hu) 2 TN\\ Sw[spose. X <0 ond 4>0, Which
C)g\ tWe ?okkowuxa 1s True 2

Ty =TTy

D, &-=5
X
E a2-5x
%
F.ooax-5s
2 _5
G % 2

N. None of +hecq



SM €

(Hw -1, ) _),—;%g

(Y.)D aVLQ ‘d‘ >O)

H . 5+ 3xy
?&%

T ==
TETET

P. 5’))9\2(%
Hx

N . None ot these

Qas (Hw lS/ T) whicwh s 'kn,ue, '{‘o gc\l\\ \w "\'\'\9_ k\a,\k
with 'fﬂ— Y FOU
ﬁasxﬂa“’ %/3?_&2%[‘)?_—
R ﬁL/QNSK5‘am
‘/gsxs %m
S 2
RESE 3
,‘{/*;3 3 ’L
A . NMene mc These




SM 9

CHw-thT) A5 - 37 443 =
W. Y 75-21+3

X . as(z -9I3 +3

Z.Yas5.3 - 9.3 tV3
N. N&”‘l& 0'{ {—AQ5G-

@(ﬁw—lé,[’)) For x>0 ‘1347% = (0150 3’50)
A. xb{xy

B. -2y
C xlﬁtfg
D. "X:BW

N pMone @‘.ﬂ( +hese

24T {CHW‘#‘?‘,T} Gwe an example of o %ua&mi;g
+rinomial

F. A%=3p 7
G. ¥x+Ix*+3
H. 5x7+3x—7

L. 9Yx2¢3x>+2x+7
S Abue of these



AMN=-1D

33D (Aw=17, B) C..(‘;(_‘_%\;L:
Koo %+ Qe +x*
L . l%['i‘ a{x('f{ -é-x_z—

M. 2+
N - None of Hrece

(Ww-13,T) (Lté-;lzc+3)(5x°: 2x44) =
P (P Y5x7)-0xY-27) +3(%)
& . Ax*+4 X+ Lo

R. (x> 2s3)(5x7) 4 (‘*K‘B—Qxﬁ)@x}*(ﬁ K- 1&1‘5) (‘f)
T, AxCyy? 2l
N. Meoene of these .

(33D (Hw-1%,8) a5yt _yq=
A . (5K2_,_’):L
B. észJﬂ)L
C. (5X-49)(5x%4q)
D. (25x*-7)(25x*¢7)
N. Nene of these



M- |

@ (Hu) B lan) Th&g”gk S«‘\-QP \\v\ \-ojhovxqutéma The

dewornateor i  2+73 /s
T5+73

F. a+f"’ |
‘7’—+T" S I

6. 33 T5+r%
543 T547%
(;Hv“‘)
(—;f‘?er;)

T t=F J5-7x
513 TE &

N. Nene &\ these

@CHU)-;@ B>Th& 157 'f"e,(\w\ j $n) ELQ m the lGV\

&WstV\ Prscess A L
2143 [5x4 553 Ty
o~

!

la

K

L X
M. =

N N@ne, O’Q “'\r\&g,e

VRLN
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G349 (Hw-20.T) 12/ +6xdax =
P. ;29(,‘1/7*(/& t 3x 3/7'.,4 7@‘%‘”>
5 L
Q. A6 +3x7F,2x")

R 2 (643574 1)
N. None o8 these

@(HUJ QD\)N\B KZ(Q&-ED - ()(11-55 =
S. (xﬁ&)(%ﬁ-”
T. x| +X %5
O. xX(x*+5)
W o X = (x%5)
N. Nene 5% Hnese

§36)(H0-23,8) pq™udgfy +3¢ +6p =

PLC ) +3(___) . Fll w the bloncs
Lo Tt tHhae Same  \/alua

A . P+aq
B. p-tq
C. gtp>
D. g+3p
N._AbwyCR‘Hﬁsb
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@CH[‘)-?‘?’) 3%2‘?6—!() chjfms e
Fo Bx+10) xt()
G. BetN(1-10)
H~(3&—[\(ZC+’/O)

T. (x+2)(3x-5)
N. Nene oFf Hiese

(H-24,T) 5 147
K . %a,(j‘ors W\E}D (K{‘lB(S?&‘fPO
L. Sackors \wis (Sxﬂylﬁﬂ
M Sackers who (S| )(xt!)

P.Ts \rreduc e svor +Hhe LJ&JM;S
N, Neone sF +hege .

G3D(RW-2%8) —Bx 4 l4x + (5 Sackors intks

Q. (-¥x-5) ('Xﬁ&)
R. (gx+5) (K—JJ
S.~(gxts)(wt3)
T. (gxS)(-x+3)
N Newe o:g thest



IMN-1 Y

" CRwas ;T) One &S the g\\"‘x Siﬁps +s quorms

o™ (b x+|5 b‘é\ the veduce to rouwp, Hian
Socter " wmethod 15 To Stnd 2 nimbers whose

A. whose sum 15 4 and whose P/wQuc? s &0,
B. wheose sami ™18 —lbanl whoee pao&ucﬁ ts 69,
C UJ(I\DSQ sum S [S and whoese pro@ucj ts 60,
N. None O{ 'HI\QSO.. ,

(4D (Hwasim)  ya fo o 4is=
D. (#x*-¢x) —(/ox +15)
. (4x=6x) — (/10x—-15)

F. (4x°~6x) +(10x-/5)

G (‘if‘—éx.) —(—/0x+/5)
N\ MOV\,Q o% 'k\/\Qse__

(Hw 25,8 & ELf__C[ =
H. (ob -3)(a\r+3)
K. (ab™ 3)2'
L. (o, H‘+3§l
m  (a*b1-3)(0*b'+3)
N . Neone o8 these



SM-|s

@(Hw—;g B) 9?'7xéca3-/;25
P. (Y —5)(3%*y*+25)
Q| (Cixgts)(Bxg - 35)
R. (:Bxa —s)(6x g) - (3 y)5 +57)

S (3x(d-—5)((3x@ -i-(BX‘{hS +S7')
N. Nowne SN these .

@(m ~a6,m) (a-b)%=
a® + 3a%h +3al®+4’
w. O >_ath4+ab®- b3
X a®-3a%h +3ab*-}’
2z a?-3a% -3ab*-F

N, Neone of Fhese

@ (Hw-26, M) 2330 %24 5% =27 =
R C?x—2'7)3
B. (xY-27°
C . (Qm - 3)3
D. (ax)?*-3°
E. (%x—'ﬁf
[\/, I\]Or\e. o% ‘H,\o_se. .



Sm-16

(Hw"%B) a2+3a*h +3ab%+ b’ =
F. (a+b)’
G. (a- b
H. (a-b)(a®b3)
. (a?-b*)(a+b)
N. None oSN these

12,
@ FacXor COMPLETELY : % —I =

P. (xé- !)(7@6-61)

®&. (x3-1)(3>2+) (1)

R (re-N)(xxt)(xt1) (= w00 (%5 1)
N. Noue ol these

- 5x3- S X rYSx =346 Qacjars mto
(%Q_oi )(% ) C Bl e blavxt.
Hunt - \ovxa Aivesion com b wced.

S, x*+5x+¢

T. x*- Sk -4
Ww. leer-’-}
X. x*-5x+Y4

N\ None_ 04 'Hf\e.so_



Am - 17

@w-aﬁT) Reduce "lLo /awa.‘aj 7LLI~M_5 ’

-8 . Fraxid
yA-x- T T34

AL 28‘+ AxRA+Y

x|

X - A
b. X 5t X+ |
S
D. x>t x -1
E x-%k-

N. Nona of these .

Eadedntl  Kedin] (Hw- am)
o | <

AKX~ X

F. @“03. - &%)
(1) xtl) " (Cten )t (xt1)

G. 1) . alx-!)
G t) (k) - (%-1)

Ho(xtY alx-0) ﬁ
(=1 )(x#) XO(xA) + (14 /)

M. None o\ these




ISM -1
@ (l—\w-'sa )w\\ Qem (,)8%5_2‘7‘} Kék({l) ngzs) _
I %é‘alo
K. XB%tOZS

L. XEL%Q-E‘*
N. None oﬁ: 'HAe-ﬁe—

(Hw-30)5) 5 4 - s =
(x-3)(x-H) (r-3)*
P

S+ 4 .
(=3 *(%~4)

Q. S Cﬂc—#z . +(%-3)
(1-3)*(%-) @-3)2(%4)
R 5(76'3) + ¢ o
(3 (- 4)
o 5(x=3) L 4)
(%3 Y (k- ) (x-3) " (x-4)
M. None of Hiese




SM-~19

(35D)(Aw-317T) ST _

3
| -

5-2
T =g

=
(x+2) + (1)

5-2
T
3ty

(x0T -1)

W. B(xt4)-3a
LY
3(e-1) +4H(xt )

() (- /)

W 5(x+4) -2
~—Z77

3(14d) +4(Z-1)
(4R (x-o

/\/. NMone O'F 7‘,{&5&
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g wird Xy
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- 2 2
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d [
L
C Kl_l-'é—i— ':zfp\f(?l
'%E -—J% %‘9\"71
L
D L
N 2 e ING
g . XY
—C R
3 X +ﬁ—l
X L]

N . /Uam, a‘f' 'HLLéL




'xzfgm
AR ek
-“fz—-yéfl Tox ey h

N, Mone ot these |



S - A2

(l—\w-sl‘[‘)v x.l——jj‘ —

(ta—)Q ><3\d3
3 (x-g)"
(*-Y4) K?HB
k. (294
—(x~ %D X3Ld3
L. (x=9)(&+y)
fmy) %y

N. None oF these.
(::: Y(HW-32,m) 753-”,\\:3 4 gar'al _

(A ka" X1+X§J ke

. /\/@y]_g_ O‘€ '[-A&&&



SM-273

(How-328)

(‘A‘yf) (‘{%L%—w@) LXN . Cx— ‘ZD@J"HB [
© %3 Wty M‘ﬂjﬁ(ﬁ\ -

S, _(')c.—tg,\gk
%Lt,ae

T (A-%)(x-9)
'%9%71

. (x-4)
x5(65

Y. None 0% these

(Rw-33,8) L3"-

A. 1
R. -1
C. L
D. -4

E  Noive O‘Q these



SM-34

. (Hw-33,R) (asbi)(a-bi) =

F. or—p™
G. a*ib >
H. g%+ B4
I. None o*\ ‘H\&se
(Rw~-34T) (;z+31,}(5-%;)(é~1;,) =
<. [lo-3i+ 5L - 1237 (e-a4)

L. LID—1a ] (6-22)
M. [o-124T(6-2L)
P. None of +hese

[Hw—w) MY (3—31,).(%-3;,+5ue;,‘) =
Q. (3—;2;3(%3‘0

R. (2-2.)(1=34)

S. (3-22)(a-3.

T (3-24)(q-3;:2)
X . Nene of these




SM= 25

AL 20+274
B. 2at-274L
C  =A+d74L
D_ -aL—;q’L

E. None of these .

CHU&-BS) W) To pX

’VVluJ’(’zp[” !;,3'

F =+41
.

5 t5 L

6 [
B
s o4
| I
o ETTA
T ..
Lt

o S
=t

K. None & these

il ~| »l-

o[l

‘t.\

r\Q

p—
—

N a+ba S:OPM



~=z 402
L A5 +am |, (-7 +373) ,
S - 5 o
M. Tis-arz _ (_{7—5‘*3&1/}
s 5

P. Mis+ars _(Nio+3¥%) i
) - 'S -

& . None o% theee

(HW-31,T) = =

R. —V&
S. ke
T. /6L

X. None 6% these
L
B (Hw=-37,8) (-I-;:‘Lﬁj -

A = -A4T3 4423
Y

3 | —a2xTR + 3
- “4

0 Mone of thase



SM-3n

<+\w_3q>M\ FO"‘ the \"GG\QS/ 9<,9‘+é:_q

E. s an W\consts—t"e,vxﬁ' ea‘u.a.szM.
F.ls awn L&Qdfta -
G 15 o conditional e%uéjto;’\.
H. None of +hese

(Hw -3, i) Whel wuwmber s.o\ﬁ'zs(e\es

v =9 ot Aaoes ot sq‘ttsga x=37

J. 3w
K. =3¢
L. =3

M . None o these .

(HUO ~34-4o b,T) What 'H/\e. So(ufton se'if

Sor 5(9\2(-%\+,L:3’L(5K-%) 2

S . MNone o these



SM-4%

(57D (Hw-42,8) 2 (’Tr P \ _

Tx*+ ¥
£ (7& p
l ()&-t-z\
U E [(Jxr
3’3 X_ >4 :‘/3

W 5% Ux-p
X+ A

X . Novxg og '\‘\V\e.se_‘

AR

CHL’J —-49 B) Lm.)\!\oi lS"H’\L So[u.i—toc/\ Se.-t ‘@o(‘

5x-4 - ‘Q /P]X_— > g,

Kt | \4
IR
8. §252¢
¢ 1A

A-P
p. §2:F
E. None 0‘? 'H/\e.se



SM-29

@ (Hw- /7‘/)7) W hat s ‘Hl\e; Solbj"wn Se-'t Qo/'

X_ +3=22_ 7
x+5 7€ ) )

F. $5%
o. §-5%
He § ¢

3. §-37
K . None o thest .

@ (Hbd H | B)bJ\V\Oi 1% ‘H\e. solution Se_‘f 'cor
- 4 - Bzl

S . None &% tHhese



SM-30

@ (HUJ—"H,T) whal s the so fution set ‘Q@l‘
(x+5)=7 7
T ?_-—S—\-ﬁ) —S—ﬁg
U. §-5+77%
L. E—‘rﬁ,ﬁg
X . None of theee.

(Hw—%,w\). Whe 1s the sofuFion set $or
(x+ —QQE -4 7
A -4+, =L -2
B. 7-.,+348
GV
D. None o¥ these.

(S1D (Ho-44,8) 254t Saddors wito

E. (x~6)(ax+tl)
F (x-6)(ax-1)
G. (ax )% +6)
Ho (et £)(2x—1)
= None of these



SM-3|

(HW =45 1) Tn the. compiete e Square

Process, wWhed 14 Hie same
b blants oo T T Y S

the equal sign 7

2""2!':%1‘- = - =
oL T F
- 76
L~k
M. -
-

K. None of Fhese .

(Hw-%_g B)“”\e_ S [L«i‘to

J o 7 Se"t'-‘: 9\_ _

s §3-3TT 3437 o A3 =0
* ’ “+ . What does

376&—311%7 factor lv\fa 4

-~

B Ce [T ) fa- [ae3077)

R )

T G [ el
&

W A/Ol'\e, 0{ 7‘4}&.52_




IM-3 X

CED (HW=-46.T) What 1s the discy At nand
Sor 3X2‘—t Ix+7=607
A. g0
R, —€0
C. %%

D . —gg
E. Nowe O% 'Hr\ege_. ~

CHUJ“M?JT-) When the CQLSCP.IM\;/\Q_V\ﬁ ‘;ar‘

O qﬁuaﬁrﬂ te. e%udtvn 15 V\e.aa-fe'wQ.J

F ﬂ\mam A real Salu’toms

G.Pere 05 1 reod soluton aém«.uu'ip(icfty A

H. there are fmag[,\a,-—d so[w’é'w ns.
T, None 0'(\ +L\LSQ—.

C2D (HW-46,M) The soletion s€t Yo r

3%9?-31:&’7: O s

K. § =l+2if5 -l-:z'de"}
3 )3

L. § | +3cas /_;za?j
e J T3

A - Mo ne O'F "Hl\é-sﬂ .



SM-33

(H W-4 '77)455 %rou‘oznj )'anu\ S;acfamy\d
ax’ t+19x — 3 2T Sactors into
R. (x*~9)(ax+3)
g (x=9) (2x-3)
T. (2x=9) (x+3)

U. (x*+9)(2x-3)
W. None o5 these.

CHU 47, W\) The So/uj-lov\ s&'t -po,:— 7¢+7=o

Qow all ra»é awO Complex numbers (¢
A §+3U,—3,¢,§

B. T+3,—3%

c. $+3,73, +3”)'3"}

D. None of Hhese

G2 (H W - 7 B)j\jl\ in the Lox Qor the exporent with
“’(3x+2~)3(x+l >+ (’2&/)5(32“,;3

@x+a\3(x+z) L‘{- (3x+a) « 4 (xt ,)[j':l

F. +-4

F

6. £-C-%)
Ho L

oy

. Mone o'? +hese



SM-3y
-(Hw 7%, M, B) He salu‘hov\ sc."" %ar
@xi-a\\

=0 /s
é<+|)5
K. 3"[ -7, _:;_ég
LT -%5,7%5
M, E—"Zs%

P, Mone ot these

(HL—J 49 TM)Q}L\U\ both <1fes o’g Hre
e%uafwn Q-] =
et
Q. 4x*-r2/) = x—5
R. 4x%+/2) = X5
S. Ax*-44x+ial= k-5
T dxT-dix-la] =
U. e txrlal = (x=5)
L. 4+ Hxtlal= x-S
X.. Mone o these

yX~5 Qare 57,\“4"@«& aou



SN-35

| (HLJ—L{?>.IH S‘alumg Ax—7%x-5 = “/
Fhe vadical was 1solated, both sides of

the ¢ wat ion were S uared amd gL was
de rived that (4 2-2 (y,_g)::o . The
s oluTron sel $or the gy—"gl}w_() 6% uaTion 1S

S EE

8. §25 5
c.3¢8
D. § ¢

E . NO"W— 0{ —fkese..

CH('J— S-O)T\ S%udtf“lnj' Aﬂ‘H'\ SIQQS 0‘?
Ixta + Y &a-¢ = 1%t9 %LMLS

F. X+ + 2V #a X< + 6 =x+9
6. Xtd tx—-6 = X+9

H o+ + Tx#+d Vx-¢ tx-6= Xt9
J. wtA+K-6 :—@c-t?))‘

K. Mone of Hhese




SMN-36

(HW—SO;SA The OFL%\V\GQ egguw_jﬁ‘w.,\ IS

M _ﬁ " X’é -0 Ra&tca,\s were LSo[q‘tQQ.

Bot e les of the QEULQMM ulere S%M.du& awf
evevxiuA.QJLa'tk was Aderived -\7\,\3

(2-7)(3xt3) =0 . Whatl is7The soletion sat
Sor e o 1ginal quudcow?.

L. 37,733

Q. 175
R. None o\ theoe .

GaD (HWB2 ) To Sind all real solutoon, B,
2=3-9%3 ~/2=0 | let W =yE7 g
3t W we-12 =0 , thew (w—‘f)(ui-ﬂ:o.
WheX 14 the Sa/ujmvx Se.f' 'For"
Z-3-Vx=3 ~IX=0 the amatr\a»Q b%,u.a-:é\zovx ’,

5
p. ;253
7

S 119,123
T. 3143
v. [t25
X. $4,-33
Z. 347

A, Nome o‘f Hrese |



SM-3"7

(HwW-s3 M)‘The solfion set (et read e
Covmplay so/u‘ltzmu) Sor D= x7- Xz—é LS
B. $-73,75§
C. ¥ 12,7375
D. T-73,73, -T2, 2735
E. g—ﬁ)ﬁ/ —ﬁ)ﬂj
F. MNove ot +these |

$93) (Hw-53, B) When ww+b =0 ,then w =
G. 3 er -X
H. 2 |
5. — A
K- NUUKL 0{ "'b\&.se_.

) (HU—S'S')H lot 1s O"L%\‘ﬁﬁ.\\}d a square . f new Io‘t

[ES ‘Fb rme.g Ea C"JX.PCL'\-&.{.'\ €QC\’\ SL&& 't: where 'i"h&
new B0 has each S\ia 2 Reey \on%er Than a stde

9% 'H:\g, Orlac'r\a.Q (o"t,'The. Nnew /DT 14 also a s uare,
The new lot has an area of 50 square Sedt fiore

Fhan the er*iat'ua.() [t . Let & be +the sife lefnaﬂ\

iz'Hr\e— 0&%?’\@0 S{kuaf‘e- . w‘\oi E—%uajwvx desc
e areq :

L. o = 3% 50

M. x*=(x+2)% 50

P . @A = x* so

Q. x*=(z-a)%50

R Mone of These .

- tbes



SM-3%

@(Hw-sz,,sv) Sue has SOO}QH,O ns &K \LGbuLQ E
YN e o | 5%, SD(uiiD'\ sSugav, S\ke,\v\a,sa

\O.r%e, S"\PPtg D% O S50% soluﬁwn 0€ S av-, Le,'t%
be the number of allons oX the 50% So/uﬁ?oo\

To be waixed Lulf‘i\l\ \\‘gﬁuﬁ& E Yo cAe,J{ o 3577 So[ui'wn.
Whieh Cﬁﬁu,oﬁtav\ Aescribes the Si-tlk&:QLév\’z

3. (50)(-50)tx(.15) = x(.25)
T. (50)(» Ls) +7c(.35)'-‘ (50+7C)C- 52)
U. (50)(-39 + x(s50)= (50“‘7456' 52)

0. (59 15)+ 2Le50) = (So42)(.35)
X, None 0'(' "."/\o_so_.

(HLU—S’?)N\) whida e%udmn Le[ow K

e%uwaﬁed'f‘o 75+.5%x =11.5+.354 7
AT ’7S+5‘0x:l75-{- 36 x
B. 751 5x= /75 + 35 x

C. 750+ 50x= |75+ 35 %
D. 750+ 5x= /750 +35 x
E. MNone ot these



SN - 39

(Hw ‘53) Jane tan Ao a a’o&; w3 hours

o \‘K\‘V\& Q,\ovw. , Bob can Qo e rob v Y hours
working alone ., Bob s'jCaF\s ‘e 6035 at 12 noon

ol Lorks undil 1330 PM | then Sane and Bob

work to %ejf\t\o_r et e éolb 1S Completed,
Le\ 2 be tHhe "t‘t\?we, w Nouwrs ‘\‘k '\‘akas Bobh
onll 'J&we,\ WWKU&] Toaftb\.e.r T Complete Hhe
aob, Wh e, e%udtdv\ below dU’-SC\N‘;Qs the

2 uation”
) e e < 1
6. 2k el = 4
Rk
T (W) rxedg raedy =
K. Nons X these .
(HU’Bﬁ,T\M\ Bob can dbo a 6013 n 4 hours
working alone . Bobb and Tame Work ‘t‘qa‘t’ker on
“+he a'olo Sor time X . What 15 the Sraction ot
He 305 Aone. bs Bob worKLv\S L tth TCU\Q,?

1
O

L. Yx
M. i
P, ®(eH)

&. Nowne 01{ these .



SMm-=4D

(Hw-—SCi,T) %——+J9_—:_§, CwohaD s

_H'L& Va.jue. o{ ’)C7

/
R. &
/1S
S. %
T 2.8

7, 5
X, Mone o"‘; "H\e.se. ,

(HLJ -éD> Sam &e.,basil‘tf 3&00 ih an QCCouJ—

“hat yrelds x per cent compounded annually,
At the end of 2 yeans the accumuladed
Prir\c,i(bc'—Q ol Aterest s £300. Which
e%udw‘w describes 'f'ke, St"fué.fzaq?

A (200 +amx (0) 1) + (200 + 200 % (,01) L) = 300
B (am+ a00x (b)) 2 + (290 + 0% (0)]) = 200

¢. (wot :wox(.ol)i)w‘ (200+ 300x/(, 0/)1)7(_[. 01)= 300
D. None 0§ these ‘

(Hb)"éO)SQW\ dle.posd‘s # 200 in an aCag“d 'H\a:t

ells 2 per cavt com
f\é(:e. Pf‘l\/\c(Pa__Q Q&-to_f_ gf”‘;"e\fig?iv\v\wiﬁ%, whgj LS

E . 0’200-0-52001(,0()1
F. Qoo + vox(2)
6. aoco + x(»0nl

H. 200+ %

T None of these



Sm-4|

Q’““)'M\TO ?:76|21>-ID§ pu"t i 1nlervag
\\o'kcﬁww L8
K. (o0,—Io)

L. (~t0,00)
M. (—t0,e0]]
P. [=10, 0]

Q. None of these

(Hw—m;r) %x /l<7¢553 Puﬁ'zv\ |V\"te,,-u4_g

ho‘toﬁtov\ 15

R. 1,57
S. Lys)
T. (1,57
L. 1, 5)
X. None o5these

[Hw-é;w) The open 1wleryal (0,5) «.
n - sit-budfer netation ;o J1ven
Y. ix ‘ %<5 §
Z izl x<o oRx>s7
A. x| x>00r x<573
B, 3x[| o< X455
C. None of these.



SM-42_

(Hw =62 M) Tihe open (vwherpal (- DO,S>

%ﬁvevx LA GEkrbmlch.r netotion LS
D. $x| v<5%
E. 3Sx| o< x<5%

T S| x<5%
G §xl ocx<SS
H. None o"{ these A
@(Hw-é3ﬂ‘> PxCorre_c:'(‘ :‘L"‘-ﬁ STQP o solve
5—%(%;(,—;) = —7(‘7’—3x) L5

S. 5—%1—%.‘.*&7—2/%

K 5_,83,7(+% = -2A¥ tAlx

X 5‘%K*i—<- —dE+ Al x
3

whch a‘? 'l"\'\.e_ Seo 37

”0001}’\_5 L5 'ZL/lu..e, -

N, zx=< 23
T )
- (1o 3)(7/
P. == =3
® x>=-lo2

e
R. Mone of '/'k‘Si .



SN-43

(Hw=-¢4T) The skefdh o the <olufion of
ZTx+5>3 R Fx+5<4-3 s

_.% —‘({3
U [ AW
\ J

h 4

W y; N
-l -3

X. Nov\e. opi ‘\7\/\e-se_.

CHLU- 64) N\\u\,{m\n 15 o Qorl‘&d \\e_{k “y\e_ qff\'gr

-3 < 2-3K f__l/

3 T s 7
A, (5363'3< 2-3. 2 -s(k \
g (5X/>>a 3x = 5( )
c DL = 5 (E 5)
)E)z +3x 2755

E. NOV\Q. og “(\!\ese .




F )
G E%) l-’”l

3. oo, - % Ev ) )
K~ NOV\& o% JC\'\e.w_

@ CHw-éS)T) TrXerval V\a‘tc«.“(tovxj
(-3,570 (3,¢) =

L. (-2,¢)
M. (-, 61
P. [3,5)
& (2,5]

R. None o{ +l’LQ$L‘
- (H(,.J 65 TJWH\C\/\ \V\Q.Q uows QPDN\

3:""76 1
S. £ - %’KZ";_
2 -2 > 3 .2 -L
T F~3*= %DR? ER
3 2
V. Z-Frz4 avo 2-2xs2-k
X . None 0'& these .



SM—i5
-(Hw 66 T)L}Oh\c.\r\ lne Sollows Srom

</
1’7 “t7C - 3
2 < |
A -5 =sF-Fx=3
2 _ 3 _
B. zx ZH R S -Frxs-Yy

D. None of Hhese

(Hw—éé> Solve
E. (o0 Jf_[u]is2 ~0)
G. -« ]m [&33 )

H. C" ) ea]OREbBI )
I Nane. 0'? 'H/nge_

[
(5115 (M-6b, 1) S Lppose. Bs-Zxzg
wt\m\/\ o% the Qounwwx 15 “[‘Auf; Z

< ﬂ(a«g ">(i>(
L. (“‘g’xﬂi, =x= (- %/}(az)
N D)z * < (C5)(&

P None of these

2 .3 < |
i %7‘,‘3



SM - 46
. (S11L) (Rw=-67,T) Suppese 2

whrich line Sollows ? Xt X ;214-3 <O/.
Q. & -2 )
( %+ 2){Ax-3) <0
R. A - A <o
(x+2) - (2%-3)
s . 2(2x-3) -ax+a)
<O

(xt2)+ (Rx-3)

. a(axd -A(x+]) co

(rt ) ax-3)
. None o8 these

(Hw-m,B) (a3 (3x-3) =
AL (x-2)Q)(x-3)
8. (x-N)a(x-%)
C (2—[-2732(74—%3

D. (Z—Eaﬂ;\(x_3>
E. None of these




S -4]
CHW-6T,B) anc_or&'mcl To Fhe Way You
wlere T&L&%\l\t) +D Q\/\Q\Léze,

— O 0
Gl ) DK(X‘%X <

make warks on the number lme (d

G. _3)%

H. & ™25

T. —10 ) 2!';1).36\
K. —1,& -24,

M, None o5 these

( Hw-6g,m) _ %73 Sadtors it
e

P, x-[-3]
-A(%-%)

x -3

& —2(x+§)

R. X —3 .
=2 (2 - -47)
_x=3

> -2 (x-4)

T None ot these .



Sm -4 ]

(Hw-e%ﬂ) For ,_ﬁ;j_% ‘+0 L)e. FQ,QO/
x-3 st be
—2Ax— g
B, %\‘eoﬁ'e_r 'H\em or eunQ 7Lo Zero.
R. \essthan zero,
C. erther positive or r\eﬂaf'w'f,
D. \one o "'Hr\ese_

(HW—G‘&,B)For x <-4 ( % | 4\

-4 3

x -3 B
—Q(‘z-ﬂ—f{?)
F- Pasz?A/z}e,
G. V\e,g.a.:f‘/ue,

H Zeyo
Q. WNhonga o‘Q {'\r\tse,

/5

(SD(HW-¢1,T) onr--‘f<7(,<3)< - >
. 3 .

x—3 -4
- (x-[-41) .
K. fpost‘tli/e.
L. e &\uhw.
M. =2Zero

-P, MO WV\&- or\ 'H«\Lse, R



—2 (=[-+)
K. P0$i‘tu}o
C. V\e.ckale'tiﬁb
T. =2em°

U. veone 61 Phese

1a8) (Rw-69,8) For 2=,

-3 LS
—a (2~ -4])
n. Pesht‘\'u}t
B_ \(\Q_%cﬁ}p\é
C.2Bere
D- Vnowne of thast

(Hw-‘7D)T3 Yor x= 3)
-3
A (w-bd) O
F- Ppsﬂ't&%
G. l\/&ﬂa:e?u't’,
H Zera
. Nowne O'Q these

w-T



SM=-50

CH‘-‘J"P)Q\\T> The &\W&QQ &L&QV\C,E; ?Y‘r'DM

(D'to'[ 1%

F 5

G- 9

H. el
A

T None of Hhese

('H(,J-"] 3) M)’We MiQPo;ni' be"(’we;e_y\

—-/0 and -2 s

=N
K. o+ ()
g
L. —/o+%
po 1§
M. -6

P. None & Hhese

CHU)JZQ’B) 5'“4&-51 =

A
&. Jitda— Y,
2
R At4da-4dy,
A
s 5

T Mone o@ +these



IMNM=-5]

(Hw-ﬂ)‘r){&x;”")iﬁ (%r‘d;)" B

P

U- {Cr N (gmy
oy

w .{(ﬁca—k,ﬂ (%rg.\’“ﬁ
i _

X . )J(?‘—a‘k/51+(ya"6(, )z

Z . None ot these

(Hw -’Z"ﬂ'T) The slope o5 +ie Line

ot (32) o Gh )

a., .22 = |60
32 32 96
-8 .32 - =69
B 2 Z2p T%
8 .32 = &f
¢ =3 Ts
B ., R = - 160
3 "33 g
E. None 2% these



G. T«

3
H. =2
I 20

" o3a
F . Nov\,e. a‘Q "lf"\.i‘-;«@.,.

C+)w_7‘2t, M\ The W\l&pm’nt be"fu}aen
3) ~6) anl (-1,77) 15

L. (%)
o (-i:?i’
P. (-3,6)

&. Nane O’G ’H’\é.s,g_,

S 133y (Hw 4, B) The slope O'Q‘H'Le, [ine [)Q-tWQQn
(5,-2) and ( LY s

R. = -(-3)
| -5
o, £+(
| + 5§
Tz —w&)
A ) )

W None of these .



SM-53

CHw’7§)T) Far 'l'b\e- Q\%ure

| A the right to be a Square ; the
Slopes ot the line Se.éme_njj
Ly and Ly must be

A. The same

B. T‘ﬁ&tpr‘oCa.,QS 0{ each othe ~

C. V\azﬁdt Y3 .‘("e,alp/wé‘j_s ot each a'{‘lt_e_r
D. None of +hese .

(Hw-15,B) The length of

the [ e Se,?me,nf beTieen
(-l,0) ank (04/) /5

(o.1)

¢-10) |

F. 2
G. Ya
H. 1

o . None &% Hhese

(Hw-7é,T) 2K+ 53 = /0 solvel

Sor 5
g’ ]

K. y= Fx-2

Ly a‘ ‘-Qg.—?ﬁ+&
— -

P_ Nene 0'(: -H/\e-se,



SMN=-5Y

(S 137) (hw=76:8) A gtondard Sorm Sor

y-3 :%(x-—c—l\) /S
CQ. -Sx-tQu%:té
R. Sx +9\6=Lé
S. —Sx—;%=l6
T. None of Yese
(ch -74)“1‘) L,J/m'f s The slhpe ok
'f'he,//*"z& perpo_anzc..JM '?LO 2)(-&5%:/0 2
v. ~

RN

w .
X
Z. MNMeoene 0{: +hese.

ERD (Hw 77,0 whal is Fhe shpe of the
Line P@"Piﬂ&‘tcb«,@a/\ o the [ne ‘H’\v—ougﬁ\
Hhe pols (-2)5) and (3,7) 2

P 7-5

EEETZEN
5. 5
D. —D:?)S‘%'Z>

E . None a{: ‘f‘he_se.,



SM-55

(HUJ"77)UJI’M&L\ s an e-ﬁ,u.a:ﬂ‘lom S;D("

+he e thal s the perpendicudan bisector
e% Hhae s se.imu«i between C—Q,S)aw& CB,'?),?
F. SX-&Q&: A9
G. 5% ’taa ~ %
H Ax+ 567' ijf\
S Ax+ S5y = A9
K. None “of these .

CHw—?g,‘\’) what 1 the ;Dolmf -%7: Og

the wau Trom (23) To (47) 7 It s nearest
The pomt (2:3).

L. (£,4)
m. (3,5)
p. (%\%)
Q. None oF +hese

CHl«)—-78 )Lc)kaj' s an e%.ua:ﬁ?%m '?ow the ’u{e
‘H«r'pugl'\ (j—lﬁ/) o 7th s/cape 57
R. 3 -2 =5 (1"9‘)



SM-56

- (HW -80 T)Q)hoﬁ 15 the sﬁ:am&ow& '?ov—M
Sor o evrcle with Q,e.n’ke.r-( 5,6) and raflius 47

AL (x-5) *(y- -6)"=

B. (%- £'573 + (Y- é) 4
C. (x- [57)"061 é) “+
D. None o these

-CHW 30, W\) A corcecR Y\e-x'J( S&ep fo %e'k

15 %%+ bx +L5g - ZOLéf = =3
Wt {kan&ou—g Sorm 15
FoxStex 4154"— 10y = =2 .45

2
G. x+-,%-?¢+“31‘73§{
H O+ & K*‘é "534 B
5. None o these .

@(Hw <O B) A correj hex’t ‘me 'H\Cﬁ gvuow_s

S rom 'X.+-———-)¢+.—L—'+Lé_—_-—k&+( ZZ{E"E*’%’ LS
L (x+ \ (y- *\‘l/

3
M. (x+ 3’\+ (4-%)"+ %[—
P Noene ot These

—



SM -57

(}1(’\)'80)62 The %\r—aPL\ OQ
(x.,._é_ﬂ + (%_ 15\ =AL7’ 15 a Circle wtﬂ\

Q. CQV\*Q\/‘ ('%'J"[E)) QV\Q \'a&tu_s ,L?—

center (ng ‘Jj) anfl Y‘a&l‘u‘g 15

R.
E. center (--/g) Jg} anl raklius J‘i/
. Nony ok these.

BHD) (Hw-31,T). 12%+39*=0 put into
s’l'cu\&cxmg %O"M SS\'D"' a Par‘aboﬁc\ )5
U. %1;- -Hx

l ~
W. x= '7-7(“}"0);0
X, == ‘—L’;—(%-—O) +D

2 None of these

(Hw—zl)m)w\\{g\« \s O \sa\'r o‘&

samét/\lc pariners Yor the parabolq
(2% + 3 ug\ =0 7

ﬁ. <'{19\\ Qv\g(lll)
B. (“113\ CLV\,Q("I)"DJ
C. -02) and(1,-3)

D. Neny & Hhece .



SM-53

@w-%\B) ——ng&lJr&La,-é:
F. -'g(t{“——lDL& \ -6 |

[

G. —'s’(%l'*ay )6

(Hw-st@ "sL(“C— oy \ —6 =
K

| —_‘Zsf(g&"l—/vza 425 )—6-as
L k(417 +25) 67>
mo -k (Lag*_ /D:ai-aS\) -6 *t5
P‘ N one o{ 'H'\eﬁe-

@ (HWw -3 TBT\\Q. quabo le

v = -}S (L,é..syal I has vertex

Q. (5)"’)
R (-/)"5)
S. (’»'5)
T. (‘[;5)
W . (—-l,—-S)
x . (=5,-1)

z . /\/BVL% O’F ‘ILI'LE.S-&



SM-59

(S5 (RW-%2T) The axis of
o skdmmei'r7

Sor x=-% (‘8 'S);; e

A. y=5
B. y4=-5
c =
D. x=-
E f\}one 0{ ‘H/\ese

H. (—é) o) a
3. Mone o‘( +hese. D)

t[.H(,Q ——-€3T>U)|r\ai‘ 15 'H\e. Ca Q
on a=1(3,9),(2,8)5 7 range o the

K. %%

L. 3

M. .37
P. 2,3
Q. (28)

R. None &5 These



SM=-60

159 (Hw-23,m) Se)= 32 2x +4
‘ S(a+b) =
S. (3% o 4) @&b}
T. 2a™* 3b*-2a+ab+Y
U. Ba*tbab+ 3b"™—2Aa+ab+y

w. 3a*téab +3b"—2a-3b+Y
.. None of +hese

(Hw -33,B) S(x)= 332 Ax +4

LN

A (- 2etq)Geen) -G*=axy)

g
B 2(xrh)=2a(xth) +4 - [3x% ax+ 4]
.
C. 3x%3h = avth +4 - [3x5- leﬂ
- — e
D. 3(x™h?) -Ax-2h+¢ - [3x*-axq|

h
E None of These.



SM-6 |
2
(Hw-23,8) 3(x+h\-2(x+l«b+‘/_._£3x°:2x+ﬂ _
h =<

F. 3x*#3h"=2%-2h +¢ —=3x%+2x-¢

N
G - 3)42-/-6 761‘1 {-3 ‘n—l—- AX~ A bjj:m:imx?ig\&- ‘f
"
H. 3 #6xch+3h* x4k +4 =3X-AxtY
A

9. '\)OV\Q o‘% 't'ke_se_

(Hw-ﬁ,z) 6’16/\;3%’;1;, _

K  6bx+3h —ah
A

L, (W) (6xh+3h*-2h)
M.  Gx+ 3 -2
P - /l/am, O'F +A.2—f£, '




SMN— GX

—— _ _ o
<Hw <HJ 1) %Qﬁ\\-m

%CMQ - ﬁ‘(@ -

o)
Q. L (ehy L
VZx43 e

o)
| _ |
 Jex) ey TRxe3
A
c [ _ l
Y 2%x+h)+3 NV Axtd
- -
T. Nene o{ these
ST | _ L -
CHM 8?’“\) Yo (xth)+3 12+

U. Y 2ax¢3 =Y 2taned
| v Axt+ah #3 Y ax-3
] - |

T alzemts VRAxes
X {Zx+3 =Y Ax+ah +3

Yixedh+3  +Tax+3
Z. Nbhbne of these

R




SMN-673
(Hw-%‘ﬁm)@é\xﬁ —’/D\xmh;j Y223 .rW:

A. T2xt3 —AV2¢3 Y g 3 I +3 T YRt h 3

s NPy A
B. 6}’7?&3_}“ AY2x43 YAxtdhtd +6/;zx+;zhf3 >

C. @x+3) = (2x+2h+3)
D. None of 4these

<Hw—8s)T) Mame & ordered pairs That

Sa.'tzs'e-g x = | tatl . ﬁ_&iajfg;aji%? th
F. (9«,‘/) o sl (_2,"‘0
G. (X anl (3,-2)
H (-2, and (A, 2)
. Nane, 0’{ 'H\e-se.

(H“J‘%S)T) For 'H\L (%Lkr?/f ’l‘&rms

" a‘?‘?clté‘ﬁ'ﬁ@ wtth x does ﬂi:/%[
AeKine a Sunction ?

K. Yes
Ly Nbo




SM-¢¢

(HQ—SS'B) WhHAY 1e o Correcd ned

\ine thet Sollows Srom x?'_éx_‘_%&*ua - 457
N. (7‘?—"4%+‘l‘3+ (Lé"‘u;a +34) = =45

P, (xEéx+9q) + (y*+/35%38) =-1-36-¢5
Q. (xTbx+a)+ (y™p/ay+3s) = TH367495
R. None =% Yhese .

S = 55,6) it gt sty
| @"3)?}(%%@;:0 7

S, Ouly the pouat (3,-¢).

T. Only The powt (=3,+¢),

U. No Powd’g'

X. None oF these

G e w=3¢) Ts the o raph ,\

the T'(%\/d', the raph ofr o~
Q %L&V\&LQV\\ 2 C& /\ .

Y. VYes !
N. No




SM-65

(-1 p
Ts 'H'\e_) %)W“Pb\

N

Ten e N\ |
Y. Yes / % \
N. Mo

(HUJ‘W.”\) Sx) = —&

el -a
whd XS ‘Hr\e. &UMCL\\V\ O'g\ %7

S. el and x2x-2%

T, Tz x#40¢
U. $x| «+3¢%
Xo NOV\Q— O‘Q +k¢gf,

C Hw-97B) what values wmake

x*ix~| =0 7
A =
B. —1x75
A
¢ —lx7-3
A

D None of these.



SM~66

(AW-84T) Find Yae Bomain Sor

_ X
%Q(\‘_m
F. §7¢lx>"’/ez

. ix | x<%]
H., S% \7656/@%
T. No.\e o{ "H/L&SC,.

@U—\w— 33,B) What 15 the =
&pw\(u'v\ S\'O N ~H’\Q, S:TLU’\L:Q‘OV\ Q-t 4Hte-
n@kt’. } 1

k. Cuad -1
L. =4y d
M- I, D

P, Ti,2)
Q. Neone oY These

('Hb.)—iﬁ)‘B) Whot 15 +

the v Sor the $unc&L9W _ \
O&? -t\ftﬁfixgm 7 -_li {

R LTl
S . [’lz'j L%
T. E“h')

O. L12)

). None a“; 'H\é-se,




sSm-e"7

-(Hw-?Q) W‘\Gj \s 'H'\e JQJ’\&CU‘Q '@orm

Seor the Paraloola %_ -2 x 3% - v

A. Q4= -2(%‘* 9\ 6%_5

8. 4= -a(2-3) % ()

C. y= '& 16"-’\ (-%7‘

D. Nawe, o"(‘ "Hr\@.éa

(Hh)‘%ﬁBWhoCQ‘ LS 'H\a Veri’mﬂ y(m—

‘the Para‘oo(a %_: _9\74-«11 3&‘7 ?
.?. —‘t’l>

© (“'t) 3)
<%)_i;’)

T Nowe of these
Sor
SWATRY (HCO 3ﬁ)wkd’ jo the range
Q®" ~2x*¢3x -7 7 7 Huwt, <tandanrd

Sorm and qraph -

K (-—oo,w)

— o0 Lt'zj
M. (—‘*’)‘*2]
P ("’"‘91 6}3

Q. None & tnest



SM-63

’ (Hw-0;T) Wohek 15 the vange
Sor S) = ? {

'!'3 =
R. (013

S, (0,3]
T. [o,l/;_[
V. [o,c0)
X. Neone ot these

(Hw'cw/g) fond %<%)wl\en § s

delined by S=0 & 0= x<«|

= | l‘? | 2 x <
= X % Q2x <3
= 3 ”Q}ixdf

5(3)=

R %
R O
C. |
D. A
E. 3
(. Nore O"{ these



SM- 69

(Hw—‘il)m) The cgv-ap\'\ & %2‘/%-9\

1o the 37\4,01\ o f ﬂa-c‘)’jc—' transladed

Y. ‘V‘\g\!\y 2N
. lekt 2

K. wp &

L. Down 2
M. ,\)0“9_ Q'Q _E““AQ.SQ-.

(HM-%,B).The %V“QPL\ og' %: é‘)y_- ~]
ts The 2"6—#\ st o §L f?é—a fAmsZafaﬁ

P\ \_L@ll\:t 1

Q. Neft 1

R. up I

S. down 1

T Mone of these
(HWw-9235T) whak s the remamfer

Sor the Awision ax-4 | Cx-17

U 3
(W. =5
X. a9

=2 . None O{' tiese .



ILM-"0D

=
(HW-CZQ\)M’)T’M, %v-ap\n o‘Q \%: _Z (s

Hne %raP\/\ OR ‘65 ;Z \[’e,%\f_cf&g CLBOJ

A. the x-auis

B the y-ams

C. the Tine %=;(_
5. Nowe o Icee

(Hw -2, B)Thegrap'r\‘o‘q %:_-—.; (?_C__!—_E_\ s
-H'Iﬁ %F‘A,Pl'\ 0{ gz';g«(_:;z-s +V‘ay\5[d@9 ‘
F. \’\(g\r\'t QA
6. Lelt a
H . L p o

S &own o 1Y
K. Mone o‘(: ‘Hu,sg

(HL\)'QQ\)B>T1\Q%‘F&?|00§ g_—: ‘%(—%;—5\ +3
15 The gPaPk ot J- _?2’('215—3\ Trawsloted

L. T”Lg‘/\j‘ 3
M. Nekt 3

@‘ &«-@UJ'A 3
({4 NOWQ, @‘6 H\tﬁt



SMm-"1

G189 (Hw=-92,8) Whid 15 The horiyonfal
asym st Sor é:._j,(! >+3 2
o1 ?Q—';_
S. Lé'—';l
T. y=3

X, x=3
.Zs NQV\Q, O'Q Je\’\é’.ﬁe, .

(HW—‘U,T) The %v*apk o @@._.3):/_27&'-7

15 §‘aMMCt/u\c, about
R _t\'\e— X Aaxts ,
B. the 4 -axlis.

C the srugm
D‘ /\favw ;%‘?M‘("/\.a.éa

(HM—QB,B}T{,\Q %r—a’oh 0‘? —39:_—;)Zgé_ét

/5 sémmd/\iz_' alboout
F the x-axis
G. the 8-a7d5

'H- '{'LL& 9&*’2%“‘/\
o Now O'Q 't'\/\e.se.



SM=-TX

s (#-9%T) To check for symmetry

abouﬁ ‘ﬁ\e- - AaXLs L — D‘:: qucjé_ H %oq
check +o See thal Jou %ﬁ an e uw;ﬁud
e%uaitow when youw substitutel in the
orLal}\aQ 6%@(6@59“

K. —% tor x and -4 for Y

L" — K ‘Parx

m. -9 fory

P Ngng O‘F ‘é{\.é—sﬂ

CH!«U —CZ§> The Sﬁan&qr‘& Q@rm '?or The a“?Fse

ef‘,uajza'n %762-1' 3{63_ 5/1_5,93{-57 =0 s
@ . @atl)& _ (_g_f_)l -

a3 x|
R (x-u)l + (g+f} _____/
a3 )7 a*r
o, (l) - G4-5" -
) 6/?)?_ QQ« 2_
=l 4 (4-5) =
3)° a*



SmM-="T3

B 15D (Hw=95,T) A corred lme Fhact T lows
Seom d(xP-ax )+ 3(y%104 )=—6T is
A 4(x*-2x+)+3(y*= 10y +25) = = &7

d(x=2xe)+3 (Y- 10gr2s) = 1#A5 =47

g (x> 2nxe) +3( g3 /&3+25): s L7

L}(ZCZ‘RK{‘O +3Z32_/‘93+Q5): -/ -25-¢7

- q[xZ»%+0+3(g2—/0a*%):—Lf—_]s'—é?
H  Mone of these

(Hw-—QSIQG) Name a vertex ‘por the
ellipse @6—/)1{,[2—5)2: /

SR

a3 Tar

I, (1,5)

K. (~hL-5)

L. (o,7F)

w. (o0%)

P ("ﬁ)5)

&. (1-13,5)

R. (T3,2)

S. (”tﬁ/o)

7. Mone ot these



S M-y

(Hw =96, M) A correct line +hat Sollows
Scomy 16 (XP+d% >'Ci(kf+été Y =16] s
At (P4 +4)=9( Y64 +9) = o]

6 (L (xt e )~ 1y 19) - 49 410
C. Lo (#tetd) = A (Y464 +9) = 64 -5l 4 14

D le (x*44x +4) ~9(g +eyt9) = 6UHFL414
E. None of these

@ (HW-9¢,B) l(oﬁ"—q%lﬁué'—f}c-sﬂ-/él =0
puX v dandear Sorm Sor a \m%ferbolq (s

R (0= L (y-3)

3'2- g-;_ = l

) O“Y—’ﬂ) _ ('-4"[‘3]\ ]
3* 4>

k. Y -3) (% -3) y
7z 3=

Lo (y-ra) o (e-ER)
@2 3"

mo (g2 - (2 o
32. 91



SM-15

(HUJ"Q’7) Name o vertex ;or- Hae
hdperbo(a (rx,+g\)g\_ (15“-332: ]

T [6
Q. ("Qv'3)
R (=.14)
S. (l)'3)
T (-1-3)

w . None og ‘Hl\Léﬁ»

Cﬁw-q‘f\ Let Cé(?ﬂ:(:f;jg anl&l

e = le:'. . cOam (3 L‘n\ =

A, S| x#4 and x 07
B. S| z#4$

C. x| x+0%

D. None oF these

(Hw—cm\ Let qoa = (L{?fx)% and

l

hed = Z5 . T dom(gn) = dom (3 7

Y; Yes
N. No




SM =1L

(Hw—wo’_r) S =Y43x Qom ($)=

F. [, =)

G. (- wl%’]
H. ("‘ °<9) %]
5. [3%/90)

K‘ NOV\?. O'Q 'H/\e_ge_.

(Hw 'IOO)M\ he=V2-x . dlom (/1).-_-

\-—‘~ (—9009\‘1
m. La, )
p. §a%

®\o None OS; 'H/\&ge_ﬁ
(Hw-m@) Q—OMPOS(‘l_LOV\ Og QYLW\(&UDV\ % Q:AQ h ,

Tke, Jema:h O'E gy QOMPDS('T(OV\ \f\ LS
R. §7C/ 9’3 doml§) and x€ &DMU\\'Z
s S| Sz domlh) and x € dom(F) §

7.5 1| Feedom(h anf o £ dom(5)5
W.{ x| =zt Ao (h) ams /\Q(\Zcovm(-ﬂ}

X. None ot these



SM=-17

(HW"IOO) Sx) = [ L -3% 3 NN RS
dom (£h) =

A, [&,al
B. %, al
C (==0,2]

D. None of these.

G200) (HW-01,0) 4y = p(a+7 )t e pu
Fo+

Lt
H. 2
T -3
K. None Og 'H\Q—Se'

5
B20D (Hw-1o1) i =ar1x +5(247x) + 4y
Find §g such thal W) (%03}@()

L. S0= 2+7% ang Q0= T + 55% 4,
M. S):Lx)={'x—+ 5;<,%+%x-_5% av\QaLx)=2+7x
P Foy = +5X%+%X ol 964z Q+7y

Q- ﬂx\: At 7 x anl S(X)=y 1:+57tl/3+_;/_7¢ _},7

R\ -?QQ: 2+ 7x and a(x)=7’_7z ‘1‘57([/3-}_% X
S. None of +heee



SM-13

('HL'J-/D;JT> Ss o |t \ S‘%wcjmv\. :

§-'5)=3 s  SG)=

T. 5
u. (53)
X, (35

- . Nene o'r{ "'H'\e.se..,

(‘Hw"/UQ,) M) The CV—QPL\ oN %(x).: -;17&‘1;@-&5

/1S & paméolex apanmj &QWV\ So

Ae S 5 et \ o\ g imen a hori2on?ol [
M"ferse,c,t* Fhe 8rn/>/\ twice. Jo ne

B S;‘ 3 Y\e,;-t 141 %uvx.c.ﬁ'(ﬁ@ Sinee. a harzaamf@,,ﬂ
»QW\«L wj&rwge.a:@ 'f't\c. ?A,&M +¢u/¢fz .

C.. % s one 'f‘o SN Sinea AWV Y \/av-’fwa.ﬂ /mi
ntirseds the ﬁm./oh ai'mos‘lp onca ,
D. NMone of Hese,

@ (Hw—-loa.B)whlJ\ 15 the %r—apk o‘%
S = 2")&-3\-{- [ 5 Sor xS53 :?

'\(/3\1) G Nh |
' (31)

| ]

H. Nowe OSR Thece

F.




SM-19

(HW - 193,m) Lyhich s a correcd next

\ine. oSter Y= —2(x22x Jes 7
I y= —a(x*>x +1) +5

. L&’— 2 (x*=2x -1\ ts

L = —a(x*~2x+41)+5 -

" la' -A(KZ-AK.-H)*'S + &

,\2‘ a; _a( X -Ax41)FS =&

Q. ?\)one ok these

[ L“‘l‘\ rrelt I\Q.Kl

- Y+ 5
= —a (K +Hx
. %: —a(x*—ax  )tS

S,
8»—a(xi+ax ) +5
T. Y= (
- —al(x
SANE i :
= - X+ dx >+/
x . gzl
Z.

Mone 5t these



SM -~ 30

-(Hw 103) %QQ«—;UL t4% +5 )c>/
LV\Q o T(Or'rvxu—&l 'ﬂ:ﬂf‘ 'R' Cxﬁ é—-%mvarse o6x
AL Sx)= Idi\w
B. %—(Lx)= |+1'XTJ
!
C. -lo1x7-+4><+5*
D Fe= 1 -YZ2
ESe= | 5T
F  None of +these

-(Hw 105) Lohch OQ the Qollo(,u‘uj Ls
'H\e, grapﬁ. 0{ % (-'L>

,_ \
M . Nene o‘Q ‘H\g':,e_\ \I



SM-3I
- (5207 (Hw- /05’/"\3 LWh (ch @\C the S; ow
s The Qpprox: mete valia of GL\ 1 'ﬁ\f,ﬂ
\\éarasj 't"-l/\j'(‘\ 2

P. .37
. 2.7
R. 2.3

<. Mome a'F these

(G210 (Hw 105,B) A%
-T é‘é}t\ N
O. (& 3
=
); fine, a'f‘tLAeﬁﬁ,
GaID (Hw /06,T)  Bx-4 =

A. 3(x-%)
s 3(xet)

C. 3(x%)

D.3(x~%)
E. Mone of These



these

(o106, myThe gregh of 46

15 the ?deé o1 4= ng/zms/a‘fug
M. lett 5

P. l'ljki %

Q w %

R doon

S. None. O'F 'll'/xe—se.

-L
(Hw-/Oé,M,B)TAagrajfh o‘CS U:%L f— 1

15 e ?rap/\ O‘F 2 = 8’2&-'3 TLl‘dM/ojLLLQ

T LAt 1

U- /11941‘1.

W - ap A

own L
2_;_.‘ &/fjouu; a'F ﬂLSL .

W)k



SM-93
(HLO - -/0¢ 5) The /)m"z;anjaj asam/aj}'fe.

52"5‘ 7% %-l-i 48
g'/
2=
x= %4

Mone 0{: ‘{‘AL;&

b Mone 0“; Hiese .

-(Hw‘lo7 T /Oﬂg /000 -

M. —I
p. 3
®. I3

R. MNone ot these



SM -3¢

(He =107, m 2_
y, ) J&ixe— =3 =

€

3

[ O

R

. None of these

Gz (Hw-t07, M) jagxﬁf% =73 =

A. /25
B. /0
)

D. 3
E /\/OVM— U_F "ZLlftase,

-[Hw 01, 3) Expam&mxlcdl S?orw\ 3 :_L
The /9.g ‘CorM LS e

Jaa -4z o

/

6
- /QOS L& = 7‘

NX?.?\.\“

K. 4003 4 =~ &
L. /Uane- O'F hese



SMm-35S
(Hw -0, B) Eponertiad form T
The \/Qoa Sorm s
Ny &oge_%\:‘/’z
P foqg e =v&
Jx

Q. /Qage, o B g
R. None of these,

p—
-—

G 7,3 10g b s Lo =&
T}\é, erXPDV\Q_dA(A)Q ormL (5§
!

-— l
5. /07" = T
G2 e

W -0 = =
X. Move of These

(HW—/pS//M)T/\@. gra/:lm a‘? é:,&a X (s

C. I%/ D. ¥/k(
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